Notice for appointment of Regular / Rural Retail Outlet Dealerships

Indian Oil Corporation Limited (MD) proposes to appoint Retail Outlet dealers in the state of West Bengal, as per following details:

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		n Dimens a of the s q. M.). *		by the a	be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC SC CC 1 SC CC 2 SC PH ST ST CC 1 ST CC 2 ST PH OBC OBC CC 2 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Draw of Lots / Bidding	Rs in Lakhs	Rs in Lakhs
1	In Between Amarkanan and Rangamati on NH-60 (on either side)	BANKURA	Regular	150	ST	CFS	45	45	2025	0	0	Draw of Lots	0	3
2	From Kusthalia to Shyampur on Saltora-Kusthalia Road (either side of SH8)	BANKURA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
3	Dwarika to Dasdighi on SH2 (Either Side)	BANKURA	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
4	Kakardanga to Rasulpur on SH-8 (either side)	BANKURA	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
5	From Sukhi More to Moregram on NH-34 on Left Hand Side while going from Sukhi to Moregram)	MURSHIDABAD	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
6	Jangipur (on SH-11A)	MURSHIDABAD	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

	Lokenathpur on NH-34 LHS													
	between KM Stone 165 - to												0	3
-	170 (while going from			450	00	050	05	45	4575	0		Draw of	-	
7	Rezinagar to Kolkata)	MURSHIDABAD	Regular	150	SC	CFS	35	45	1575	0	0	Lots		
8	Between Darjeeling More to Domra River Bridge on Right Hand Side of SH14 while going from Darjeeling More to Domra Bridge	PASCHIM BARDHAMAN	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	KM Milestone 580 to KM Milestone 595 on NH2 on LHS while going from Palsit Toll	PURBA										Draw of	0	3
9	Gate to Burdwan	BARDHAMAN	Regular	170	SC	CFS	35	45	1575	0	0	Lots		
10	Within 2 Kms of either side of Karjana Railway Station on SH-7	PURBA BARDHAMAN	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Gengara More to Mangalpur											Durat	0	
11	on Left Hand Side while going towards Hura	PURULIA	Dogular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
	From Gajar More to	PURULIA	Regular	150	30	65	40	40	2025	0	0	LOIS		
12	Champadanga on Left Hand Side on SH-15	HOOGHLY	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	From Kamarpukur to													
10	Ramjibanpur ,Village: Madhubati on Right Hand Side			110	00	050	05	05	4005	0		Draw of	0	3
13	on SH-7	HOOGHLY	Regular	110	SC	CFS	35	35	1225	0	0	Lots		
14	From Boropara to Mogra G.T.Road Crossing on SH- 6(STKK)	HOOGHLY	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
15	Between Baruipara Station and Seakhala More	HOWRAH	Regular	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
16	From Domjur to Dafarpur on Domjur-Jagdishpur Road	HOWRAH	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
10	From Jamboni BDO Office to		rtogului	100	00		00	00	000	0	0	Draw of		
17	Fekoghat on SH 9	JHARGRAM	Regular	110	ST	CFS	35	35	1225	0	0	Lots	0	3
	From LIC Crossing to	PASCHIM										Draw of	0	2
18	Keranichoti	MEDINIPUR	Regular	120	SC	CFS	30	30	900	0	0	Lots	0	3
	From Mechogram to Atberia	PURBA								-		Draw of	0	3
19	on SH4	MEDINIPUR	Regular	110	SC	CFS	35	35	1225	0	0	Lots	-	
20	Between Sonarpur and Basanti Highway on Sonarpur- Bantala Road	SOUTH 24 PARGANAS	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Between Sonpukur to Maliapota on SH-11 (On either side from Krishnanagar to											Draw of	0	3
21	Karimpur)	NADIA	Regular	108	SC	CFS	35	35	1225	0	0	Lots		
22	Dwariknagar Hospital more to Chandra Nagar Bus Stop on NH 117.	SOUTH 24 PARGANAS	Regular	156	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Kakdwip Bazar to Namkhana on NH117 (Between KM	SOUTH 24										Draw of	0	3
23	Stone 105 & 111)	PARGANAS	Regular	160	ST	CFS	35	45	1575	0	0	Lots		
24	Kabardanga to Thakurpukur Cancer Hospital on M. G.	SOUTH 24 PARGANAS	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

	Road													
25	Within 3 KM from 6 Mile on Ghoom - Teesta Bazar Road	DARJEELING	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
26	Dasdarga to Sariam on Left Hand Side while moving from Dasdarga towards Sariam on NH-31D (new NH-27)	JALPAIGURI	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
27	Within 6 KM from Mainaguri bypass Indira More towards Bhotepatty on Asian Highway 48(new NH-717)	JALPAIGURI	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
28	Between 16th mile to 18th mile on Left Hand Side from KALIMPONG to Algarah on SH12	KALIMPONG	Regular	120	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
29	Samsi to Chanchol on Left Hand Side of NH 81	MALDA	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
30	Between Rathbari flyover to Amriti on SH 10	MALDA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
31	On Right Hand Side from Ramsagar to Bishnupur on NH-60 while going towards Bishnupur	BANKURA	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
	Hatirampur to Khatra on SH2											Draw of	45	
32	(Either Side) Hirbandh on Hatirampur to	BANKURA	Regular	100	OBC	DC	35	35	1225	25	60	Lots Draw of	15 0	4
33	Hirbandh on SH4 (Either Side) MTPS, Durlavpur to	BANKURA	Regular	100	SC	CFS	35	35	1225	0	0	Lots	0	
34	Gangajalghati on NH-60 (on either side)	BANKURA	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
35	In between Onda and Ramsagar on NH60 (Either Side)	BANKURA	Regular	150	Open PH	DC	45	45	2025	25	75	Draw of Lots	15	5
36	On Left Hand Side between Poabagan to Hatgram on NH 60A while going towards Hatgram	BANKURA	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
07	On Left Hand Side from Heavy More BANKURA to Gobindadham on NH-60 while		Decider	450	0		45	45	2025	25	75	Draw of	45	E.
37	going towards Gobindadham Morar to Bankadaha on NH-60	BANKURA	Regular	150	Open	DC	45	45	2025	25	75	Lots Draw of	15 0	5 3
38	(either side) Dhaldanga More to Ratanpur	BANKURA	Regular	150 100	SC OBC	CFS DC	45 35	45 35	2025	0	0	Lots Draw of	15	
<u>39</u> 40	on SH-9 (Either Side) Bikna More to Dhaldanga on	BANKURA BANKURA	Regular	180	OBC	DC	45	45	1225 2025	25 25	60 75	Lots Draw of Lots	15 15	4
	NH-60 (Either Side) Mejia PS to Jamkuri on NH-60 (either side)		Regular	150	OBC	DC	45	45		25	75	Draw of	15	4
41	(either side) Belboni to Dhaboni (on either side of SH-9)	BANKURA BANKURA	Regular Regular	150	OBC	DC	45 35	35	2025 1225	25	60	Lots Draw of Lots	15	4 5
42	Bishnupur Town (Within Municipality Limits)	BANKURA	Regular	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4

44	Kharbana to Chatna on SH-8 (Either Side)	BANKURA	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
	Chander to Rampur on SH-8 on Right Hand Side while going from Chander to											Draw of		
45	Rampur	BANKURA	Regular	150	Open	DC	35	35	1225	25	60	Lots	15	5
46	Junbedia on BANKURA bypass (Either Side)	BANKURA	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Between Durlavpur More to Nandanpur on Mejia - Durlavpur road (NH60) (Either											Draw of		
47	Side)	BANKURA	Regular	154	Open	DC	45	45	2025	25	75	Lots	15	5
48	In between Barjora to Durgapur barrage on SH-9 (Either Side)	BANKURA	Regular	120	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
												Draw of		
49	Kotulpur on SH2 (Either Side) Simlapal on SH 9 (Either	BANKURA	Regular	100	ST	CFS	35	35	1225	0	0	Lots Draw of	0	3
50	Side)	BANKURA	Regular	104	OBC PH	DC	35	35	1225	25	60	Lots	15	4
51	Saluni to Jhantipahari on SH-8 (Either Side)	BANKURA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
52	Hatirampur to Manbazar on SH-5 (Either Side)	BANKURA	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
	Between Gobinda Nagar Bus Stand and Katjuridanga more				OPEN							Draw of		
53	(Either Side)	BANKURA	Regular	100	CC 2	DC	30	30	900	25	45	Lots	15	5
54	Bishpuria Durga Mandir to Hatgram on either side of NH- 60A	BANKURA	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
55	On Right Hand Side towards Jharkhand Border Between R K Sikshapith, Tumbuni to Jharkhand Border on NH 114 A	BIRBHUM	Regular	300	Open	СС	45	45	2025	25	10	Bidding	30	5
	Between Natunhat to Serendi	BIRBHOM	TCgulai	500	Open	00			2025	20	10	Didding	50	
56	on Left Hand Side on SH7	BIRBHUM	Regular	300	Open	CC	35	35	1225	25	10	Bidding	30	5
57	Gamira to Deucha on NH60 (Either Side)	BIRBHUM	Regular	500	Open	CC	45	45	2025	25	10	Bidding	30	5
	On Left Hand Side from intersection of NH-60 & SH-11 at Md Bazar To Abdarpur on NH-60 (2 Kms away from Rail											Draw of		
58	Gate)	BIRBHUM	Regular	150	Open	DC	45	45	2025	25	75	Lots	15	5
59	From Deucha to Sonthsal on NH60 (Either Side)	BIRBHUM	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
60	On Left Hand Side from Mollarpur to Munsuba More on NH60	BIRBHUM	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
61	On Right Hand Side between Dubrajpur to Suri on NH 60 while going towards Suri	BIRBHUM	Regular	150	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4
62	From intersection of NH 60 and SH 11 at Md bazar to Taltola more (Either Side)	BIRBHUM	Regular	150	Open	DC	35	35	1225	25	60	Draw of Lots	15	5

Congorompur on CLI 11 on													
Gangarampur on SH 11 on									~ -		Draw of	. –	_
either side	BIRBHUM	Regular	150	Open	DC	35	35	1225	25	60	Lots	15	5
												0	0
											Drow of	0	3
		Degular	150	<u> </u>	050	25	25	1005	0	0			
	BIRBHUM	Regular	150	50	613	30	35	1225	0	0	LOIS		
											Draw of		
	BIRBHUM	Regular	150	Open	DC.	45	45	2025	25	75		15	5
/	DIREFICIN	rtegulai	100	Open	00	70		2025	20	10	LOIS	10	
											Draw of		
	BIRBHUM	Regular	150	Open	DC	35	35	1225	25	60	1 1	15	5
		- togunun											
on SH-13	BIRBHUM	Regular	100	OBC	DC	35	35	1225	25	60	Lots	15	4
Between Rajnagar &		<u> </u>			-				_		Draw of	-	
Chandrapur on SH-6	BIRBHUM	Regular	100	OBC	DC	35	35	1225	25	60	Lots	15	4
Between Kantagoriya More &											Draw of		
Nakpur on NH-60	BIRBHUM	Regular	150	OBC	DC	35	35	1225	25	75	Lots	15	4
Dubrajpur Town (within											Draw of		
Dubrajpur Municipal Limits)	BIRBHUM	Regular	100	Open	DC	25	25	625	25	45	Lots	15	5
Between Rampurhat &											Draw of		
Hazarpur on NH-60	BIRBHUM	Regular	150	Open	DC	45	45	2025	25	75	Lots	15	5
Between Purandarpur to											Draw of		
Ahmedpur on SH-6	BIRBHUM	Regular	100	OBC	DC	35	35	1225	25	60	Lots	15	4
Suri Town (within Suri											Draw of		
Municipality Limits)	BIRBHUM	Regular	100	Open	DC	20	20	400	25	45	Lots	15	5
•													
Bus Stand to Ryan													
			400			4 -	05	4 = 7 =	05	45	1 1	4 -	_
	RIKRHOM	Regular	180	Open	DC	45	35	15/5	25	45	LOTS	15	5
	BIRRHIIM	Regular	130	Onen		25	25	625	25	45	1	15	5
		rtegulai	100		00	20	20	020	20			10	5
•	BIRBHUM	Regular	150			35	45	1575	25	75	1 1	15	4
		. togulai	100		50	00	τU		20	10		10	т
•	MURSHIDABAD	Regular	100	OBC	DC	30	30	900	25	45	1 1	15	4
		guidi				~~							· ·
Dhuliyan Town	MURSHIDABAD	Regular	100	Open	DC	25	25	625	25	45	1 1	15	5
, ,											Draw of		-
	MURSHIDABAD	Regular	120	Open	DC	35	35	1225	25	60	Lots	15	5
Sahapur Lalgola on SH-11 A													
	MURSHIDABAD	Regular	150	Open	CC	35	35	1225	25	10	Bidding	30	5
	Between Rajnagar & Chandrapur on SH-6 Between Kantagoriya More & Nakpur on NH-60 Dubrajpur Town (within Dubrajpur Municipal Limits) Between Rampurhat & Hazarpur on NH-60 Between Purandarpur to Ahmedpur on SH-6 Buri Town (within Suri Aunicipality Limits) On Left hand Side from Raipur Bus Stand to Ryan International school on On Bolpur - Illambazar bypass Road while going from Raipur O Ryan International school On Right Hand Side from Rabindra Bithi Bypass More to Kashipur More on Kabi loydeb Road while going rom Rabindra Bith to Kashipur Bhimgarh to Idlipur on either Ide of NH-60 arur to Lohapur on Badsahi Road (Either side) Ohuliyan Town Either side of Aeshbag on SH 1A Sahapur Lalgola on SH-11 A	Power House More on SH 14 on Left Hand Side while going rom Illambazar towards Dubrajpur BIRBHUM Prom Sonthsal Bus Stand to Dighal Kalitala Bus Stand on UH 60 (while going from Sonthsal towards Rampurhat on Left Hand Side from Salkhana to Akdalia on SH 6 while going from Suri to Purandarpur BIRBHUM Dh Left hand Side from Salkhana to Akdalia on SH 6 while going from Suri to Purandarpur BIRBHUM Between Kalora & Bataspur on SH-13 BIRBHUM Between Rajnagar & Chandrapur on SH-6 BIRBHUM Between Rajnagar & Chandrapur on SH-6 BIRBHUM Dubrajpur Town (within Dubrajpur Town (within Dubrajpur Municipal Limits) BIRBHUM Between Rampurhat & Hazarpur on NH-60 BIRBHUM Burb On Left hand Side from Raipur Bus Stand to Ryan International school on On Bolpur - Illambazar bypass Road while going from Raipur Bus Stand to Ryan International school on On Bolpur - Illambazar bypass Road while going from Raipur Bus Stand to Ryan International school on On Bolpur - Illambazar bypass Road while going from Raipur Bus Stand to Ryan International school on BIRBHUM BIRBHUM On Rajht Hand Side from Rabindra Bithi Bypass More to Kashipur More on Kabi loydeb Road while going rom Rabindra Bith to Kashipur BIRBHUM Dhuliyan Town MURSHIDABAD Dhuliyan Town MURSHIDABAD Dhuliyan Town MURSHIDABAD	Power House More on SH 14 on Left Hand Side while going rom Illambazar towardsBIRBHUMRegularJobrajpurBIRBHUMRegularFrom Sonthsal Bus Stand to Dighal Kalitala Bus Stand on H 60 (while going from Sonthsal towards Rampurhat on Left hand Side from Salkhana to Akdalia on SH 6 while going from Suri to PurandarpurBIRBHUMRegularOn Left hand Side from Salkhana to Akdalia on SH 6 while going from Suri to PurandarpurBIRBHUMRegularSetween Kalora & Bataspur on SH-13BIRBHUMRegularSetween Rajnagar & Chandrapur on SH-6BIRBHUMRegularSetween Rainagar & bakepur on NH-60BIRBHUMRegularSetween Rampurhat & lazarpur on NH-60BIRBHUMRegularSetween Purandarpur to whmedpur on SH-6BIRBHUMRegularSuri Town (within Suri Aunicipality Limits)BIRBHUMRegularSur Town (within Suri Aunicipality Limits)BIRBHUMRegularSur Stand to Ryan nternational school on On Solpur - Illambazar bypass Road while going from Raipur o Ryan International schoolBIRBHUMRegularOn Right Hand Side from Kashipur More on Kabi loydeb Road while going rom Rabindra Bith to Kashipur Abindra Bith to Kashipur Nore on Kabi loydeb Road while going rom Rabindra Bith to Kashipur One Badsahi Road (Either side)BIRBHUMRegularDhuliyan TownMURSHIDABADRegularShimgarh to Idlipur on either ide of Aeshbag on SH 1AMURSHIDABADRegular	Power House More on SH 14 in Left Hand Side while going rom Sonthsal Bus Stand to Dighal Kalitala Bus Stand to Dighal Kalitala Bus Stand to H6 0 (while going from Sonthsal towards Rampurhat in Left Hand Side) BIRBHUM Regular 150 Non Left Hand Side from Salkhana to Akdalia on SH 6 while going from Suri to 'urandarpur BIRBHUM Regular 150 Setween Rajnagar & Chandrapur on SH-6 BIRBHUM Regular 150 Dubrajpur Municipal Limits) BIRBHUM Regular 100 Between Rajnagar & Chandrapur on SH-6 BIRBHUM Regular 100 Between Rainagar & Chandrapur on SH-6 BIRBHUM Regular 100 Dubrajpur Municipal Limits) BIRBHUM Regular 100 Between Rampurhat & lazarpur on NH-60 BIRBHUM Regular 100 Between Rampurhat & lazarpur on NH-60 BIRBHUM Regular 100 Setween Rampurhat & lazarpur on NH-60 BIRBHUM Regular 100 Setween Rampurhat & lazarpur on NH-60 BIRBHUM Regular 100 Suri Town (within Suri Town (within Suri Aunicipality Limits) BIRBHUM Regular 100 Suri Town (within Suri Aunicipality Limits)	Power House More on SH 14 In Left Hand Side while going rom Sonthsal Bus Stand to Ubrajpur BIRBHUM Regular 150 SC Trom Sonthsal Bus Stand to Uphal Kalitala Bus Stand on HI 60 (while going from Sonthsal towards Rampurhat in Left Hand Side) BIRBHUM Regular 150 Open On Left hand Side from Salkhana to Akdalia on SH 6 while going from Suri to Purandarpur BIRBHUM Regular 150 Open Between Kalora & Bataspur In SH-13 BIRBHUM Regular 100 OBC Setween Kalora & Bataspur In SH-13 BIRBHUM Regular 100 OBC Setween Kantagoriya More & Lakpur on NH-60 BIRBHUM Regular 100 OBC Dubrajpur Town (within Dubrajpur Municipal Limits) BIRBHUM Regular 100 Open Setween Rampurhat & Hazarpur on SH-6 BIRBHUM Regular 100 Open Setween Purandarpur to Municipal Limits) BIRBHUM Regular 100 Open Suft Town (within Suri Aunicipality Limits) BIRBHUM Regular 100 Open Suft Hand Side from Raipur Bus Stand to Ryan BIRBHUM Regular 100 Open <	Yower House More on SH 14 In Left Hand Side while going from Sonthsal Bus Stand to Dighal Kalitala Bus Stand to Setween Kalora & Bataspur BirBHUM Regular 150 Open DC Setween Kalora & Bataspur Between Kalora & Bataspur BirBHUM Regular 100 OBC DC DC Setween Kantagoriya More & Lakapur on NH-60 BirBHUM Regular 100 Open DC DC Dubrajpur Town (within Dubrajpur Town (within Dubrajpur Town (within Suri Atuncipal Limits) BIRBHUM Regular 100 Open DC Setween Rampurhat & Batazapur on NH-60 BirBHUM Regular 100 Open DC DC Setween Rampurhat & BirBHUM Regular 100 Open DC DC Setween Rampurhat & BirBHUM Regular 100 Open DC DC Setween Rampurhat & BirBHUM Regular 100 Open DC DC Stand to Ryan International school on On Solpur - Illambazar bypass Nord Wile going from Raipur be Stand to Idipur on either ide of NH-60 BirBHUM Regular 130 Open DC Open DC Stand to Idipur on either ide of NH-60 BirBHUM Regular 150 1 DC DC DC <	Yower House More on SH 14 on Left Hand Side while going rom Sonthsal Eus Stand on Ubrajpur BIRBHUM Regular 150 SC CFS 35 Torm Sonthsal Eus Stand on Ubrajpur BIRBHUM Regular 150 SC CFS 35 Torm Sonthsal Eus Stand on Uh 60 (while going from Sonthsal Euxards Rampurhat in Left Hand Side from Salkhana to Akdalia on SH 6 while going from Suri to "urandarpur" BIRBHUM Regular 150 Open DC 45 Di Left hand Side from Salkhana to Akdalia on SH 6 while going from Suri to "urandarpur" BIRBHUM Regular 100 OBC DC 35 Setween Rainagar & Chandragur on SH-6 BIRBHUM Regular 100 OBC DC 35 Dubrajpur Tom (within Dubrajpur Municipal Limits) BIRBHUM Regular 100 OBC DC 25 Setween Rampurhat & tazarpur on NH-60 BIRBHUM Regular 100 OBC DC 25 Setween Ranagoriya More & tazarpur on NH-60 BIRBHUM Regular 100 OBC DC 25 Setween Rampurhat & tazarpur on NH-60 BIRBHUM Regular 100 <td< td=""><td>Owner House More on SH 14 In Left Hand Side while going rom liambazar towards Dubrajpur BIRBHUM Regular 150 SC CFS 35 35 Dubrajpur Distribut BIRBHUM Regular 150 SC CFS 35 35 Tom Sonthsal Bus Stand on Hield O(while going from Sonthsal Bus Stand on Hef Hand Side from Santhas to Kadalia on SH 6 while going from Suri to Turandarpur BIRBHUM Regular 150 Open DC 45 45 Salkhana to Akdalia on SH 6 while going from Suri to Turandarpur BIRBHUM Regular 100 DBC DC 35 35 Birbeween Kantagoriya More & Latween Kantagoriya More & Latween Kantagoriya More & Latagoru on NH-60 BIRBHUM Regular 100 OBC DC 35 35 Detween Kantagoriya More & Latagoru on NH-60 BIRBHUM Regular 100 OBC DC 35 35 Durajpur Town (within Nuncipal Limits) BIRBHUM Regular 100 Open DC 25 25 Duragur Municipal Limits) BIRBHUM Regular 100 Open DC 26 <t< td=""><td>Power House More on SH 14 in Left Hand Side while going rom Illambazar towards BiRBHUM Regular 150 SC CFS 35 35 1225 Tom Sonthsal Bus Stand to Ignal Kalitala Bus Stand on H4 60 (while going from Sonthsal towards Rampurhat in Left Hand Side) BIRBHUM Regular 150 Open DC 45 45 2025 In Left Hand Side from Satkhan to Akdalia on SH 6 while going from Sur to Urandarpur BIRBHUM Regular 150 Open DC 35 35 1225 Jetween Rajnagar & Teamdraguron SH-6 BIRBHUM Regular 100 OBC DC 35 35 1225 Jetween Rajnagar & Teamdraguron SH-6 BIRBHUM Regular 100 OBC DC 35 35 1225 Jubrajour Town (within Dubrajour Municipal Limits) BIRBHUM Regular 100 OBC DC 35 35 1225 Jubrajour Town (within Suri Town (within Suri Aunicipality Limits) BIRBHUM Regular 100 OBC DC 35 35 1225 Jubrajour Town (within Suri Town (within Suri Town (within Suri Town (within Suri Town (</td><td>Yower House More on SH 14 in Left Hand Stde while going rom liambazar towardsBIRBHUM RegularRegular150SCCFS353512250yoragiour rom Sonthsal Bus Stand to H4 60 (while going from Sonthsal towards Rampuntat in Left Hand Side from Sakhana to Akdalia on SH 6 while going from Suri to yurandarpur BIRBHUMRegular150OpenDC4545202525Di Left hand Side from Sakhana to Akdalia on SH 6 while going from Suri to yurandarpurBIRBHUM Regular150OpenDC3535122525Stewen Rajnagar & Between Rajnagar & Between Rajnagar & Between Rajnagar & Between Rajnagar & Between Rajnagar & Between Rajnagar & BirBHUM Between Rajnagar & BirBHUM Regular00BCDC3535122525Jubrajour Town (within Bubrajour Town (within BirBHUM Regular150OpenDC252525Jubrajour Monicojal Limits) BirBHUM BirBHUM Regular150OpenDC252525Jubrajour Town (within Subrajour Municojal Limits) BirBHUM Regular150OpenDC4545202525Jubrajour Sh-6 BirBHUM BirBHUM Regular150OpenDC202040025Jubrajour Town (within Suit Aunicipality Limits)BirBHUM Regular150OpenDC252525Jubrajour Sh-6 BirBHUM BirBHUM Regular120OpenDC202040025<</td><td>Yower House More on SH 14 In Left Hand Side while going rom Blambazar towards BIRBHUM Regular 150 SC CFS 35 35 1225 0 0 rom Sonthsal Eus Stand to Vipplan Kaitlab aus Stand to He 0 (while going from salkhan to Akdala on SH 6 while going from Suri to Urrandarpur BIRBHUM Regular 150 Open DC 45 45 2025 25 75 Jakhan to Akdala on SH 6 while going from Suri to Urrandarpur BIRBHUM Regular 150 Open DC 35 35 1225 25 60 between kaingrag & 2handrapur on SH 6 where Kaingragar & 2handrapur on SH 6 BIRBHUM Regular 100 OBC DC 35 35 1225 25 60 Ubraipur To non (within Ubraipur Municipal Limits) BIRBHUM Regular 100 Open DC 25 25 45 between Kainadaraptru to Himedpur on SH-6 BIRBHUM Regular 100 Open DC 26 25 25 75</td><td>Power House More on SH 14 un Left Hand Side while going from Illambazar towards BIRBHUM Regular 150 SC CFS 35 35 1225 0 0 Lots Tom Sonthsal Bus Stand to Jpipal Kattala Bus Stand to Jpipal Kattala Bus Stand to Juipal Kattala Bus Stand St</td><td>Power House More on SH 14 Umrajour Image of the second secon</td></t<></td></td<>	Owner House More on SH 14 In Left Hand Side while going rom liambazar towards Dubrajpur BIRBHUM Regular 150 SC CFS 35 35 Dubrajpur Distribut BIRBHUM Regular 150 SC CFS 35 35 Tom Sonthsal Bus Stand on Hield O(while going from Sonthsal Bus Stand on Hef Hand Side from Santhas to Kadalia on SH 6 while going from Suri to Turandarpur BIRBHUM Regular 150 Open DC 45 45 Salkhana to Akdalia on SH 6 while going from Suri to Turandarpur BIRBHUM Regular 100 DBC DC 35 35 Birbeween Kantagoriya More & Latween Kantagoriya More & Latween Kantagoriya More & Latagoru on NH-60 BIRBHUM Regular 100 OBC DC 35 35 Detween Kantagoriya More & Latagoru on NH-60 BIRBHUM Regular 100 OBC DC 35 35 Durajpur Town (within Nuncipal Limits) BIRBHUM Regular 100 Open DC 25 25 Duragur Municipal Limits) BIRBHUM Regular 100 Open DC 26 <t< td=""><td>Power House More on SH 14 in Left Hand Side while going rom Illambazar towards BiRBHUM Regular 150 SC CFS 35 35 1225 Tom Sonthsal Bus Stand to Ignal Kalitala Bus Stand on H4 60 (while going from Sonthsal towards Rampurhat in Left Hand Side) BIRBHUM Regular 150 Open DC 45 45 2025 In Left Hand Side from Satkhan to Akdalia on SH 6 while going from Sur to Urandarpur BIRBHUM Regular 150 Open DC 35 35 1225 Jetween Rajnagar & Teamdraguron SH-6 BIRBHUM Regular 100 OBC DC 35 35 1225 Jetween Rajnagar & Teamdraguron SH-6 BIRBHUM Regular 100 OBC DC 35 35 1225 Jubrajour Town (within Dubrajour Municipal Limits) BIRBHUM Regular 100 OBC DC 35 35 1225 Jubrajour Town (within Suri Town (within Suri Aunicipality Limits) BIRBHUM Regular 100 OBC DC 35 35 1225 Jubrajour Town (within Suri Town (within Suri Town (within Suri Town (within Suri Town (</td><td>Yower House More on SH 14 in Left Hand Stde while going rom liambazar towardsBIRBHUM RegularRegular150SCCFS353512250yoragiour rom Sonthsal Bus Stand to H4 60 (while going from Sonthsal towards Rampuntat in Left Hand Side from Sakhana to Akdalia on SH 6 while going from Suri to yurandarpur BIRBHUMRegular150OpenDC4545202525Di Left hand Side from Sakhana to Akdalia on SH 6 while going from Suri to yurandarpurBIRBHUM Regular150OpenDC3535122525Stewen Rajnagar & Between Rajnagar & Between Rajnagar & Between Rajnagar & Between Rajnagar & Between Rajnagar & Between Rajnagar & BirBHUM Between Rajnagar & BirBHUM Regular00BCDC3535122525Jubrajour Town (within Bubrajour Town (within BirBHUM Regular150OpenDC252525Jubrajour Monicojal Limits) BirBHUM BirBHUM Regular150OpenDC252525Jubrajour Town (within Subrajour Municojal Limits) BirBHUM Regular150OpenDC4545202525Jubrajour Sh-6 BirBHUM BirBHUM Regular150OpenDC202040025Jubrajour Town (within Suit Aunicipality Limits)BirBHUM Regular150OpenDC252525Jubrajour Sh-6 BirBHUM BirBHUM Regular120OpenDC202040025<</td><td>Yower House More on SH 14 In Left Hand Side while going rom Blambazar towards BIRBHUM Regular 150 SC CFS 35 35 1225 0 0 rom Sonthsal Eus Stand to Vipplan Kaitlab aus Stand to He 0 (while going from salkhan to Akdala on SH 6 while going from Suri to Urrandarpur BIRBHUM Regular 150 Open DC 45 45 2025 25 75 Jakhan to Akdala on SH 6 while going from Suri to Urrandarpur BIRBHUM Regular 150 Open DC 35 35 1225 25 60 between kaingrag & 2handrapur on SH 6 where Kaingragar & 2handrapur on SH 6 BIRBHUM Regular 100 OBC DC 35 35 1225 25 60 Ubraipur To non (within Ubraipur Municipal Limits) BIRBHUM Regular 100 Open DC 25 25 45 between Kainadaraptru to Himedpur on SH-6 BIRBHUM Regular 100 Open DC 26 25 25 75</td><td>Power House More on SH 14 un Left Hand Side while going from Illambazar towards BIRBHUM Regular 150 SC CFS 35 35 1225 0 0 Lots Tom Sonthsal Bus Stand to Jpipal Kattala Bus Stand to Jpipal Kattala Bus Stand to Juipal Kattala Bus Stand St</td><td>Power House More on SH 14 Umrajour Image of the second secon</td></t<>	Power House More on SH 14 in Left Hand Side while going rom Illambazar towards BiRBHUM Regular 150 SC CFS 35 35 1225 Tom Sonthsal Bus Stand to Ignal Kalitala Bus Stand on H4 60 (while going from Sonthsal towards Rampurhat in Left Hand Side) BIRBHUM Regular 150 Open DC 45 45 2025 In Left Hand Side from Satkhan to Akdalia on SH 6 while going from Sur to Urandarpur BIRBHUM Regular 150 Open DC 35 35 1225 Jetween Rajnagar & Teamdraguron SH-6 BIRBHUM Regular 100 OBC DC 35 35 1225 Jetween Rajnagar & Teamdraguron SH-6 BIRBHUM Regular 100 OBC DC 35 35 1225 Jubrajour Town (within Dubrajour Municipal Limits) BIRBHUM Regular 100 OBC DC 35 35 1225 Jubrajour Town (within Suri Town (within Suri Aunicipality Limits) BIRBHUM Regular 100 OBC DC 35 35 1225 Jubrajour Town (within Suri Town (within Suri Town (within Suri Town (within Suri Town (Yower House More on SH 14 in Left Hand Stde while going rom liambazar towardsBIRBHUM RegularRegular150SCCFS353512250yoragiour rom Sonthsal Bus Stand to H4 60 (while going from Sonthsal towards Rampuntat in Left Hand Side from Sakhana to Akdalia on SH 6 while going from Suri to yurandarpur BIRBHUMRegular150OpenDC4545202525Di Left hand Side from Sakhana to Akdalia on SH 6 while going from Suri to yurandarpurBIRBHUM Regular150OpenDC3535122525Stewen Rajnagar & Between Rajnagar & Between Rajnagar & Between Rajnagar & Between Rajnagar & Between Rajnagar & Between Rajnagar & BirBHUM Between Rajnagar & BirBHUM Regular00BCDC3535122525Jubrajour Town (within Bubrajour Town (within BirBHUM Regular150OpenDC252525Jubrajour Monicojal Limits) BirBHUM BirBHUM Regular150OpenDC252525Jubrajour Town (within Subrajour Municojal Limits) BirBHUM Regular150OpenDC4545202525Jubrajour Sh-6 BirBHUM BirBHUM Regular150OpenDC202040025Jubrajour Town (within Suit Aunicipality Limits)BirBHUM Regular150OpenDC252525Jubrajour Sh-6 BirBHUM BirBHUM Regular120OpenDC202040025<	Yower House More on SH 14 In Left Hand Side while going rom Blambazar towards BIRBHUM Regular 150 SC CFS 35 35 1225 0 0 rom Sonthsal Eus Stand to Vipplan Kaitlab aus Stand to He 0 (while going from salkhan to Akdala on SH 6 while going from Suri to Urrandarpur BIRBHUM Regular 150 Open DC 45 45 2025 25 75 Jakhan to Akdala on SH 6 while going from Suri to Urrandarpur BIRBHUM Regular 150 Open DC 35 35 1225 25 60 between kaingrag & 2handrapur on SH 6 where Kaingragar & 2handrapur on SH 6 BIRBHUM Regular 100 OBC DC 35 35 1225 25 60 Ubraipur To non (within Ubraipur Municipal Limits) BIRBHUM Regular 100 Open DC 25 25 45 between Kainadaraptru to Himedpur on SH-6 BIRBHUM Regular 100 Open DC 26 25 25 75	Power House More on SH 14 un Left Hand Side while going from Illambazar towards BIRBHUM Regular 150 SC CFS 35 35 1225 0 0 Lots Tom Sonthsal Bus Stand to Jpipal Kattala Bus Stand to Jpipal Kattala Bus Stand to Juipal Kattala Bus Stand St	Power House More on SH 14 Umrajour Image of the second secon

											1	Draw of		
81	Jiaganj Town	MURSHIDABAD	Regular	100	OBC	DC	20	20	400	25	45	Lots	15	4
	Within 4 Kms from Morgram				020									·
	Intersection on NH 60 (either											Draw of		
82	side)	MURSHIDABAD	Regular	150	OBC	DC	35	45	1575	25	75	Lots	15	4
83	Panchanantala(Berhampore)	MURSHIDABAD	Regular	230	Open	CC	30	30	900	25	10	Bidding	30	5
00	From Chunakali More towards		litegalai	200	opon			00		20		Draw of		
84	Islampur on SH 11	MURSHIDABAD	Regular	100	OBC	DC	35	35	1225	25	60	Lots	15	4
	Bhagwangola on SH 11A (on		litegalai	100	020							Draw of		· · ·
85	either side)	MURSHIDABAD	Regular	100	Open	DC	35	35	1225	25	60	Lots	15	5
	On Left Hand Side between		litegalai	100	open									
	Omarpur to Mangaljan on													
	NH34 while going from											Draw of		
86	Omarpur to Mangaljan	MURSHIDABAD	Regular	150	OBC	DC	35	45	1575	25	75	Lots	15	4
	On Left Hand Side between		liegenen											
	Dhuliyan Town to Ballarpur on												-	
	NH 34 while going from											Draw of	0	3
87	Dhuliyan to Ballarpur)	MURSHIDABAD	Regular	280	SC	CFS	35	45	1575	0	0	Lots		
	On Right Hand side from		litegalai	200		0.0								
	Ballarpur to Farakka on NH34												-	
	while going from Ballarpur to											Draw of	0	3
88	Farakka	MURSHIDABAD	Regular	150	SC	CFS	35	45	1575	0	0	Lots		
	Within 5 Kms from Kuli More		liegenen									Draw of		
89	towards Khargram on SH 7	MURSHIDABAD	Regular	109	Open	DC	35	35	1225	25	60	Lots	15	5
	Cossim Bazar (Within											Draw of		
90	Municipality Limit)	MURSHIDABAD	Regular	100	OBC	DC	30	30	900	25	45	Lots	15	4
	On Right Hand Side between													
	Domkal to Jalangi on SH 11													
	while going from Domkal to											Draw of		
91	Jalangi	MURSHIDABAD	Regular	100	Open	DC	35	35	1225	25	60	Lots	15	5
	On Left Hand Side from		- Ŭ		1									
	Seikhdighi to Omarpur More													
	on NH-34 while going from											Draw of		
92	Seikhdighi to Omarpur	MURSHIDABAD	Regular	150	Open	DC	35	45	1575	25	75	Lots	15	5
	On Left Hand Side from Sajur				•									
	More to Chander More on													
	NH34 while going from from													
93	Sajur More to Chander More	MURSHIDABAD	Regular	280	Open	CC	35	45	1575	25	10	Bidding	30	5
	Berhampore Town (Within				OPEN							¥		
94	Municipality Area)	MURSHIDABAD	Regular	200	CC 1	CC	20	20	400	25	10	Bidding	30	5
	Within 3 kms from Chunakhali											Draw of		
95	More towards Panchanantala	MURSHIDABAD	Regular	100	Open	DC	35	35	1225	25	60	Lots	15	5
	Gokarna to Purandarpur (on											Draw of		
96	SH-11)	MURSHIDABAD	Regular	100	Open	DC	35	35	1225	25	60	Lots	15	5
	On Left Hand Side from													
	Moregram to Sheikhdighi on													
	NH-34 while going from											Draw of		
97	Moregram to Sheikhdighi	MURSHIDABAD	Regular	150	OBC	DC	35	45	1575	25	75	Lots	15	4
	On Left Hand Side Between													
	Mankara to Chuanpur on NH-												0	3
	34 while going from Mankara											Draw of	U	5
98	to Chuanpur	MURSHIDABAD	Regular	150	SC	CFS	35	45	1575	0	0	Lots		

	On Right Hand Side from Dhuliyan town to Ballarpur on NH34 while going towards											Draw of		
99	Farakka	MURSHIDABAD	Regular	150	OBC	DC	35	45	1575	25	75	Lots	15	4
100	On Left Hand Side from Ballalpur to Farakka on NH34 while going towards Farakka	MURSHIDABAD	Pogular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
100	while going towards Farakka On Right Hand Side from	MUKSHIDADAD	Regular	100	30	613	30	40	1575	0	0	LOIS		
101	Mehedipur to Sibpur Toll Plaza on NH34 while going from Mehedipur to Sibpur Toll Plaza	MURSHIDABAD	Regular	150	OBC CC	DC	35	45	1575	25	75	Draw of Lots	15	4
102	On Left Hand Side from Palsanda More to Sibpur Toll Plaza on NH34	MURSHIDABAD	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
103	On Right Hand Side from Ballalpur to Dhuliyan More on NH34 while going from Ballalpur to Dhuliyan More	MURSHIDABAD	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
100	On Left Hand Side from Mehedipur to Sibpur Toll		litogular	100		010		10						
104	Plaza on NH34 while going from Mehedipur to Sibpur Toll Plaza	MURSHIDABAD	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
105	On Left Hand Side from Mankara to Beldanga on NH34 while going from		Degular	150	50.001	CFS	35	45	4575	0		Draw of	0	3
105 106	Mankara to Beldanga On Shibpur Toll plaza to Palsanda More on NH 34 while going from Shibpur Toll Plaza to Palsanda More	MURSHIDABAD	Regular	150	OPEN CC 1	DC	35	45 45	1575	025	75	Lots Draw of Lots	15	5
107	Within 5 Kms from Ajoy River Bridge towards Darjeeling More on SH-14	PASCHIM BARDHAMAN	Regular	120	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
108	Between KM Stone 500 to 515 on Left Hand Side of NH- 2 while going from Delhi to Kolkata	PASCHIM BARDHAMAN	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
109	From Kalipahari Intersection to Chanda More on NH-2 (Left hand Side) while going to Durgapur	PASCHIM BARDHAMAN	Regular	150	ST	CFS	45	45	2025	0	0	Draw of Lots	0	3
110	On Left Hand side between KM Stone 490 to 498 on NH-2 while going to Delhi from Kolkata	PASCHIM BARDHAMAN	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
111	SD Hospital to Mohishila, Asansol within Municipal Limits	PASCHIM BARDHAMAN	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
112	Chittanranjan (5 KM Radius)	PASCHIM BARDHAMAN	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4

	Between KM Stone 483 to 490 on NH-2 on Right Hand Side													
113	while moving to Kolkata From Delhi	PASCHIM BARDHAMAN	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
	Gandhi More to Alloy Steel Plant Main Gate(on Gandhi													
	More-Mayabazar-Gammon	PASCHIM	Devular	450	OPEN	50	20	20	000	05		Draw of	45	
114	Brige More Road) Bhagat Singh More to B-1	BARDHAMAN PASCHIM	Regular	150	CC 1	DC	30	30	900	25	60	Lots Draw of	15	5
115	More Phuljhore	BARDHAMAN	Regular	150	OBC	DC	30	30	900	25	60	Lots	15	4
110	B-1 More to Arrah More in	PASCHIM	rtegulai	100	000	00			500	20	00	Draw of	10	
116	Durgapur Town	BARDHAMAN	Regular	150	OBC	DC	30	30	900	25	60	Lots	15	4
	Within 10 Kms from junction of													
	NH-2 & NH-60 towards	PASCHIM										Draw of		
117	Pandaveswar on NH-60	BARDHAMAN	Regular	150	Open	DC	35	45	1575	25	75	Lots	15	5
	On Right Hand Side between KM Stone 522 to 529 on NH 2 while moving towards Kolkata	PASCHIM										Draw of		
118	from Delhi	BARDHAMAN	Regular	150	OBC	DC	35	45	1575	25	75	Lots	15	4
	On Left Hand Side between KM Stone 531 to 542 on NH-2 while moving towards Kolkata	PASCHIM										Draw of		
119	from Delhi	BARDHAMAN	Regular	150	Open	DC	35	45	1575	25	75	Lots	15	5
120	4 Kms from Dendua Railway Crossing towards Rupnarayanpur on SH-5	PASCHIM BARDHAMAN	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
120	On Left hand Side between		rtegular	100	00	010		00	1220	0	0	LOIS		
121	KM Stone 451 to 454 on NH-2 while going from Raniganj to Dhanbad	PASCHIM BARDHAMAN	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
121	On Left hand Side from Four		rtegulai	100	open	00			2020	20	10	LOIS	10	5
122	Point Crossing (intersection of NH-2 and SH-5) to Jharkhand Border on NH-2 while going to Dhanbad	PASCHIM BARDHAMAN	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
	On Left Hand Side between				·									
	Kalipahari Intersection and													
400	Jubilee Flyover on NH-2 while	PASCHIM		450		50				05		Draw of	4 =	
123	going towards Dhanbad	BARDHAMAN	Regular	150	Open	DC	45	45	2025	25	75	Lots	15	5
	On Left Hand Side from Chanda More to Raniganj on NH-2 while going towards	PASCHIM										Draw of	0	3
124	Durgapur	BARDHAMAN	Regular	150	SC	CFS	45	45	2025	0	0	Lots		
	On Left Hand side from Punjabi More to Mangalpur on NH-2 while going towards	PASCHIM										Draw of		
125	Durgapur	BARDHAMAN	Regular	150	Open	DC	45	45	2025	25	75	Lots	15	5
126	On Left Hand Side from Four Point Crossing (intersection of NH-2 and SH-5) to Dendua on SH-5 while going from Four Point Crossing towards Chittaranjan	PASCHIM BARDHAMAN	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

127	Raniganj Town (Within Municipality Limits)	PASCHIM BARDHAMAN	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
128	IISCO Bypass NH-2 Connector	PASCHIM BARDHAMAN	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
129	On Right Hand Side from Kalipahari Intersection to Chanda More on NH-2 while going towards Durgapur	PASCHIM BARDHAMAN	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
130	Raniganj to Mangalpur Link Road (Not on NH-2)	PASCHIM BARDHAMAN	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
131	within 5 km on either side of Pandaveswar Rly Crossing on NH-60	PASCHIM BARDHAMAN	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
132	On Right Hand Side between Km Stone 518 to 526 on NH-2 while going from Kolkata to Delhi	PASCHIM BARDHAMAN	Regular	150	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
133	Gammon Bridge More to Mayabazar Rly Crossing	PASCHIM BARDHAMAN	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
134	DVC More(NH-2) to Gammon Bridge More(BC Roy Avenue)	PASCHIM BARDHAMAN	Regular	150	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
135	In between Asansol Rly. Station and NH-2 on Dhadka Road	PASCHIM BARDHAMAN	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
136	Link Road From NH-2 towards Durgapur Township	PASCHIM BARDHAMAN	Regular	155	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
137	Between Gopalpur and Sataisa Bus Stand on Old GT road	PASCHIM BARDHAMAN	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
138	From Junction of NH-2 and SH-9(Mucchipara) to Durgapur Barrage On SH-9	PASCHIM BARDHAMAN	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
139	Durgapur City centre area (Not on NH)	PASCHIM BARDHAMAN	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
140	Between Bhagat Singh More to Asansol Ram Krishna Missiion High School on Vivekananda Sarani	PASCHIM BARDHAMAN	Regular	100	OPEN CC 1	DC	30	30	900	25	45	Draw of Lots	15	5
141	On S.B. Gorai Road, Asansol	PASCHIM BARDHAMAN	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
142	Bhagat Singh More to Chandidas More	PASCHIM BARDHAMAN	Regular	150	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
143	On Left Hand Side between Mangalpur Flyover to Punjabi More on NH-2 while going towards Dhanbad	PASCHIM BARDHAMAN	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
144	Galaxy More to Riverside Township on Burnpur Road	PASCHIM BARDHAMAN	Regular	100	OPEN CC 1	DC	30	30	900	25	45	Draw of Lots	15	5
145	Raniganj Byepass starting from Ranisayer more	PASCHIM BARDHAMAN	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
146	Between Mangalpur More to Bansara More on NH2 (RHS towards Kolkata)	PASCHIM BARDHAMAN	Regular	150	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5

	Between Bhagat Singh More													
4.47	to Chitra Cinema on Burnpur	PASCHIM		400		050	00			0		Draw of	0	3
147	Road on either side On Left Hand Side from	BARDHAMAN	Regular	100	SC	CFS	30	30	900	0	0	Lots		
	Mahachanda to Eora Chak on													
	SH-7 while going from	PURBA										Draw of		
148	Burdwan to Katwa	BARDHAMAN	Regular	150	OBC	DC	35	35	1225	25	60	Lots	15	4
	On Right Hand Side between													
	KM Stone 540 to 550 on NH-2													
	while moving to Kolkata from	PURBA										Draw of		
149	Delhi	BARDHAMAN	Regular	150	Open	DC	45	45	2025	25	75	Lots	15	5
	Rasulpur Rail gate to Memari												•	
450	Rail Gate on old GT Road on	PURBA		400		050	05	05	4005	0	0	Draw of	0	3
150	SH-13 Nigon to Bonkapashi on SH-	BARDHAMAN PURBA	Regular	100	SC	CFS	35	35	1225	0	0	Lots Draw of		
151	14	BARDHAMAN	Regular	100	OBC	DC	35	35	1225	25	60	Lots	15	4
101	Within 4 Kms from Norja More		rtegulai	100	000	00	00	00	1220	20	00	LOIS	10	
	towards Nutanhat on either	PURBA										Draw of		
152	side of SH-7	BARDHAMAN	Regular	100	OBC	DC	35	35	1225	25	60	Lots	15	4
	Between KM Stone 15 to 22													
	on NH-2B (Burdwan Bolpur	PURBA										Draw of		
153	Road)	BARDHAMAN	Regular	150	Open	DC	45	45	2025	25	75	Lots	15	5
	Between KM Stone 25 to 32													
454	on NH-2B (Burdwan Bolpur	PURBA		450	Onen		4 5	45	0005	05	75	Draw of	45	
154	Road) Between KM Stone 0 to 12 on	BARDHAMAN	Regular	150	Open	DC	45	45	2025	25	75	Lots	15	5
	NH-2B on either side of	PURBA										Draw of		
155	Burdwan-Bolpur Road	BARDHAMAN	Regular	150	Open	DC	45	45	2025	25	75	Lots	15	5
	Palsit Toll gate to KM													
	Milestone 595 on Left Hand													
	Side on NH 2 while going to	PURBA										Draw of		
156	Dankuni	BARDHAMAN	Regular	170	Open	DC	35	45	1575	25	75	Lots	15	5
	5 Kms from Bankura More													
457	towards Khandaghosh (either	PURBA		100	000	D 0	05	05	4005	05		Draw of	45	
157	side) on SH-8	BARDHAMAN PURBA	Regular	100	OBC	DC	35	35	1225	25	60	Lots Draw of	15	4
158	Within Kalna Municipality	BARDHAMAN	Regular	110	SC	CFS	20	20	400	0	0	Lots	0	3
150	Alisha More to Birhata on Old	PURBA	Ttegulai	110		010	20	20	400	0	0	Draw of		
159	GT Road	BARDHAMAN	Regular	100	Open	DC	35	35	1225	25	60	Lots	15	5
	On Left Hand Side from													
	Nababhat to Fagupur on NH 2													
	while going towards Fagupur	PURBA										Draw of		
160	from Nababhat	BARDHAMAN	Regular	150	Open	DC	45	45	2025	25	75	Lots	15	5
	Fagupur to Alisa Chowk on												•	
164	NH 2 on Left Hand Side while		Dogular	300	SC	050	45	45	2025	0		Draw of	0	3
161	going towards Kolkata	BARDHAMAN	Regular	300	50	CFS	45	45	2025	0	0	Lots		
	Amra to Konarpara on NH 2 on Left Hand Side while going	PURBA										Draw of		
162	towards Dankuni	BARDHAMAN	Regular	160	Open	DC	45	45	2025	25	75	Lots	15	5
	Polempur to Bankura More on	PURBA		100						20		Draw of		
163	SH-7	BARDHAMAN	Regular	100	Open	DC	35	35	1225	25	60	Lots	15	5
	2 Kms from Dainhat More				· · · · · ·									
	towards Katwa on either side	PURBA										Draw of		
164	of SH-6	BARDHAMAN	Regular	100	Open	DC	35	35	1225	25	60	Lots	15	5

	On Left Hand Side between													
	KM Milestone 560 to 564 on												0	2
	NH 2 while going towards	PURBA										Draw of	0	3
165	Durgapur	BARDHAMAN	Regular	170	SC	CFS	45	45	2025	0	0	Lots		
	Within 5 Kms from Muratipur													
	towards Nutanhat on SH-7 on	PURBA										Draw of		
166	either side	BARDHAMAN	Regular	100	Open	DC	35	35	1225	25	60	Lots	15	5
107	Jajigram to Bonkapasi on	PURBA		440	0	50	05	05	4005	05		Draw of	45	_
167	Burdwan-Katwa Road(SH-14)	BARDHAMAN	Regular	110	Open	DC	35	35	1225	25	60	Lots	15	5
	5 Kms from Bolgona Bus	PURBA										Drow of		
168	Stand towards Nigon on SH- 14	BARDHAMAN	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
100	On Right Hand Side within 1	DARDI IAMAN	Regulai	100	Open	DC			1225	20	00	LUIS	10	5
	km of either direction of													
	Nandanpur Bus Stop while													
	going towards Arambagh on	PURBA										Draw of		
169	SH-7	BARDHAMAN	Regular	110	Open	DC	35	35	1225	25	60	Lots	15	5
	On Left Hand Side between			_										
	Bamchandaipur to Amrah													
	while going from Durgapur to	PURBA												
170	Kolkata	BARDHAMAN	Regular	320	Open	CC	45	45	2025	25	10	Bidding	30	5
	Memari Rail Gate to Debipur	PURBA										Draw of	0	3
171	on old GT Road	BARDHAMAN	Regular	100	ST	CFS	35	35	1225	0	0	Lots	0	0
		PURBA										Draw of		
172	Within Katwa Municipality	BARDHAMAN	Regular	100	OBC	DC	20	20	400	25	45	Lots	15	4
470	Parbirhata to Nababhat on Old	PURBA		100	0.00	50	~-		1005			Draw of		
173	GT Road(SH -13)	BARDHAMAN	Regular	100	OBC	DC	35	35	1225	25	60	Lots	15	4
474	Memari Town (within	PURBA		400	от	050	00	00	400	0	0	Draw of	0	3
174	Municipal Limits)	BARDHAMAN	Regular	100	ST	CFS	20	20	400	0	0	Lots		
	On Left hand Side between Mirchova & Bamchandipur	PURBA										Draw of		
175	while going towards Kolkata	BARDHAMAN	Regular	150	OBC	DC	45	45	2025	25	75	Lots	15	4
175		PURBA	rtegulai	100	000	00	70		2020	20	10	Draw of	10	
176	Burdwan on Old GT Road	BARDHAMAN	Regular	100	OBC	DC	20	20	400	25	45	Lots	15	4
	Within 2 KM of Malamba on		litegului											•
	SH-8 (Burdwan Nabadwip	PURBA										Draw of	0	3
177	Road)	BARDHAMAN	Regular	110	ST	CFS	35	35	1225	0	0	Lots		
	Between Sahazadpur to													
	Ghugragachi on Burdwan	PURBA			OPEN							Draw of		
178	Nawadwip Road(SH-6)	BARDHAMAN	Regular	100	CC 1	DC	35	35	1225	25	60	Lots	15	5
	Within 2 Kms of either side of	PURBA			_							Draw of	0	3
179	Kaligram on SH-8	BARDHAMAN	Regular	110	ST	CFS	35	35	1225	0	0	Lots	v	
400	Within 5 Kms from Satgachia	PURBA		400	0.000		~-	0.5		05		Draw of	4 -	
180	More towards Kusumgram	BARDHAMAN	Regular	100	OBC	DC	35	35	1225	25	60	Lots	15	4
104	Chandrapur to Gopkhanji on		Dogular	100		050	0 <i>E</i>	25	1005	0		Draw of	0	3
181	SH-15 Within 1KM from Dhotrigrom	BARDHAMAN	Regular	100	SC	CFS	35	35	1225	0	0	Lots		
	Within 1KM from Dhatrigram More (both direction) on SH-6	PURBA										Draw of		
182	(Kalna - Katwa Road)	BARDHAMAN	Regular	100	OBC	DC	35	35	1225	25	60	Lots	15	4
102	KM Stone 558 to 552 on Left			100		00	55		1225	20	00		15	
	Hand Side of NH-2 while													
	going towards Kolkata to	PURBA			OPEN							Draw of		
183	Durgapur	BARDHAMAN	Regular	150	CC 2	DC	35	45	1575	25	75	Lots	15	5
183	Durgapur	BARDHAMAN	Regular	150		DC	35	45	15/5	25	/5	LOTS	15	5

184	KM Stone 579 to 574 on Left Hand Side of NH-2 while going towards Kolkata to Durgapur	PURBA BARDHAMAN	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
185	KM Stone 570 to 564 on Left Hand Side of NH-2 while going towards Kolkata to Durgapur	PURBA BARDHAMAN	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
186	Balarampur to Belagram on Left Hand Side while going towards Jamshedpur	PURULIA	Regular	170	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
187	On Right Hand Side from Manguria to Belkuri on NH32	PURULIA	Regular	150	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4
188	10 Kms from Damda towards Kenda on SH-5 (Either Side)	PURULIA	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
189	Jaipur to Kotsila on SH-4A (either side)	PURULIA	Regular	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
190	Raghabpur More to Goshala More on NH-60A (Either Side)	PURULIA	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
	Manguria to Chasmore on NH- 32 on Left Hand Side while going from Manguria to													
191	Chasmore Baghmundi on SH4 (Either	PURULIA	Regular	230	Open	CC	50	50	2500	25	10	Bidding Draw of	30	5
192	Side)	PURULIA	Regular	100	SC	CFS	35	35	1225	0	0	Lots Draw of	0	3
193	Mohula on SH-5 (Either Side) Purlia Town(within	PURULIA	Regular	100	OBC	DC	35	35	1225	25	60	Lots	15	4
194	Municipality)	PURULIA	Regular	200	Open	CC	20	20	400	25	10	Bidding	30	5
195	Between Dubra More to Paharigora More on Raghunathpur-Santhaldih road (SH8) (Either Side)	PURULIA	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
196	On Left hand Side within 5 Kms of Birsa More towards Jharkhand on SH-4A	PURULIA	Regular	120	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
197	Mangalpur to Hura on either side	PURULIA	Regular	150	ST	CFS	45	45	2025	0	0	Draw of Lots	0	3
198	10 Kms from Indkuri towards Kenda on SH-5 (Either Side)	PURULIA	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
199	On Right Hand Side from Raghunathpur to Jharukhamar on SH5 while going towards Jharukhamar	PURULIA	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
200	Kantadih to Urma on NH-32 Left Hand Side while going towards Balarampur	PURULIA	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
201	From Kuntighat to Tribeni on Right Hand Side on SH-6 (STKK)	HOOGHLY	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
202	From Chinsurah Pipalpati More to Sahagunge More on SH-6	HOOGHLY	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5

202	From Pursuhura to Harinkhola		Degular	110	SC	CFS	35	25	1005	0		Draw of	0	3
203	on Left Hand Side on SH-15 From Seakhala to Panrra on	HOOGHLY	Regular	110	50	CF3	30	35	1225	0	0	Lots Draw of		
204	Left Hand Side on SH -15.	HOOGHLY	Regular	110	Open	DC	35	35	1225	25	60	Lots	15	5
	From Chanditala to					_						Draw of		
205	Krishnarampur on SH-15	HOOGHLY	Regular	110	Open	DC	35	35	1225	25	60	Lots	15	5
206	Between KM Stone 641 to 646 on Durgapur Express Way on RHS on NH-2 while going towards Durgapur	HOOGHLY	Poquior	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
200	Pardankuni on Right Hand	HOUGHLT	Regular	100	Open	DC	55	45	1575	25	75	LOIS	10	
207	Side on SH-13 while going towards Payarapur	HOOGHLY	Regular	275	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
208	From Burdwan Border to Arambagh on left Hand Side on SH-15	HOOGHLY	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Adisaptagram on Right Hand													
209	Side on SH-6 while going from Bandel More to Mogra	HOOGHLY	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
210	From Sugandha More to Eranga on Left Hand Side on SH-13.	HOOGHLY	Regular	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
210	From Hansgora to Fatepur on	HOUGHET	Tregulai	110		00	00	00	1220	20		Draw of	10	
211	Left Hand Side on SH-6 From Pursura To Harinkhola	HOOGHLY	Regular	110	Open OPEN	DC	35	35	1225	25	60	Lots Draw of	15	5
212	On Right Hand Side On SH-15	HOOGHLY	Regular	110	CC 1	DC	35	35	1225	25	60	Lots	15	5
	From Swetpur To Bhadreshwar More On Left				OPEN									
213	Hand Side On SH-13	HOOGHLY	Regular	110	CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
214	From Bhardreswar To Bighati On Right Hand Side On SH-13	HOOGHLY	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
215	From Jirat To Balagarah On Left Hand Side On SH-6	HOOGHLY	Regular	110	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
210	Between Km Stone 617 To	HOUGHET	Tregular	110	00111	010	00	00	1220	0	0	LOIS		
216	Km Stone 612 On Durgapur Expressway Left Hand Side	HOOGHLY	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Between Km Stone 612 To Km Stone 607 On Durgapur				•							Draw of		
217	Expressway Left Hand Side	HOOGHLY	Regular	160	Open	DC	35	45	1575	25	75	Lots	15	5
010	Between Km Stone 622 To Km Stone 617 On Durgapur		Degular	160		050	25	45	4676	0	0	Draw of	0	2
218	Expressway Left Hand Side Between Km Stone 642 To	HOOGHLY	Regular	160	SC	CFS	35	45	1575	0	0	Lots	0	3
219	Km Stone 637 On Durgapur Expressway Left Hand Side	HOOGHLY	Regular	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
220	From Bagnan to Haturia over Amta - Bagnan Road (SH 15)	HOWRAH	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
221	Between Munsirhat and Khila	HOWRAH	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Barunda between Ishwaripur to Barunda on Left Hand Side									-		Draw of		
222	on NH-6	HOWRAH	Regular	160	Open	DC	35	45	1575	25	75	Lots	15	5
223	From Garmirjapur to Masila (near Alampur & Crystal Cable	HOWRAH	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4

	Factory)													
224	Khalisani Kalitala to Raghudebpur on NH 6 (LHS)	HOWRAH	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
225	From Alampur to Andul Bus Stand on Andul Road	HOWRAH	Regular	120	Open	DC	30	30	900	25	45	Draw of Lots	15	5
226	From Bakultala to Jaladhulagarhi on S.N. Bose Road	HOWRAH	Regular	120	Open	DC	30	30	900	25	45	Draw of Lots	15	5
227	Between Dhulagarh NH-6 crossing to Jujarsa at Jaladhulagari	HOWRAH	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
228	Between Patel Parking Lot and Kali Mandir on Jaladhulagori - Jujarsah Road (69 Bus Stand)	HOWRAH	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	From Amta to Munsirhat on Amta-Munsirhat Road on SH-					DC	35			25		Draw of		
229	15 From 10 Amta to Panpur More	HOWRAH	Regular	100	Open			35	1225		60	Lots Draw of	15	5
230	at Hafejchak Between Bagnan More to OT	HOWRAH	Regular	110	OBC	DC	30	30	900	25	45	Lots Draw of	15 0	4
231	Road Crossing From Jain Vidyalay to G.T. Road Crossing on Bonbihari	HOWRAH	Regular	160	SC CC 1	CFS	35	45	1575	0	0	Lots Draw of	0	3
232	Bose Road Between ESI Hospital To BP Bottling Plant Left Hand Side On NH6 While Going From	HOWRAH	Regular	100	SC	CFS	30	30	900	0	0	Lots Draw of		
233	Kolkata To Kharagpur On Right Hand Side of NH 06	HOWRAH	Regular	160	Open	DC	35	45	1575	25	75	Lots	15	5
234	from Kharagpur to Bahragora between KM Stone 158 to 175	JHARGRAM	Regular	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
235	KM Stone 2 to 5 on SH-9	JHARGRAM	Regular	110	Open OPEN	DC	35	35	1225	25	60	Draw of Lots Draw of	15	5
236	JHARGRAM Town On Left Hand Side of NH 06	JHARGRAM	Regular	120	CC 1	DC	30	30	900	25	45	Lots	15	5
237	from Kharagpur to Bahragora between KM Stone 140 to 165	JHARGRAM	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
238	Binpur High School to Silda on SH 5	JHARGRAM	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
239	Fekoghat to Tapsia Rural Hospital on SH9 On Left Hand Side of NH 06	JHARGRAM	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
240	from Kharagpur to Bahragora between KM Stone 165 to 175 From Subarnarekha	JHARGRAM	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
241	Mahavidyalay to Kamlasol Christan Church on SH9	JHARGRAM	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
242	1.5 km in either direction from Nayagram Bani Vidyapith on SH9	JHARGRAM	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5

	From Dahijuri Crossing to											Draw of	•	
243	Binpur High School on SH-5	JHARGRAM	Regular	110	ST	CFS	35	35	1225	0	0	Lots	0	3
	From Chandrakona Town to													
	Raskundu High School on													
	Chandrakona Town-Garhbeta	PASCHIM			OPEN							Draw of		
244	Road	MEDINIPUR	Regular	120	CC 2	DC	30	30	900	25	45	Lots	15	5
	From Sonakania to Belda KM													
	Stone 62 to 69 on the Left	PASCHIM										Draw of		
245	Hand Side on NH-60	MEDINIPUR	Regular	130	Open	DC	35	45	1575	25	75	Lots	15	5
	From Jagnnathpur to													
	Sonamui on SH4 (Ghatal	PASCHIM										Draw of		
246	Panskura Road)	MEDINIPUR	Regular	110	Open	DC	35	35	1225	25	60	Lots	15	5
		PASCHIM										Draw of		
247	From Goaltore to Pingboni	MEDINIPUR	Regular	150	Open	DC	35	35	1225	25	60	Lots	15	5
	Within 5 Km radius of Ghatal	PASCHIM										Draw of		
248	Muncipality office(Not on SH)	MEDINIPUR	Regular	120	Open	DC	30	30	900	25	45	Lots	15	5
	From Debra market to													
	Kalyanpur on Right Hand site	PASCHIM										Draw of		
249	on NH6	MEDINIPUR	Regular	160	Open PH	DC	35	45	1575	25	75	Lots	15	5
	On Left Hand Side of NH 06													
	from Kolaghat to Kharagpur	PASCHIM										Draw of		
250	between KM Stone 113 to 130	MEDINIPUR	Regular	160	OBC	DC	35	45	1575	25	75	Lots	15	4
	From Amrakuchi to Keshpur	PASCHIM										Draw of		
251	Hospital on SH 7	MEDINIPUR	Regular	110	Open	DC	35	35	1225	25	60	Lots	15	5
	On Right Hand Side of NH-60													
	From Chowrangi Crossing to	PASCHIM										Draw of	0	3
252	Kansabati Bridge	MEDINIPUR	Regular	160	SC	CFS	35	45	1575	0	0	Lots		
	On Right Hand Side of NH 60													
	from Kharagpur to Bisnupur	PASCHIM										Draw of	0	3
253	between KM Stone 124 to 152	MEDINIPUR	Regular	160	SC	CFS	35	45	1575	0	0	Lots		
	On Right Hand Side of NH 06													
	from Kharagpur to Baharagora	PASCHIM										Draw of		
254	between KM Stone 134 to 158	MEDINIPUR	Regular	160	Open	DC	35	45	1575	25	75	Lots	15	5
	On Left Hand Side of NH 60													
	from Kharagpur to Bisnupur	PASCHIM		(0-0						Draw of	0	3
255	between KM Stone 122 to 139	MEDINIPUR	Regular	160	SC	CFS	35	45	1575	0	0	Lots		
	From Debra Market to													
0.50	Kalyanpur on Left Hand Side	PASCHIM		400	OPEN	50	05	45	4 = = =	05		Draw of	4 -	_
256	on NH6	MEDINIPUR	Regular	160	CC 1	DC	35	45	1575	25	75	Lots	15	5
	On Left Hand site of NH 06											Drawof		
057	from Kharagpur to Bahragora	PASCHIM	Degular	160		DC	9 E	15	1575	0E	75	Draw of	15	F
257	between KM Stone 131 to 140	MEDINIPUR	Regular	160	Open	DC	35	45	1575	25	75	Lots	15	5
	From Makrampur Bazar to													
250	Daharpur Bazar on NH-60		Dogular	160	0.000		9E	15	1575	0 <i>E</i>	75	Draw of	1 5	E
258	between KM Stone 97 to 100	MEDINIPUR	Regular	160	Open	DC	35	45	1575	25	75	Lots	15	5
250	From Thakurchak Bazar to Belda on SH-5		Bogular	130	0000	DC	35	35	1225	25	60	Draw of	15	5
259		MEDINIPUR PASCHIM	Regular	130	Open	DC	30	- 35	1223	20		Lots	15	5
260	From Ashari to Debra on Left Hand Side on NH6	MEDINIPUR	Bogular	160	0000	DC	35	45	1575	25	75	Draw of Lots	15	5
200			Regular	100	Open	DC	30	40	15/5	20	75		10	5
261	From Chandrakona Road to		Bogular	110	0000	DC	25	25	1005	25	60	Draw of	15	5
261	Naya Basat on SH4	MEDINIPUR PASCHIM	Regular	110	Open	DC	35	35	1225	25	60	Lots Draw of	15	5
262	Ashoknagar, Midnapur Town	MEDINIPUR	Regular	110	ST PH	CFS	30	30	900	0	0	Lots	0	3
202				110		010	50	50	300	U		LUIS		

	From Mugbasan Hakkania											1 1		
	High School to Kuai High	PASCHIM										Draw of		
263	School, on SH 7	MEDINIPUR	Regular	110	OBC	DC	35	35	1225	25	60	Lots	15	4
200	From Kuai High School to	PASCHIM	regular	110	000	20	00	00	1220	20	00	Draw of	10	T
264	Keshurgeriya Bridge on SH 7	MEDINIPUR	Regular	110	Open	DC	35	35	1225	25	60	Lots	15	5
204	5 kms from Jhankra Head		rtegulai	110	Орен	00		55	1225	25	00	LOIS	10	5
	Post Office towards	PASCHIM										Draw of		
265	Keshurgeria	MEDINIPUR	Regular	100	Open	DC	30	30	900	25	45	Lots	15	5
205	From Keranitola to ITI	PASCHIM	Regulai	100	Open		30	30	900	25	45	Draw of	15	5
266			Degular	120	SC	050	20	20	000	0	0		0	3
266	Medinipur	MEDINIPUR	Regular	120	50	CFS	30	30	900	0	0	Lots		
007	From Koronitale to Coder Chat	PASCHIM		100	0.000	DC	30	30	000	25	45	Draw of	45	
267	From Keranitola to Sadar Ghat	MEDINIPUR	Regular	120	Open	DC	30	30	900	20	45	Lots	15	5
	From Kaushalya Crossing to													
000	Puratan Bazaar Bus Stop	PASCHIM		400	0	50		00		05	45	Draw of	4 5	_
268	Crossing	MEDINIPUR	Regular	120	Open	DC	30	30	900	25	45	Lots	15	5
	From Panchberia to Kalara													
	on SH4 (Ghatal Panskura	PASCHIM			0.00	5.0	. -	~-	4005			Draw of	. –	
269	Road)	MEDINIPUR	Regular	110	OBC	DC	35	35	1225	25	60	Lots	15	4
	Between Kaushlya Crossing	PASCHIM										Draw of		_
270	and Benapur	MEDINIPUR	Regular	120	Open	DC	30	30	900	25	45	Lots	15	5
	Changual Mouza, on	PASCHIM										Draw of		
271	Kharagpur-Jamna Road	MEDINIPUR	Regular	100	Open	DC	30	30	900	25	45	Lots	15	5
	From Jara to Srinagar Bus	PASCHIM										Draw of		
272	Stand on SH-7.	MEDINIPUR	Regular	110	Open	DC	35	35	1225	25	60	Lots	15	5
	From Srinagar Bus Stand to	PASCHIM										Draw of		
273	Bakcha on SH-7.	MEDINIPUR	Regular	110	Open	DC	35	35	1225	25	60	Lots	15	5
	On Left Hand Side from													
	Paschim Nekra to Ashari on	PASCHIM										Draw of		
274	NH6	MEDINIPUR	Regular	160	Open	DC	35	45	1575	25	75	Lots	15	5
	On Left hand Side of NH60													
	From Chowrangi Crossing to	PASCHIM										Draw of	0	3
275	Kansabati Bridge	MEDINIPUR	Regular	160	SC CC 1	CFS	35	45	1575	0	0	Lots		
	From Ashari to Debra on Right	PASCHIM										Draw of		
276	Hand Side on NH6	MEDINIPUR	Regular	160	Open	DC	35	45	1575	25	75	Lots	15	5
	On Right hand Side of NH 60													
	from Kharagpur to Bisnupur	PASCHIM										Draw of		
277	between KM Stone 152 to 155	MEDINIPUR	Regular	160	Open	DC	35	45	1575	25	75	Lots	15	5
	On Right Hand Side of NH 06		rtogalai	100	opon	20		10		20	10	2010	10	
	from Kolaghat to Kharagpur	PASCHIM										Draw of	0	3
278	between KM Stone 113 to 130	MEDINIPUR	Regular	160	SC	CFS	35	45	1575	0	0	Lots	U	Ŭ
210	From Dharma to Panchkhuri	PASCHIM	rtegului	100	00	010	00	40	1070	•		Draw of		
279	Post Office on SH-7	MEDINIPUR	Regular	110	ST	CFS	35	35	1225	0	0	Lots	0	3
213	From Ghatal to Shibpur on	PASCHIM		110		010			1225	0		Draw of		
280	SH4 (Ghatal Road)	MEDINIPUR	Regular	110	OBC	DC	35	35	1225	25	60	Lots	15	4
200	From Allahabad Bank Kukai			110		00	55	55	1220	25		LUIS	15	+ +
	Branch to Phandar High	PASCHIM										Draw of	0	3
281	School on SH5	MEDINIPUR	Regular	110	SC CC 1	CFS	35	35	1225	0	0	Lots	U	5
201			Regular	110		013	55	55	1220	0		LUIS		
	On Right hand Side of NH 60											Drow of		
000	from Kharagpur to Bisnupur	PASCHIM	Domilar	460	0.000		25	45	1575	05	75	Draw of	4 5	
282	between KM Stone 159 to 179	MEDINIPUR	Regular	160	Open	DC	35	45	1575	25	75	Lots	15	5
	On Left Hand Side of NH 60													
000	from Balasore to Kharagpur	PASCHIM		400			05	45	4575	05		Draw of	A F	_
283	between KM Stone 103 to 118	MEDINIPUR	Regular	160	Open PH	DC	35	45	1575	25	75	Lots	15	5

I	On Right Hand Side of NH 60				1 1				1 1		I			1 1
	from Balasore to Kharagpur	PASCHIM										Draw of		
284	between KM Stone 103 to 114	MEDINIPUR	Regular	160	OPEN	DC	35	45	1575	25	75	Lots	15	5
204	On Right Hand Side of NH 60		regular	100			00		1070	20	10	LOID	10	0
	from Balasore to Kharagpur	PASCHIM										Draw of	0	3
285	between KM Stone 114 to 119	MEDINIPUR	Regular	160	SC	CFS	35	45	1575	0	0	Lots	U U	
	On Left Hand side of NH 60													
	from Kharagpur to Bisnupur	PASCHIM										Draw of	0	3
286	between KM Stone 140 to 179	MEDINIPUR	Regular	160	ST	CFS	35	45	1575	0	0	Lots		
	On SH-5 from Jahalda Bazar													
	to Lalat Bazar between KM	PASCHIM										Draw of		
287	Stone 34 to 40	MEDINIPUR	Regular	100	OBC	DC	35	35	1225	25	60	Lots	15	4
	On SH-5 from Khakurda to													
	Thakurchak between KM	PASCHIM										Draw of	0	3
288	Stone 46 to 52	MEDINIPUR	Regular	100	SC	CFS	35	35	1225	0	0	Lots		
	From Paschim Nekra to Ashari	PASCHIM										Draw of		
289	on Right Hand Side on NH6	MEDINIPUR	Regular	160	OBC	DC	35	45	1575	25	75	Lots	15	4
000	From Golkuan Chak to	PASCHIM		400	OPEN	50	00			05	45	Draw of	4 5	
290	Dharma	MEDINIPUR	Regular	120	CC 1	DC	30	30	900	25	45	Lots	15	5
004	From Adharnayan High	PASCHIM	Desular	110		050	05	05	4005	0	0	Draw of	0	3
291	School to Baharosole on SH-4	MEDINIPUR	Regular	110	SC CC 1	CFS	35	35	1225	0	0	Lots		
202	From Panchkuri Post Office to	PASCHIM MEDINIPUR	Degular	110	SC	CFS	35	35	1225	0	0	Draw of	0	3
292	Amrakuchi on SH 7	PASCHIM	Regular	110	30	613	30	35	1223	0	0	Lots Draw of		
293	Ramjibanpur Municipality Area	MEDINIPUR	Regular	100	SC	CFS	30	30	900	0	0	Lots	0	3
235	Within 7km Radius of	PASCHIM	Ttegulai	100	30	010	50		300	0	0	Draw of		
294	Kharagpur Railway station	MEDINIPUR	Regular	130	OBC	DC	30	30	900	25	45	Lots	15	4
	On Left Hand Side from		rtogalar	100	020	50	00		000	20	10	2010	10	
	Radhamoni to Sonapetya on	PURBA										Draw of		
295	NH 41	MEDINIPUR	Regular	160	OBC	DC	35	45	1575	25	75	Lots	15	4
	From Kolaghat to Deuilia	PURBA										Draw of		
296	(LHS) on NH6	MEDINIPUR	Regular	160	OBC	DC	35	45	1575	25	75	Lots	15	4
	On Left Hand Side from													
	Kasthakhali to Nandkumar on	PURBA										Draw of		
297	NH 41	MEDINIPUR	Regular	160	Open	DC	35	45	1575	25	75	Lots	15	5
	From Sonapetya to Mecheda	PURBA										Draw of		
298	Left Hand Side on NH 41	MEDINIPUR	Regular	160	Open	DC	35	45	1575	25	75	Lots	15	5
	From Heria Bazar to Kalinagar	PURBA										Draw of		
299	Bridge on NH-116B	MEDINIPUR	Regular	160	Open	DC	35	45	1575	25	75	Lots	15	5
000	From Chandipur Bazar to	PURBA		400		50	05	45	4575	05	75	Draw of	4 5	_
300	Heria More on NH-116 B	MEDINIPUR	Regular	160	Open	DC	35	45	1575	25	75	Lots	15	5
301	From Chaowlkhola Bazar to Balisai Bazar on NH-116B	PURBA MEDINIPUR	Degular	160	Onon	DC	35	45	1575	25	75	Draw of Lots	15	5
301	From Chaitanyapur to	WEDINFUR	Regular	100	Open	DC	30	45	1575	20	75	LOIS	15	5
	Lakshya on Haldia - Tamluk -	PURBA										Draw of		
302	Mecheda road	MEDINIPUR	Regular	110	Open	DC	35	35	1225	25	60	Lots	15	5
002	From Brajlalchawk to			110		50	00			20			10	
	Balughata Market on	PURBA										Draw of		
303	Balughata Road	MEDINIPUR	Regular	120	Open	DC	30	30	900	25	45	Lots	15	5
	From Nandkumar to Nimtouri	PURBA										Draw of		
304	on Right Hand Side on NH 41	MEDINIPUR	Regular	160	Open	DC	35	45	1575	25	75	Lots	15	5
	within 5 km radius of Tamluk	PURBA										Draw of		
305	DM office (Not on SH)	MEDINIPUR	Regular	110	Open	DC	30	30	900	25	45	Lots	15	5
					I									

	From Radhamoni to				1 1	1	1	I			1	1	1	1
	Sonapetya on Right Hand	PURBA										Draw of	0	3
306	Side on NH 41	MEDINIPUR	Regular	160	SC	CFS	35	45	1575	0	0	Lots	0	5
500	From Kasthakhali to		TCgulai	100		010			1575	0				
	Nandkumar on Right Hand	PURBA										Draw of		
307	Side on NH 41	MEDINIPUR	Regular	160	OBC	DC	35	45	1575	25	75	Lots	15	4
507	From Contai Digha Bypass to	PURBA	Ttegulai	100				43	1575	25	15	Draw of	15	
308	Mahishagot on NH-116 B	MEDINIPUR	Poqular	160	Open	DC	35	45	1575	25	75	Lots	15	5
300	From Fatehpur to Digha on	PURBA	Regular	100	Open			45	1575	20	15	Draw of	15	5
309	NH-116 B	MEDINIPUR	Degular	160	OBC	DC	35	45	1575	25	75	Lots	15	1
309			Regular	100			35	40	1575	20	10		15	4
210	On Right Hand Side from		Degular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
310	Kolaghat to Deuilia on NH6	MEDINIPUR	Regular	100			35	40	1575	20	10	LOIS	15	4
	On Left Hand Side from													
	Manjushree to City Centre on											Draw of		
244	HP Link Road or City centre Industrial Road,	PURBA MEDINIPUR	Degular	100	OBC	DC	30	20	000	25	45	Draw of	15	4
311	,	MEDINIPUR	Regular	120	UBC	DC	30	30	900	20	45	Lots	15	4
	From Manjushree to Sutahata													
040	on Haldia - Tamluk - Mecheda	PURBA		440			05	05	4005	05	00	Draw of	4.5	
312	road (SH-4)	MEDINIPUR	Regular	110	Open	DC	35	35	1225	25	60	Lots	15	5
	From Sutahata to													
	Chaitanyapur on Haldia -												0	3
040	Tamluk - Mecheda Road (SH-	PURBA		440		050	0.5	0.5	4005	•		Draw of	-	
313	4)	MEDINIPUR	Regular	110	SC	CFS	35	35	1225	0	0	Lots		<u> </u>
	From Mahisadal to													
	Machlandapur on Haldia -													
	Tamluk - Mecheda Road (SH-	PURBA			OBC CC	5.0			1005			Draw of		
314	4)	MEDINIPUR	Regular	110	1	DC	35	35	1225	25	60	Lots	15	4
	From Tarangakhali to													
	Mecheda on Haldia - Tamluk -	PURBA				5.0						Draw of		
315	Mecheda Road	MEDINIPUR	Regular	110	OBC	DC	30	30	900	25	45	Lots	15	4
	From Kapasaria to Mahishadal	PURBA		100		5.0						Draw of		_
316	on Teropekhya Road	MEDINIPUR	Regular	120	Open	DC	30	30	900	25	45	Lots	15	5
	From Deuilia to Mechogram	PURBA										Draw of		_
317	on Right Hand Side on NH6	MEDINIPUR	Regular	160	Open	DC	35	45	1575	25	75	Lots	15	5
	From City centre to													
	Brajlalchak on Left Hand Side	PURBA										Draw of		
318	on NH 41	MEDINIPUR	Regular	160	Open	DC	35	45	1575	25	75	Lots	15	5
	On Left Hand Side of NH 41													
	from Brajlalchak to													
	Kasthakhali between KM	PURBA										Draw of		
319	Stone 42 to 39	MEDINIPUR	Regular	230	Open	DC	35	45	1575	25	75	Lots	15	5
	From Brajlalchak to	_					1	1						
	Kasthakhali on Right Hand	PURBA										Draw of		
320	Side on NH 41	MEDINIPUR	Regular	160	OBC	DC	35	45	1575	25	75	Lots	15	4
	From Marishda Bazar to	PURBA										Draw of		
321	Contai on NH-116 B	MEDINIPUR	Regular	160	OBC	DC	35	45	1575	25	75	Lots	15	4
	From Mechogram to Paschim													
	Nekra on Right Hand Side on	PURBA					1	1				Draw of	ļ	
322	NH6	MEDINIPUR	Regular	160	Open	DC	35	45	1575	25	75	Lots	15	5
	On SH-5 from Egra-Digha	PURBA										Draw of		
323	More to Jahalda Bazar	MEDINIPUR	Regular	100	Open	DC	35	35	1225	25	60	Lots	15	5
	From Atberia to Fakirganj on	PURBA	Ι Τ		Ι Τ	7	1	1				Draw of		1
324		MEDINIPUR	Regular	110	Open	DC	35	35	1225	25	60	Lots	15	5

	From Manjushree to City													
	Centre on Right Hand Side on													
	HP Link Road or City Centre	PURBA			OBC CC							Draw of	. –	
325	Industrial Road.	MEDINIPUR	Regular	120	1	DC	30	30	900	25	45	Lots	15	4
	From Fakirganj to Rajhati on	PURBA										Draw of		
326	SH4	MEDINIPUR	Regular	110	Open	DC	35	35	1225	25	60	Lots	15	5
	From Radhamoni to	PURBA										Draw of		
327	Padumbasan on SH4	MEDINIPUR	Regular	110	OBC	DC	35	35	1225	25	60	Lots	15	4
	On Left Hand Side on													
	Mechogram -Ghatal Road at													
	Jiakhali, while going from	PURBA										Draw of		
328	Mechogram towards Ghatal	MEDINIPUR	Regular	110	Open	DC	35	35	1225	25	60	Lots	15	5
	From Radhaballvpur to													
	Tarangakhali on Haldia -	PURBA										Draw of		
329	Tamluk - Mecheda Road	MEDINIPUR	Regular	110	Open	DC	30	30	900	25	45	Lots	15	5
	From Teropekiya More to	PURBA										Draw of		
330	Rumbag Bus Stop on SH-4	MEDINIPUR	Regular	110	Open	DC	35	35	1225	25	60	Lots	15	5
000	From CPT Market to		regular	110		00	00			20	00	2010	10	
	Manjushree on Durgachak	PURBA			OPEN							Draw of		
331	Road	MEDINIPUR	Regular	120	CC 1	DC	30	30	900	25	45	Lots	15	5
551	From Bamunia to Keshabpur	PURBA	Tregulai	120	001	DC		- 30	900	23	43	Draw of	15	J
222		MEDINIPUR	Degular	120	OBC	DC	30	30	900	25	45		15	1
332	on Teropekhya road	MEDINIPUR	Regular	120	OBC	DC	30	30	900	20	45	Lots	15	4
	From Machlandapur to													
	kumarara on Haldia - Tamluk -	PURBA			OPEN	5.0			4005	<u>-</u>		Draw of		_
333	Mecheda Road	MEDINIPUR	Regular	110	CC 1	DC	35	35	1225	25	60	Lots	15	5
	From Mechogram to Paschim													
	Nekra on Panskura Puraton	PURBA										Draw of		
334	Bazar Road (old NH6).	MEDINIPUR	Regular	160	Open	DC	35	45	1575	25	75	Lots	15	5
	From Nachinda to Marishda	PURBA										Draw of		
335	on NH-116 B	MEDINIPUR	Regular	160	OBC	DC	35	45	1575	25	75	Lots	15	4
	From Kalinagar Bridge to Maa	PURBA										Draw of		
336	Nachinda Temple on NH-116B	MEDINIPUR	Regular	160	Open	DC	35	45	1575	25	75	Lots	15	5
	On Left Hand Side from				· ·									
	Nandkumar to Nimtouri on NH	PURBA										Draw of		
337	41	MEDINIPUR	Regular	160	Open	DC	35	45	1575	25	75	Lots	15	5
	On Right Hand Side from													
	Nimtouri to Radhamoni on NH	PURBA										Draw of		
338	41	MEDINIPUR	Regular	160	OBC PH	DC	35	45	1575	25	75	Lots	15	4
000	On Right Hand Side from			100		50	00			20	10		10	+
	Sonapetya to Mecheda on	PURBA			OBC CC							Draw of		
339	NH 41	MEDINIPUR	Regular	160		DC	35	45	1575	25	75	Lots	15	4
009	On Left Hand Side from			100	+ 1	00		J	1313	20	13		15	+
		PURBA										Drow of		
240	Nimtouri to Radhamoni on NH		Domina	460			25	45	1575	05	75	Draw of	4 5	
340	41 On Dight Lland Side from	MEDINIPUR	Regular	160	Open	DC	35	45	1575	25	75	Lots	15	5
	On Right Hand Side from												<u>^</u>	
	Mecheda to Kolaghat on NH	PURBA		400		050	05		4	~		Draw of	0	3
341	41	MEDINIPUR	Regular	160	SC PH	CFS	35	45	1575	0	0	Lots		
	On Left Hand Side from	PURBA										Draw of		
342	Deuilia to Mechogram on NH6	MEDINIPUR	Regular	160	Open	DC	35	45	1575	25	75	Lots	15	5
	On Left Hand Side from													
	Mecheda to Kolaghat on NH	PURBA										Draw of		
343	41	MEDINIPUR	Regular	160	OBC	DC	35	45	1575	25	75	Lots	15	4
	From Rajhati to Radhamoni on	PURBA										Draw of		
344	SH4	MEDINIPUR	Regular	110	OBC	DC	35	35	1225	25	60	Lots	15	4
	- · ·												• •	'

	From Kolsar to Daksin	PURBA									1	Draw of		
345	Srikrishnapur on SH4	MEDINIPUR	Regular	110	Open	DC	35	35	1225	25	60	Lots	15	5
0.0	From Mahishagot to	PURBA			open							Draw of		
346	Pichabani Bridge on NH-116B	MEDINIPUR	Regular	160	SC	CFS	35	45	1575	0	0	Lots	0	3
	From City Centre to Haldia	PURBA								•		Draw of		
347	Township on Haldia Mall Road	MEDINIPUR	Regular	120	Open PH	DC	30	30	900	25	45	Lots	15	5
	Between Alifnagar Fire Station				1									
	to Sultan Park on Karl Mark											Draw of	0	3
348	Sarani	KOLKATA	Regular	160	SC	CFS	20	20	400	0	0	Lots		
	On BT Road from Tobin Road											Draw of		
349	to Bonhooghly.	KOLKATA	Regular	200	OBC	DC	20	20	400	25	60	Lots	15	4
	Between Kalikapur Crossing													
	and Patuli Crossing on													
	E.M.Bypass (Left Hand Side													
	while going towards Garia											Draw of		
350	from Kalikapur Crossing	KOLKATA	Regular	250	Open	DC	20	20	400	25	60	Lots	15	5
	From New Alipore Crossing to													
	RSV Hospital on Tollygauge											Draw of	. –	
351	Circular Road on both sides	KOLKATA	Regular	150	OBC	DC	20	20	400	25	60	Lots	15	4
	Between Kasba Rathtala Mini													
0.50	Bus Stand and Haltu Post			400		050				0		Draw of	0	3
352	office on Purba Pally Road	KOLKATA	Regular	160	SC	CFS	20	20	400	0	0	Lots		
	From crossing of Garden													
	Reach Road and Satya Doctor													
	Road within 2 Kms on Satya											Drawof		
252	doctor Road towards South		Degular	100	OBC	DC	20	20	400	25	60	Draw of	15	4
353	Port Police Station	KOLKATA	Regular	180	OBC	DC	20	20	400	25	60	Lots	15	4
354	Kankurgachi	KOLKATA	Bogular	250	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
554	Ruby More to Parama	NULNATA	Regular	200		DC	20	20	400	25	00	LOIS	15	4
	Crossing (on Right Hand Side				OPEN							Draw of		
355		KOLKATA	Regular	400	CC 1	DC	20	20	400	25	60	Lots	15	5
000	Ruby More to Parama	ROLIVIII	rtegulai	400	001	00	20	20		20	00	LOIS	10	5
	Crossing (on Left Hand Side											Draw of		
356	of EM Bypass)	KOLKATA	Regular	350	Open	DC	20	20	400	25	60	Lots	15	5
	Mahabirtala temple to Siriti				open							Draw of		
357	more on BL Saha road	KOLKATA	Regular	180	SC CC 1	CFS	20	20	400	0	0	Lots	0	3
	On Anandapur Main Road and													
	Between Ruby crossing and											Draw of		
358	Anandapur bridge	KOLKATA	Regular	200	OBC	DC	20	20	400	25	60	Lots	15	4
	From Jinjhira Bazar to													
	Maheshtala Post Office on											Draw of	0	3
359	Budge Budge Trunk Road	KOLKATA	Regular	250	SC CC 1	CFS	20	20	400	0	0	Lots		
	On Chandra Nath Roy													
	Road/Chowbaga Road till													
	Topsia Road from EM Bypass											Draw of		
360	Crossing.	KOLKATA	Regular	250	OBC	DC	20	20	400	25	60	Lots	15	4
	On Dhapa Road from EM											Draw of	0	3
361	Bypass to Dhapa Market	KOLKATA	Regular	250	SC	CFS	20	20	400	0	0	Lots	U	J
	On Anandpur high road and													
	Beween Kalikapur crossing				OBC CC							Draw of		
362	and chowbaga crossing	KOLKATA	Regular	200	1	DC	20	20	400	25	60	Lots	15	4
	Between Dhalai Bridge to					F	~~			~-		Draw of		_
363	Gangajoara on Gangajoara	KOLKATA	Regular	156	Open	DC	20	20	400	25	60	Lots	15	5

	Road													
364	Between Pragati Maidan to Bamanghata Bazar on Basanti Highway	SOUTH 24 PARGANAS	Peqular	108	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
304	From EM Bypass to Jadavpur PS on Left Hand Side on Prince Anwar Shah	FARGANAS	Regular	100	Open				1225	23	00	Draw of	10	
365	Connector.	KOLKATA	Regular	180	Open	DC	20	20	400	25	60	Lots	15	5
366	From Chakdah Chowmatha to Payradanga on NH34	NADIA	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
0.07	Between Km Stone 104 & 107 on NH-34 on Left Hand Side while going from Kolkata			470	0.50	50	05	45	4575	05	75	Draw of	45	
367	towards Behrampur Between Km Stone 71 to 75	NADIA	Regular	170	OBC	DC	35	45	1575	25	75	Lots	15	4
368	on NH-34 from Kolkata towards Habibpur(Left Hand Side)	NADIA	Regular	220	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
369	Between Km Stone 125 & 138 on NH-34 on Left Hand Side while going from Kolkata towards Behrampur	NADIA	Regular	170	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
309	Between Km Stone 145 and	INAUIA		170		00	30	40	1373	20	15	LUIS	10	5
370	150 on NH-34 (Left Hand Side) from Dhubulia to Plassey.	NADIA	Regular	170	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Between Km Stone 158 to 165 on NH-34(Left Hand Side) (from Krishnanagar towards											Draw of		
371	Berhampur)	NADIA	Regular	174	Open	DC	35	45	1575	25	75	Lots	15	5
372	Within 3.5 KM from Gourango Setu towards Krishnanagar on Left Hand Side of SH-8	NADIA	Regular	150	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
373	Within 3 KM from Ghurni Godown More towards Karimpur on SH-11(Left Hand Side)	NADIA	Regular	108	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Between Kamgachi Level crossing to Birnagar Level crossing on SH-11 (Left Hand											Draw of		
374	Side)	NADIA	Regular	160	Open	DC	35	35	1225	25	60	Lots	15	5
375	Shantipur Town	NADIA	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
376	Kalyani More to 7 no More on Kalyani connector. Road	NADIA	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
377	Krishnagar Town	NADIA	Regular	110	Open	DC	30	30	900	25	45	Draw of Lots	15	5
378	Between Jalalkhali to Badkulla on SH-11	NADIA	Regular	104	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
379	Between Buddhapark and JIS College on Barrackpore Kalyani Expressway	NADIA	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3

380	Between KM Stone 61 and 65 on NH-34 (on Left Hand Side while going from Barasat towards Chakdah)	NADIA	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
381	Fulia Town	NADIA	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
382	Between Muraghachha & Birohi on NH-34 (Left Hand Side from Barasat to Chakdah)	NADIA	Regular	154	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
383	Chotoandulia bus stop to Hatra Bazar on Krishnanagar Karimpur Road	NADIA	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
384	Between KM Stone 115 and 120 on NH34 (on Right Hand Side while going from Krishnagar towards Plassey)	NADIA	Regular	154	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
005	Between KM Stone 125 and 135 on NH34 (on Right Hand Side while going from			454		50	05	45	4575	05	75	Draw of	45	-
385 386	Krishnagar towards Plassey) Within 3.5 KM from Road Station towards Nabadwip on SH-8	NADIA	Regular	154 150	Open OBC	DC DC	35 35	45 35	1575	25 25	60	Lots Draw of Lots	15 15	5
387	Between KM Stone 46 and 51 on NH-34 (on Right Hand Side while going from Barasat towards Chakdah)	NADIA	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
388	Between KM Stone 158 and 165 on NH34 (on Right Hand Side while going from Krishnagar towads Behrampur)	NADIA	Regular	144	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
389	Kalyani Town	NADIA	Regular	100	OBC CC	DC	30	30	900	25	45	Draw of Lots	15	4
390		NADIA		100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
391	Ranaghat Town (not on NH) Betweem Km stone 40 and 50 on NH-34 from Kolkata towards Krishnanagar(Left Hand Side)	NADIA	Regular	158	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Boyarmari on Basanti	NORTH 24			•							Draw of	0	3
392 393	Highway On Haroa Road & within 4km from Dhanpota Bazar towards Haroa.	PARGANAS NORTH 24 PARGANAS	Regular	108 104	SC Open	CFS DC	35 35	35 35	1225	025	0 60	Lots Draw of Lots	15	5
394	Within 3 Km from Chapadali More on Jessore road (Right Hand Side) towards Bongaon	NORTH 24 PARGANAS	Regular	158	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
395	Between Madhyamgram chowk to Muragachha more on Left hand side	NORTH 24 PARGANAS NORTH 24	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
396	Between Bongaon to Helencha on SH-3(Right Hand	PARGANAS	Regular	108	Open	DC	35	35	1225	25	60	Draw of Lots	15	5

	Side)													
	Between Km stone 16 to 18													
	on NH-35 from Ashoknagar	NORTH 24			_							Draw of		
397	towards Guma	PARGANAS	Regular	156	Open	DC	35	45	1575	25	75	Lots	15	5
	Between Beliaghata bridge	NODTUOA												
200	and Berachampa more on SH-	NORTH 24	Degular	110	Onen	DC	25	25	1005	25	60	Draw of	15	_
398	2 Within 5 Km from Chinar Park	PARGANAS	Regular	110	Open	DC	35	35	1225	25	60	Lots	15	5
	crossing on Rajarhat Main													
	Road towards Rajarhat (either	NORTH 24										Draw of		
399	side).	PARGANAS	Regular	220	Open	DC	20	20	400	25	60	Lots	15	5
	Between Birati & Belghoria on	NORTH 24					_•					Draw of		
400	Madhusudhan Road	PARGANAS	Regular	100	OBC	DC	30	30	900	25	45	Lots	15	4
	From Jagardanga towards													
	Madhyamgram on Jagardanga	NORTH 24										Draw of		
401	Madhyamgram Road	PARGANAS	Regular	180	Open	DC	20	20	400	25	60	Lots	15	5
	Baduria to Bagjola on Basirhat	NORTH 24		(~ -			-		Draw of	0	3
402	Road (SH 03)	PARGANAS	Regular	138	SC	CFS	35	35	1225	0	0	Lots	-	
	Within 4 km from Anandnagar											Draw of		
403	Chowmatha on Kalyani	NORTH 24 PARGANAS	Bogular	168	Open	DC	30	30	900	25	45	Draw of Lots	15	5
403	Expressway towards Birati Between Basirhat and Taki on	NORTH 24	Regular	100	Open	DC	30	- 30	900	25	45	Draw of	10	5
404	Taki Road	PARGANAS	Regular	100	OBC	DC	35	35	1225	25	60	Lots	15	4
-10-1	Ultadanga to Airport on VIP	NORTH 24	rtegulai	100	000	00	00	00		20	00	Draw of		
405	Road	PARGANAS	Regular	250	SC	CFS	20	20	400	0	0	Lots	0	3
	Between Kampa More and									_				
	Jaunpur More on Barrackpore	NORTH 24										Draw of		
406	Kalyani Expressway	PARGANAS	Regular	104	OBC	DC	30	30	900	25	45	Lots	15	4
	Between Bhatpara More and	NORTH 24										Draw of		
407	Garifa on Ghosh Para Road	PARGANAS	Regular	100	Open	DC	35	35	1225	25	60	Lots	15	5
100	Duttapukur to Guma on	NORTH 24		150	0.50	50	. -					Draw of		
408	Jessore Road	PARGANAS	Regular	150	OBC	DC	35	45	1575	25	75	Lots	15	4
	WBHIDCO Bhawan(New	NORTH 24										Drow of	0	3
409	Town) towards Rajarhat Main Road via Akankha More.	PARGANAS	Pequiar	280	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
409	Between Bakchara Bazar and	IANGANAS	Regular	200			20	20	+00	U				+
	Gaighata Bazar on NH35	NORTH 24										Draw of		
410	(Jessore Road)	PARGANAS	Regular	154	OBC	DC	35	45	1575	25	75	Lots	15	4
	Between Garifa and	-												
	Kanchrapara Bagmore on	NORTH 24										Draw of		
411	Ghosh Para Road	PARGANAS	Regular	100	OBC	DC	35	35	1225	25	60	Lots	15	4
	Betweem Barasat Colony											Τ		
	More & Dakbunglow More on	NORTH 24					~ -			~ -		Draw of	<i>. –</i>	
412	NH-34	PARGANAS	Regular	150	OBC	DC	35	45	1575	25	75	Lots	15	4
	Within 2 Km from Airport Gate													
413	No 3 on Belghoria	NORTH 24 PARGANAS	Degular	190	Open	DC	20	20	400	25	60	Draw of Lots	15	5
413	Expressway towards Dankuni Between Barrackpore Chiria	FARGANAS	Regular	190	Open		20	20	400	20	00		10	D
	More and Ichhapore Maniktala	NORTH 24										Draw of		
414	More on Ghosh Para Road	PARGANAS	Regular	100	OBC	DC	35	35	1225	25	60	Lots	15	4
											+			+ <u>·</u>
		NORTH 24			OPEN							Draw of		

	Between Panpur More and													
	Rathtala on Kankinara Station	NORTH 24										Draw of		
416	Road	PARGANAS	Regular	100	OBC PH	DC	30	30	900	25	45	Lots	15	4
	Muragacha to Birati on Dum	NORTH 24										Draw of		
417	Dum-Barrackpore Expressway	PARGANAS	Regular	136	OBC	DC	30	30	900	25	45	Lots	15	4
	Pinkal More to Garulia													
	Municipality on Garulia Main	NORTH 24										Draw of		
418	Road	PARGANAS	Regular	100	Open	DC	30	30	900	25	45	Lots	15	5
	On Road connection Dum													
	Dum Cantonment to													
	B.T.Road (Baranagar State	_												
	Genral Hospital) via Old	NORTH 24										Draw of		
419	Cannon and Bediaapra.	PARGANAS	Regular	230	OBC	DC	20	20	400	25	60	Lots	15	4
	Basudevpur more to	NORTH 24			OPEN	_						Draw of		
420	shyamnagar crossing	PARGANAS	Regular	100	CC 1	DC	30	30	900	25	45	Lots	15	5
		NORTH 24										Draw of	0	3
421	New Town to Parama crossing	PARGANAS	Regular	350	ST	CFS	20	20	400	0	0	Lots	•	Ŭ
	From Dunlop more to													
	Sodepore (on BT Road) on	NORTH 24			OPEN							Draw of	. –	_
422	Right Hand Side	PARGANAS	Regular	260	CC 1	DC	20	20	400	25	60	Lots	15	5
	Feeder Road between	NORTH 24				<u></u>						Draw of	0	3
423	Belghoria station and BT Road	PARGANAS	Regular	220	SC	CFS	20	20	400	0	0	Lots	•	
	Chingrighata to WIPRO	NORTH 24										Draw of	. –	
424	Crossing	PARGANAS	Regular	330	OBC	DC	20	20	400	25	60	Lots	15	4
	From Sodepore More to													
	Barrackpore (on BT Road) on	NORTH 24			OBC CC	5.0						Draw of		
425	Right Hand Side	PARGANAS	Regular	280	1	DC	20	20	400	25	60	Lots	15	4
	Between Ultadanga and Salt	NORTH 24			OPEN							Draw of	. –	_
426	Lake Stadium on EM Byepass	PARGANAS	Regular	400	CC 2	DC	20	20	400	25	60	Lots	15	5
	Panpur More to Halisahar												•	
	Panchmatha More on Kalyani-	NORTH 24				<u></u>						Draw of	0	3
427	Barrackpore Express Way	PARGANAS	Regular	100	ST	CFS	30	30	900	0	0	Lots		
	Kazipara to Bamunmura on													
	Barasat-Basirhat Road (Left	NODTUOA												
400	Hand Side from Barasat	NORTH 24		404	0.00	50	25	05	4005	05		Draw of	45	
428	towards Basirhat)	PARGANAS	Regular	104	OBC	DC	35	35	1225	25	60	Lots	15	4
400	Between Kholapota to Maynali	NORTH 24		100	0	50	25	05	4005	05		Draw of	45	
429	on Taki Road	PARGANAS	Regular	100	Open	DC	35	35	1225	25	60	Lots	15	5
420	Within2 km from Katakhali	NORTH 24	Deculer	100	OPEN	DC	20	20	600	25	45	Draw of	15	F
430	bridge towards katiahat	PARGANAS	Regular	100	CC 1	DC	30	20	600	25	45	Lots	15	5
	From Dunlop more to											Draw of	0	2
424	Sodepore (on BT Road) on	NORTH 24	Degular	260	SC CC 1	CFS	20	20	400	0	0	Draw of	0	3
431	LHS	PARGANAS	Regular	260	SC CC 1	CF2	20	20	400	0	0	Lots		
	From Sodepore more to	NORTH 24										Draw of	0	3
432	Barrackpore (on BT Road) on Left Hand Side	PARGANAS	Degular	280	SC	CFS	20	20	400	0	0	Lots	0	3
432		FARGANAS	Regular	200	30	013	20	20	400	0	0	LOIS		
	Within 2Km from Rajarhat Chowmatha towards Haroa on	NORTH 24										Drow of		
433	Rajarhat-Belighata Road	PARGANAS	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
+55		SOUTH 24	Regular	150			20	20	400	20		Draw of	10	5
434	Achipur on BBT Road	PARGANAS	Regular	108	Open	DC	30	30	900	25	45	Lots	15	5
404	Between Kamalgazi to	FAILGAINAG	Regular	100			30	- 30	900	20	40	LUIS	15	5
	Dakshin Jagaddal on EM	SOUTH 24										Draw of		
435	bypass extension(Right Hand	PARGANAS	Regular	108	Open	DC	30	30	900	25	45	Lots	15	5
-100	bypass extension(r tight r land		rtegulai	100	Open	50	50	00	000	20		LOIS	15	5

	Side)													
	From Chalquintala Dark to	SOUTH 24										Drow of		
436	From Shakuntala Park to Dakghar	PARGANAS	Bogular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
430	Behala Chowrasta to 3A bus	FARGANAS	Regular	150	Open		20	20	400	25	00	LUIS	15	5
	stand, Thakurpukur on Left	SOUTH 24										Draw of		
437	Hand Side of NH 117	PARGANAS	Regular	150	OBC	DC	20	20	400	25	60	Lots	15	4
437	Bata Chowk to Chorial more	FARGANAS	Regulai	150	OBC	DC	20	20	400	25	00	LUIS	15	4
	on Left Hand Side of Budge	SOUTH 24										Draw of		
438	Budge Trunk Road	PARGANAS	Degular	150	Onon	DC	20	20	400	25	60	Lots	15	5
430	Taratola to Behala chowrasta	SOUTH 24	Regular	150	Open	DC	20	20	400	25	00		15	5
439	on NH117	PARGANAS	Poqular	156	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
439	From James Long Sarani	FARGANAS	Regular	150	30	053		45	1575	0	0	LUIS		
	Crossing to Siriti More on Raja	SOUTH 24										Draw of		
440		PARGANAS	Degular	150	OBC	DC	20	20	400	25	60	Lots	15	4
440	Rammohan Roy Road.	SOUTH 24	Regular	150	UBC	DC	20	20	400	20	00	Draw of	15	4
441	From Amtala to Boys town on Left Hand Side of NH 117	PARGANAS	Degular	158	Open	DC	35	45	1575	25	75	Lots	15	5
441		SOUTH 24	Regular	150	Open	DC		45	1575	25	75	Draw of	15	5
442	Between Kapathat to Sarisa on NH117	PARGANAS	Degular	158	OBC	DC	35	45	1575	25	75	Lots	15	4
442	From Dhuri to Hospital More	SOUTH 24	Regular	150	OBC	DC		45	1575	25	75	Draw of	15	4
443		PARGANAS	Degular	108	Onon	DC	35	35	1225	25	60	Lots	15	5
443	on Basanti Highway	FARGANAS	Regular	100	Open	DC			1225	25	00	LOIS	15	5
	Between Kamalgazi to													
	Dakshin Jagaddal on EM													
444	Bypass extension on Left	SOUTH 24	Decular	100	Onen	<u> </u>	30	20	000	25	10	Didding	20	F
444	Hand side	PARGANAS	Regular	108	Open	CC	30	30	900	25	10	Bidding	30	5
	Between Dakshin Jagaddal to													
115	Baruipur on EM bypass	SOUTH 24	Decular	100	Onen	сс	20	20	000	25	10	Didding	20	F
445	extension(Right Hand Side)	PARGANAS	Regular	108	Open		30	30	900	25	10	Bidding	30	5
	Between Banglar More to											Drow of		
146	Baharu on Baruipur-Kulpi	SOUTH 24	Decular	100	Onen		25	25	1005	25	60	Draw of	15	F
446		PARGANAS	Regular	120	Open	DC	35	35	1225	25	60	Lots	15	5
447	Between Karbala More to	SOUTH 24	Degular	109	80	050	25	25	1005	0	0	Draw of	0	3
447	Lakshmi Kantapur	PARGANAS	Regular	108	SC	CFS	35	35	1225	0	0	Lots		
	Bata Chowk to Chorial more	SOUTH 24										Drow of		
110	on Right Hand Side of Budge		Decular	150	OBC	DC	20	20	400	25	60	Draw of	15	4
448	Budge Trunk Road	PARGANAS	Regular	150	OBC	DC	20	20	400	25	60	Lots	15	4
140	Nomkhana an NU1117	SOUTH 24	Decular	150	SC	050	25	45	1575	0	0	Draw of	0	3
449	Namkhana on NH117	PARGANAS	Regular	150	50	CFS	35	45	1575	0	0	Lots		
	Between 4 km from Bhangore											Drow of		
150	1 BDO Office towards	SOUTH 24 PARGANAS	Bogular	108	OBC	DC	35	35	1225	25	60	Draw of	15	л
450	Bhojerhat on Basanti Highway		Regular	108			30	30	1220	20	60	Lots	15	4
151	Kulpi to Kashinggar an NU 1447	SOUTH 24	Deculer	150		000	25	15	1575	0		Draw of	0	3
451	Kulpi to Kashinagar on NH117	PARGANAS	Regular	150	SC	CFS	35	45	1575	0	0	Lots		
450	Joka ta Dhasa an NUL 447	SOUTH 24	Domilar	151		050	25	45	1575	0		Draw of	0	3
452	Joka to Bhasa on NH-117	PARGANAS	Regular	154	SC	CFS	35	45	1575	0	0	Lots		
450	Between Surjyapur to Banglar	SOUTH 24	Domilar	100	SC	050	25	25	1000	0		Draw of	0	3
453	More on Baruipur- Kulpir Road	PARGANAS	Regular	120	50	CFS	35	35	1225	0	0	Lots		
A T A	Kabardanga to Karunamoyee	SOUTH 24	Demilar	150	0			00	400	05	00	Draw of	45	-
454	crossing on M.G.Road	PARGANAS	Regular	150	Open	DC	20	20	400	25	60	Lots	15	5
455	Diamond Harbour to Kulpi on	SOUTH 24		400	0		0.5	45	4535	05		Draw of	4 5	_
455	NH117	PARGANAS	Regular	160	Open	DC	35	45	1575	25	75	Lots	15	5
450	Fatehpur to Banganagar	SOUTH 24		470	0		05	45		05		Draw of	4 5	_
456	Crossing on NH-117	PARGANAS	Regular	170	Open	DC	35	45	1575	25	75	Lots	15	5

457	Between Joka to Hanspukur connector	SOUTH 24 PARGANAS	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	From Bakultala crossing to		rtegalai	100	00		00	00		Ū	0	2013		
	18C bus stop on Jadav Ghosh	SOUTH 24										Draw of		
458	Road / Sarsuna Main Road	PARGANAS	Regular	150	OBC	DC	20	20	400	25	60	Lots	15	4
	Ayodhyanagar to Sirakole on	SOUTH 24					-			_		Draw of		
459	NH 117	PARGANAS	Regular	156	SC	CFS	35	45	1575	0	0	Lots	0	3
	From James long crossing to													
	Muchipara on Motilal Gupta	SOUTH 24												
460	Road	PARGANAS	Regular	160	OBC	CC	20	20	400	25	10	Bidding	30	4
	Kakdwip on NH117 (Between	SOUTH 24										Draw of		
461	KM Stone 96 & 100)	PARGANAS	Regular	170	OBC	DC	35	45	1575	25	75	Lots	15	4
		SOUTH 24										Draw of		
462	Baruipur Town	PARGANAS	Regular	108	OBC	DC	30	30	900	25	45	Lots	15	4
		SOUTH 24										Draw of		
463	James Long Sarani	PARGANAS	Regular	150	Open	DC	20	20	400	25	60	Lots	15	5
	Between Dakshin Jagaddal to													
	Baruipur on EM bypass	SOUTH 24										Draw of		
464	extension(Left Hand Side)	PARGANAS	Regular	108	Open	DC	20	20	400	25	45	Lots	15	5
	Within 5 KM from Jateswar													
	Primary Healthcare Centre on											Draw of	0	3
465	NH-31(New NH17)	ALIPURDUAR	Regular	150	SC	CFS	35	45	1575	0	0	Lots		
	Chakchaka Surya Sen													
	Primary School, Sonapur to													
	Raichenga Post Office on											Draw of		
466	NH31-D (New NH27)	ALIPURDUAR	Regular	150	Open	DC	35	45	1575	25	75	Lots	15	5
	Within 4 km of Kalchini													
	Krishak Bazaar in Dakshin													
	Satali on NH31C (New											Draw of		
467	NH317)	ALIPURDUAR	Regular	155	OBC	DC	35	45	1575	25	75	Lots	15	4
	Upto 5KM from Sarabindu													
	Colony More on left hand side													
	of proposed NH31D (New												0	3
	NH27) while moving towards											Draw of		
468	Ghargharia	ALIPURDUAR	Regular	155	SC	CFS	35	45	1575	0	0	Lots		
	Within 5 KM from Dudua													
	Bridge approach towards													
	Falakata on Left Hand Side of											Draw of		
469	proposed NH31D (New NH27)	ALIPURDUAR	Regular	150	Open	DC	35	45	1575	25	75	Lots	15	5
	Upto 5KM from Sarabindu													
	Colony More on Right Hand													
	Side of proposed NH31D													
	(New NH27) while moving											Draw of		
470	towards Ghargharia	ALIPURDUAR	Regular	150	Open	DC	35	45	1575	25	75	Lots	15	5
	Sisubari More to Birpara													
	Chowpatty on NH 31C (New			/=-			~ -			~-		Draw of		
471	NH317)	ALIPURDUAR	Regular	150	Open	DC	35	45	1575	25	75	Lots	15	5
	Within 8KM from Parokata													
	High school towards Guabari													
	Toll Plaza on Right Hand Side			/=-			~ -			~-		Draw of		
472	of NH31C (New NH27)	ALIPURDUAR	Regular	150	Open	DC	35	45	1575	25	75	Lots	15	5
	Alipurduar Town (Within													
470	Municipality Limit- Not on			440			00			05	45	Draw of	4 5	_
473	SH/NH)	ALIPURDUAR	Regular	110	Open	DC	20	20	400	25	45	Lots	15	5

	Within 12 KM from Falakata													
	towards Madarihat on											Draw of	. –	_
474	Falakata- Madarihat SH	ALIPURDUAR	Regular	150	Open	DC	35	35	1225	25	60	Lots	15	5
475	Jawahar Navodaya Vidyalaya, Barobisha to Assam Bengal Border on Left Hand Side of NH 31C (New NH27) while moving from Nimti towards Assam-West Bengal Border	COOCH BEHAR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Upto 5 KM from Assam- Bengal Border on Left Hand Side of NH 31C (New NH27) while moving towards											Draw of		
476	Hasimara	COOCH BEHAR	Regular	150	Open	DC	35	45	1575	25	75	Lots	15	5
477	From Dimdima towards Gairkata Within on NH31(New NH17) within Alipurduar District Within 6 KM from Block	ALIPURDUAR	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
478	Development Office Mathabhanga-1 towards Changrabandha on SH16	COOCH BEHAR	Pequiar	155	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
4/0	(SH12A) Khagrabari Chowmatha to		Regular	100	Open	DC	30	33	1223	20	00	LUIS	10	5
479	Pundibari More on NH 31 (New NH 17)	COOCH BEHAR	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
480	Tufanganj Town (Within Municipality limit - excluding NH31)	COOCH BEHAR	Regular	150	Open	DC	20	20	400	25	45	Draw of Lots	15	5
481	Upto 5KM from Station Chowpathy towards Mathabhanga on SH16 (SH12A)	COOCH BEHAR	Regular	150	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
482	Jamaldah to Changrabandha on SH12A/SH16	COOCH BEHAR		150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
483	Balurghat to Trimohini on NH 512	DAKSHIN DINAJPUR	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
101	On Left hand Side between KM Stone 547 to 542 on NH 31 while going from Siliguri to		Decular	150	0.000	DC	35	45	1575	25	75	Draw of	15	5
484	Dalkhola Phansidewa Checkpost (Junction point of NH 31D to	DARJEELING	Regular	100	Open	DC	30	40	1575	20	/3	Lots	13	5
485	SH 12) to Guabari Mouza at SH 12	DARJEELING	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
486	From DARJEELING More to Venus More on Hill Cart Road, Siliguri	DARJEELING	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
487	From Airview More to Nowkaghat More	DARJEELING	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
407	From Khoribari to Ghoshpukur on Left Hand Side between	DANJEELING		100							40	Draw of		0
488	KM stone 5 to 8 on SH 12	DARJEELING	Regular	100	Open	DC	35	35	1225	25	60	Lots	15	5

1			1 1						1 1		1	Draw of		1
489	DARJEELING Town	DARJEELING	Regular	100	OBC	DC	20	20	400	25	45	Lots	15	4
	Rohini More to Garidhura on											Draw of		
490	SH -12	DARJEELING	Regular	100	SC	CFS	20	20	400	0	0	Lots	0	3
	PWD More to Chakramari on											Draw of		
491	NH31C	DARJEELING	Regular	150	Open	DC	35	45	1575	25	75	Lots	15	5
	On Right hand Side from									_		Draw of	0	3
492	Ghoom to Sonada on NH55	DARJEELING	Regular	150	ST	CFS	20	20	400	0	0	Lots	Ū	
400	From Khaprail More to Rohini			400		50	05	05	4005	05		Draw of	4.5	
493	More	DARJEELING	Regular	100	Open	DC	35	35	1225	25	60	Lots	15	5
494	Jorbunglow to Toosta	DARJEELING	Bogular	110	OBC CC	DC	20	20	400	25	60	Draw of Lots	15	4
494	Jorbunglow to Teesta	DARJEELING	Regular	110	1	DC	20	20	400	20	00	Draw of	15	4
495	Teesta Bazar	DARJEELING	Regular	100	Open	DC	20	20	400	25	60	Lots	15	5
	Chekramari to Bihar Border on	DARGELLING	rtegulai	100	Open	00	20	20		20	00	Draw of		
496	NH-31C	DARJEELING	Regular	150	SC PH	CFS	35	45	1575	0	0	Lots	0	3
100	Ghoshpukur-Fulbari Byepass	D/ (OEEEII (O	litogului	100	00111	0.0	00	10	1010	Ū		Draw of		
497	NH-31D	DARJEELING	Regular	150	Open	DC	35	45	1575	25	75	Lots	15	5
												Draw of		
498	Sukhiapokhri on SH12	DARJEELING	Regular	120	ST PH	CFS	20	20	400	0	0	Lots	0	3
	On Left Hand Side between													
	KM Stone 4 to 8 towards				OBC CC							Draw of		
499	Bagdogra on NH 31 C	DARJEELING	Regular	160	1	DC	35	45	1575	25	75	Lots	15	4
	While going from Ghoshpukur													
	to Bidhannagar on Right hand											Draw of		
500	Side of NH-31	DARJEELING	Regular	150	OBC	DC	35	45	1575	25	75	Lots	15	4
	While going from Ghoshpukur													
504	to Bidhannagar on Left hand			450		50	05	45	4575	05		Draw of	4 5	_
501	Side of NH-31	DARJEELING	Regular	150	Open	DC	35	45	1575	25	75	Lots	15	5
	Between Dali to Ghoom in Left				OPEN							Drow of		
502	Hand Side while travelling towards Ghoom on NH 55	DARJEELING	Regular	150	CC 1	DC	20	20	400	25	75	Draw of Lots	15	5
502	On Left Hand Side of NH 31	DANJELLING	Tregulai	150		00	20	20	400	25	15	LOIS	15	5
	From 2 Mile Checkpost to											Draw of		
503	Champasari More	Darjeeling	Regular	100	Open	DC	35	45	1575	25	45	Lots	15	5
	Under Dhupguri Municipality	Daijeemig			opon							Draw of		
504	on Dhupguri Falakata Road	JALPAIGURI	Regular	110	SC	CFS	20	20	400	0	0	Lots	0	3
	Nagrakata on NH-31C (new		- Ŭ									Draw of		
505	NH-17)	JALPAIGURI	Regular	150	OBC	DC	35	45	1575	25	75	Lots	15	4
	Fulbari Bypass More to													
	Radhabari BSF Camp on Left													
	Hand Side while moving from													
	Fulbari Bypass More towards													
	Radhabari on NH-31D (new				OPEN							Draw of	. –	_
506	NH-27)	JALPAIGURI	Regular	150	CC 1	DC	35	45	1575	25	75	Lots	15	5
	From Noukaghat More to													
	Fulbari Bypass More on Left													
	Hand Side while moving from													
	Noukaghat More towards Fulbari Bypass more on Asian											Draw of		
507	Highway 2	JALPAIGURI	Regular	150	Open PH	DC	35	45	1575	25	75	Lots	15	5
507			Tugulai	100	Openen	00	55		1010	20	15	LUIS	15	5

	From Moranga Chowpati to Dudua Bridge Approach on Right Hand Side while moving from Moranga Chowpathi towards Dudua Bridge on												0	3
	proposed NH-31D (new NH-											Draw of		
508	27)	JALPAIGURI	Regular	150	SC	CFS	35	45	1575	0	0	Lots		
	Tekatuli to Mainatali on Right Hand Side while moving from Tekatuli towards Mainatali on proposed NH-31D (new NH-											Draw of		
509	27)	JALPAIGURI	Regular	150	OBC	DC	35	45	1575	25	75	Lots	15	4
510	Maynaguri Assam More to Maynaguri BDO Office More on Left Hand Side while moving from Mainaguri Assam More towards Maynaguri BDO Office More on NH-31D (new NH-27)	JALPAIGURI	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Dasdarga to Sariam on Right													
511	Hand Side while moving from Dasdarga towards Sariam on NH-31D (new NH-27)	JALPAIGURI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	Jalpaiguri Assam More to Teesta Bridge Approach on Left Hand Side while moving from Assam More towards Teesta Bridge on NH-31D				OPEN							Draw of		
512	(new NH-27)	JALPAIGURI	Regular	150	CC 2	DC	35	45	1575	25	75	Lots	15	5
513	From Kranti more to Mauamari Railway Bridge on NH-31 (new NH 717)	JALPAIGURI	Peqular	150	OBC	DC	35	45	1575	25	75	Draw of	15	1
515	(new NH-717) From Sajnapara Post Office to	JALPAIGURI	Regular	150	UBC	DC	30	40	1575	20	75	Lots	15	4
514	Gairkata on NH-31 (new NH- 517)	JALPAIGURI	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Within 6 KM from Maynaguri Bypass Indira More towards Paharpur on Left Hand Side while moving from Maynaguri Bypass Indira More towards Paharpur on NH-31D (new											Draw of		
515	NH-27)	JALPAIGURI	Regular	160	OBC	DC	35	45	1575	25	75	Lots	15	4
516	Within 5km from Fatapukur More towards Radhabari on Right Hand side while moving from Fatapukur to Radhabari on NH-31D (new NH-27)	JALPAIGURI	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
517	Within 5 KM from Fulbari High School towards Fatapukur on Right Hand Side while moving from Fulbari towards Fatapukur on NH-31D (new NH-27)	JALPAIGURI	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

	From Kadamtala More Towards Aassam More on													
518	PWD Road(within Jalpaiguri Municipality Limit)	JALPAIGURI	Regular	150	Open	DC	20	20	400	25	45	Draw of Lots	15	5
540	From 3 No. Gumti Towards Bowbazar Post Office On Pandapara Road (Within		Decular	450	0.000		20	20	400	05	45	Draw of	45	F
519	Jalpaiguri Municipality Limit) From Noukaghat More To Fulbari Bypass More On Right Hand Side While Moving From Noukaghat More To Fulbari Bypass More On Asian	JALPAIGURI	Regular	150	Open	DC	20	20	400	25	45	Lots Draw of	15	5
520	Highway-2 Within 5km From Dhupguri	JALPAIGURI	Regular	150	Open	DC	35	45	1575	25	75	Lots	15	5
521	Main Traffic More Towards Gairkata On NH-31(New NH- 517)	JALPAIGURI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
522	From Jalpaiguri PWD Office Towards Paharpur More On PWD Road (Within Jalpaiguri Municipality Limit)	JALPAIGURI	Regular	150	Open	DC	20	20	400	25	45	Draw of Lots	15	5
523	Within 5km From Fatapukur More Towards Radhabari On Left Hand Side While Moving From Fatapukur Towards Radhabari On NH-31d(New NH-27)	JALPAIGURI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
524	Paharpur (under Maynaguri Block) to Brahmapur on AH-48 (new NH-717)	JALPAIGURI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
525	From Himanchal Sangha upto Deshbancdhu Chittaranjan Das Flyover Approach via NTS more (under Siliguri Municipality)	DARJEELING	Regular	100	OBC PH	DC	20	20	400	25	45	Draw of Lots	15	4
526	Ellenbury Check Post to Oodlabari on NH-31 (new NH- 17)	JALPAIGURI	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
527	From Rambhi to 27th Mile on NH10 on Right Hand Side towards Gangtok	KALIMPONG	Regular	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
528	Between Sovanagar More to Pukuria More on proposed NH Road	MALDA	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
529	Laskarpur more to Samsi on NH 81 (new NH 131A)	MALDA	Regular	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
530	Amriti to Amriti PHE Office on SH-10 Magura Check post to	MALDA	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
531	Laskarpur on NH 81(new NH 131A)	MALDA	Regular	130	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

	On Right Hand Side of NH-34 while moving from Malda to													
532	Gazole between KM stone 340 to KM stone 346	MALDA	Regular	162	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
		MALDA	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	On Right Hand Side while moving from Mahananda River Bridge to Bandhapukur More of NH 34 (new NH 12) -											Draw of		
534	Malda Town Byepass	MALDA	Regular	150	OBC	DC	35	45	1575	25	75	Lots	15	4
535	Kaluadighi Check post to Naldubi More (Malda Town Byepass intersection at NH)	MALDA	Regular	160	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
	On Right Hand Side while moving from Bandhapukur More to Gour Malda Station,											Draw of		
536	on NH-34 (new NH 12)	MALDA	Regular	160	Open	DC	35	45	1575	25	75	Lots	15	5
537	Between Naldubi More to Mahananda River Bridge on NH 34 - Malda Town Byepass	MALDA	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Gazole to Moyna Check Post											Draw of		
538	on NH 34 (new NH 12) Kadubari More to Rashikpur	MALDA	Regular	150	OBC	DC	35	45	1575	25	75	Lots	15	4
539	More on NH 81 (New NH 131A)	MALDA	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
540	From Tulsihatta IOC Pump to Malda-Harischandrapur Border on proposed NH	MALDA	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
541	Between KM Stone 10 to Malda-Dakshin Dinajpur Border on NH 512	MALDA	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
011	Ratua to Bhaluka Bazaar on		regular	100	000	00	00		1070	20	10	Draw of	10	
542	proposed NH	MALDA	Regular	160	OBC	DC	35	45	1575	25	75	Lots	15	4
543	Chanchol To Tulshihata on NH-81 (new NH 131A)	MALDA	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	Rashikpur More to Magura Check Post on NH 81 (New											Draw of		
544	NH 131A) Manikchak More to Ratua	MALDA	Regular	160	OBC	DC	35	45	1575	25	75	Lots Draw of	15	4
545	More on SH-10	MALDA	Regular	100	OBC	DC	35	35	1225	25	60	Lots	15	4
EAC	Bulbuli More to Ahio More on		Degular	100	0.000	DC	25	25	1005	05	60	Draw of	4 5	F
546	Malda-Bulbulchandi Road	MALDA	Regular	100	Open	DC	35	35	1225	25	60	Lots Draw of	15	5
547	Bhado to Samsi on SH-10	MALDA	Regular	100	OBC	DC	35	35	1225	25	60	Lots	15	4
	On Left Hand Side, between Mahanada River Bridge to Bandhapukur more of NH- 24(now NH 12) Malda Town											Drow of		
548	34(new NH 12) – Malda Town Byepass	MALDA	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	On Left Hand Side, between Bandhapukur more to Gour Malda Station, on NH-34(new	MALDA	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

	NH 12)													
	Between KM Stone 532 to 522													
550	on NH 31 on Left Hand Side from Siliguri to Dalkhola	UTTAR DINAJPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
551	Between KM Stone 462 to 455 on Left Hand Side from Siliguri to Dalkhola	UTTAR DINAJPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
552	Between KM Stone 492 to 495 on Right Hand Side from Siliguri to Dalkhola	UTTAR DINAJPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Islampur Town (Municipal	UTTAR			•							Draw of		
553	Area - Excluding NH 31) Purnia More NH-31 crossing	DINAJPUR	Regular	100	OBC	DC	20	20	400	25	45	Lots	15	4
554	towards Dalkhola College More on NH-12	UTTAR DINAJPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
555	From Purnia More towards Dalkhola Bihar Checkpost on either side of NH-31	UTTAR DINAJPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Between KM Stone 452 to 459 on Right Hand Side from	UTTAR										Draw of		
556	Siliguri to Dalkhola Between KM Stone 464 to 469	DINAJPUR	Regular	150	Open	DC	35	45	1575	25	75	Lots	15	5
557	on Left Hand Side from Siliguri to Dalkhola	UTTAR DINAJPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
558	Between KM Stone 477 to 481 on Right Hand Side from Siliguri to Dalkhola	UTTAR DINAJPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
559	Between KM Stone 522 TO 532 on Right Hand Side from Siliguri to Dalkhola	UTTAR DINAJPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
560	Between KM Stone 520 TO 515 on Right Hand Side from Siliguri to Dalkhola	UTTAR DINAJPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
561	Between KM Stone 496 TO 500 on Right Hand Side from	UTTAR DINAJPUR		150	Open	DC	35	45	1575	25	75	Draw of Lots	15	
501	Siliguri to Dalkhola Islampur Byepass from Shrikrishnapur to Siyaltor on	UTTAR	Regular	150	Open	DC		45	1575	25	75	Draw of	15	5
562	Left Hand Side Islampur Byepass from	DINAJPUR	Regular	150	Open	DC	35	45	1575	25	75	Lots	15	5
563	Shrikrishnapur to Siyaltor on Right Hand Side	UTTAR DINAJPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
564	Bilaspur to Tungidighi on both sides of NH 34	UTTAR DINAJPUR	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
565	Raiganj Town	UTTAR DINAJPUR	Regular	160	OBC CC	DC	20	20	400	25	45	Draw of Lots	15	4
566	Dalkhola within Municiple Limit not on NH	UTTAR DINAJPUR	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
567	From KM stone 415 to 419 on NH-34	UTTAR DINAJPUR	Regular	170	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

	Between Deogaon to Bilaspur,													
	On Right Hand Side of NH-34,													
500	while travelling from Deogaon	UTTAR	Devular	450	0		05	45	4575	05	75	Draw of	45	
568	to Bilaspur On Left Hand Side from Itahar	DINAJPUR	Regular	150	Open	DC	35	45	1575	25	75	Lots	15	5
569	to Maina on NH-34	Uttar Dinajpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
509	On Right Hand Side of		Tregular	150	SC	DC	55	45	1373	25	15	Draw of	IJ	5
570	Kankalitala to Jaljalia	BIRBHUM	Rural	50	30	CFS	20	20	400	0	0	Lots	0	2
010		PASCHIM	Turai		SC		20	20		0	0	Draw of	0	2
571	Milik Para (on either side)	BARDHAMAN	Rural	50		CFS	20	20	400	0	0	Lots	0	2
	Sahapur on Jougram Khanpur	PURBA			ST					U		Draw of		
572	Road	BARDHAMAN	Rural	50		CFS	20	20	400	0	0	Lots	0	2
	From Maheshpur to				SC		-			_		Draw of		
573	Mandaran Bridge	HOOGHLY	Rural	50		CFS	20	20	400	0	0	Lots	0	2
	Jamboni on Jhargram -				ST							Draw of		
574	Chilkigarh Road	JHARGRAM	Rural	50		CFS	20	20	400	0	0	Lots	0	2
	300 meter on either direction				SC									
	from Kharika BMSC High											Draw of		
575	School (not on SH9)	JHARGRAM	Rural	50		CFS	20	20	400	0	0	Lots	0	2
					ST							Draw of		
576	Manikpara	JHARGRAM	Rural	60		CFS	20	20	400	0	0	Lots	0	2
	From Balaiponda Bazar to				SC									
	Jalchak on Dakbunglow-	PASCHIM								-		Draw of	_	
577	Moyna Road	MEDINIPUR	Rural	50		CFS	20	20	400	0	0	Lots	0	2
		PASCHIM			SC	050	00		400	•		Draw of	•	
578	Raghunathchawk, Ghatal	MEDINIPUR	Rural	50	00	CFS	20	20	400	0	0	Lots	0	2
	Between Hoomgarh bus stop				SC							Draw of		
579	to Ganakbandi on Garbeta Hoomgarh Road	PASCHIM MEDINIPUR	Rural	46		CFS	20	20	400	0	0	Draw of Lots	0	2
579	From Ramnagar College to	MEDINIFUR	Ruiai	40	SC	CF3	20	20	400	0	0	LOIS	0	2
	Paniparul Bridge on Egra-	PURBA			30							Draw of		
580		MEDINIPUR	Rural	50		CFS	20	20	400	0	0	Lots	0	2
000	From Barda to Baburpur		rarar	00	SC	010	20	20	+00	0	0	2013	0	2
	bazzar on Chaitnyapur to	PURBA										Draw of		
581	Geokhali road	MEDINIPUR	Rural	50		CFS	20	20	400	0	0	Lots	0	2
	From Paniparul to				SC		-			_			-	
	Shyamharibarh via Kultikri on	PURBA										Draw of		
582	PPMGSY Road	MEDINIPUR	Rural	50		CFS	20	20	400	0	0	Lots	0	2
		NORTH 24										Draw of		
583	Subarnapur	PARGANAS	Rural	48	SC	CFS	20	20	400	0	0	Lots	0	2
	On Zila parisad road & within													
	3 km from Nababpur more &													
	towards Rajarhat in village	NORTH 24					~ ~			-		Draw of	-	
584	Reckjouni	PARGANAS	Rural	76	SC	CFS	20	20	400	0	0	Lots	0	2
	On Zila Parisad Road & within													
	3km from Kadampukur Bonder													
585	more towards Kalur more in	NORTH 24 PARGANAS	Rural	80	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
000	village Kadampukur Tardaha village on Tardaha-	SOUTH 24	ruidi	00	30	053	20	20	400	U	0	Draw of	U	۷
586	Kheyadah Road	PARGANAS	Rural	48	SC	CFS	20	20	400	0	0	Lots	0	2
500		SOUTH 24		-10			20	20		0		Draw of	0	<u> </u>
587	Netra on Hatuganj Main Road	PARGANAS	Rural	48	SC	CFS	20	20	400	0	0	Lots	0	2
001	Within 5 KM from Amtala more	SOUTH 24		10			20			0	- U	Draw of	v	-
588	on Nibaran Dutta Road	PARGANAS	Rural	49	ST	CFS	20	20	400	0	0	Lots	0	2
000				10			20		100	~	v	2010	v	-

	Chowrangi More to Ranirhat													
589	Post Office on Chowrangi- Ranirhat PWD Road	COOCH BEHAR	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
509	Between Haripur Chupathi to	COUCITBELIAR	Ruiai	40	30	013	20	20	400	0	0	LOIS	0	2
	Bochamari Choupathi on													
	Haripur Chupathi-											Draw of		
590	Kamhkhyaguri PWD Road	COOCH BEHAR	Rural	50	SC	CFS	20	20	400	0	0	Lots	0	2
	Within 6km from Danguajhar													
	Post Office towards													
	Rangdhamali on Jalpaiguri-											Draw of		
591	Rangdhamali PWD Road	JALPAIGURI	Rural	46	SC	CFS	20	20	400	0	0	Lots	0	2
	On PWD Road, Tulsihatta to											Draw of		
592	Kushida	MALDA	Rural	46	ST	CFS	20	20	400	0	0	Lots	0	2
	Village Maliara on Borjora-			95						10		Draw of	_	
593	Durlavpur Road	BANKURA	Rural		OBC	DC	20	20	400	12	30	Lots	5	3
504	D 4 a image up		Dunal	46	0.00	50	00	00	100	40	20	Draw of	-	
594	Moinpur Rejogram on Rejogram	BANKURA	Rural		OBC	DC	20	20	400	12	30	Lots	5	3
595	Rajogram on Rajogram - Poabagan road	BANKURA	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
595	Village Ghanashyampur on	DANKUKA	Ruiai		Open		20	20	400	12		Draw of	5	4
596	Borjora-Durlavpur Road	BANKURA	Rural	95	Open	DC	20	20	400	12	30	Lots	5	4
530	Rasulpur to Indas Police	DANKOKA	Turai		Open	00	20	20	400	12	50	LOIS	5	
597	Station	BANKURA	Rural	110	Open	СС	25	25	625	12	5	Bidding	10	4
001		<i>B</i> / arror ar	rtarai		OPEN		20	20	020	12		Draw of	10	
598	Pokhnna	BANKURA	Rural	46	CC 1	DC	20	20	400	12	30	Lots	5	4
							_•					Draw of	U U	
599	Benkia to Ambikanagar	BANKURA	Rural	60	SC	CFS	20	20	400	0	0	Lots	0	2
	Bankadaha to Amdangra via			46								Draw of		
600	Rajpur	BANKURA	Rural	40	SC	CFS	20	20	400	0	0	Lots	0	2
				46								Draw of		
601	Akutha on Raipur Road	BANKURA	Rural	40	ST	CFS	20	20	400	0	0	Lots	0	2
	Between Labpur to Manpur on			50								Draw of		
602	sundarpur Labpur Road	BIRBHUM	Rural	00	OBC	DC	20	20	400	12	30	Lots	5	3
	Between Dakhalbati and			10										
000	Margram on Rampurhat		Dunal	46	OBC CC	50	00	00	100	40	20	Draw of	-	
603	Sherpur Road	BIRBHUM	Rural		1	DC	20	20	400	12	30	Lots	5	3
	Between Biprasekhar and			46	OBC CC							Draw of		
604	Burwan on Belgram Burwan Road	BIRBHUM	Rural	40		DC	20	20	400	12	30	Lots	5	3
004			TUIDI			50	20	20		14		Draw of	5	5
605	Rambhadrapur	BIRBHUM	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
606	Between Raipur to Murgaboni	BIRBHUM	Rural	100	Open	CC	20	20	400	12	5	Bidding	10	4
	On Left Hand Side between						_~			•=				
	Murarai to Raghunathganj			40										
	while going towards			46								Draw of		
607	Raghunathganj on PWD Road	BIRBHUM	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	On Right Hand Side from													
	Mangaldihi to Brahmandihi on			50								Draw of		
608	Major District Road (MDR)	BIRBHUM	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	On Left Hand Side Between													
	Rongaipur to Kunuri dMajor			100		D 0	~~			10		Draw of	_	
609	District Road (MDR)	BIRBHUM	Rural		Open	DC	20	20	400	12	30	Lots	5	4
610	Chatra to Sundarpahari on		Dural	50	0.000		20	20		10	20	Draw of	E	л
610	PWD Road	BIRBHUM	Rural		Open	DC	20	20	400	12	30	Lots	5	4

	On Left Hand Side Between													
611	Erwali to Aogram on Major	BIRBHUM	Dural	50	Onon	DC	20	20	400	12	30	Draw of	5	1
611	District Road (MDR) Itagaria between Aloonda	DIRDHUIVI	Rural		Open	DC	20	20	400	12		Lots	5	4
	Gram Panchayat Office to													
	Salpa on Suri Sainthia PWD			46								Draw of		
612	Road	BIRBHUM	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	On Left Hand Side Between						-							
	Kankalitala to Bogdowra on			50								Draw of		
613	Major District Road (MDR)	BIRBHUM	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	Amra to Malancha on													
	Sainthia-Ramnagar PWD			46								Draw of	_	
614	Road	BIRBHUM	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	Between Arati Cinema Hall													
	More to intersection of Palitpur			46								Draw of		
615	Bolpur By Pass Road and Nanoor Chandidas Road	BIRBHUM	Rural		Open	DC	20	20	400	12	30	Draw of Lots	5	4
015	Lokepara on Dhaka Lokepara		Kulai		Open	DC	20	20	400	12		Draw of	5	4
616	Road	BIRBHUM	Rural	46	Open	DC	20	20	400	12	30	Lots	5	4
010	Within 2 KM from Labpur on	DIRDITION	- Ttartar			00	20	20		12	00	Draw of	0	
617	Bolpur Labpur Road	BIRBHUM	Rural	46	Open	DC	20	20	400	12	30	Lots	5	4
							_•					Draw of	·	
618	Bahadurpur to Chandanagar	BIRBHUM	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
	Between Kutubpur to Bhagail			50	•							Draw of		
619	on PWD Road	BIRBHUM	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
	Between Bhawanandapur to													
	Nonadanga on Nalhati Pakuria			46								Draw of		
620	Road (Either side)	BIRBHUM	Rural		Open	DC	20	20	400	12	30	Lots	5	4
				46						10		Draw of	_	
621	Khoyrasole	BIRBHUM	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	On Left Hand Side Between													
	Purandarpur to Rongaipur			50								Drow of		
622	More on Major District Road (MDR)	BIRBHUM	Rural		Open	DC	20	20	400	12	30	Draw of Lots	5	4
022	Shyambati on Sriniketan	DIRDHOM	Tturai		Орен	00	20	20	400	12	50	LOIS	5	
	Kasba Road (in Panchayat			46								Draw of		
623	Area)	BIRBHUM	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	Bishnupur on Seorakhuri to			40	- 1							Draw of		
624	Muralpur Road (Either side)	BIRBHUM	Rural	46	Open	DC	20	20	400	12	30	Lots	5	4
				46								Draw of		
625	Kharui More to Joydev Kenduli	BIRBHUM	Rural	40	Open	DC	20	20	400	12	30	Lots	5	4
				50								Draw of	_	
626	Panchra	BIRBHUM	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	Within 3 KM from Glocal			50										
607	Hospital towards Nanoor on		Durol	50	Onon	DC	20	20	400	12	20	Draw of	5	A
627	Nanoor Chandidas Road Between Karimpur to Siura	BIRBHUM	Rural		Open		20	20	400	12	30	Lots	C	4
	Railway Crossing on			46	OPEN							Draw of		
628	Panchayat Road	BIRBHUM	Rural	-10	CC 1	DC	20	20	400	12	30	Lots	5	4
020	Between Kasba to Dhanai						20			16		Draw of	U	т
629	More on PWD Road	BIRBHUM	Rural	50	SC	CFS	20	20	400	0	0	Lots	0	2
	On Left Hand Side Between					<u> </u>				-	-		-	
	Babuijore to Geruapahari on			50								Draw of		
	Major District Road (MDR)	BIRBHUM	Rural		SC	CFS	20	20	400	0	0	Lots	0	2

	Saradha on Swadhinpur											Draw of		
631	Bujung Road	BIRBHUM	Rural	46	SC	CFS	20	20	400	0	0	Lots	0	2
	Between Barachaturi and													
	Kenduli on Suri-Amjora Other			46								Draw of		
632	District Road (ODR)	BIRBHUM	Rural		ST	CFS	20	20	400	0	0	Lots	0	2
	Sheikpara on Islampur			46								Draw of	_	
633	Sheikpara Road	MURSHIDABAD	Rural		OBC	DC	20	20	400	12	30	Lots	5	3
004	Crimentenur		Dural	46			20	20	100	10	20	Draw of	~	
634	Srimantapur	MURSHIDABAD	Rural		OBC	DC	20	20	400	12	30	Lots	5	3
635	Nimtita	MURSHIDABAD	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
000			Turai		OBC	DC	20	20	400	12	50	Draw of	5	
636	Sahajadpur	MURSHIDABAD	Rural	46	OBC	DC	20	20	400	12	30	Lots	5	3
				40								Draw of	•	
637	Mukundapur	MURSHIDABAD	Rural	46	OBC	DC	20	20	400	12	30	Lots	5	3
				46								Draw of		
638	Sannyasidanga	MURSHIDABAD	Rural	40	OBC	DC	20	20	400	12	30	Lots	5	3
				46								Draw of		
639	Anuppur	MURSHIDABAD	Rural		Open	DC	20	20	400	12	30	Lots	5	4
0.40				46		50			100	40		Draw of	_	
640	Sarbangapur	MURSHIDABAD	Rural	-	Open	DC	20	20	400	12	30	Lots	5	4
641	Satui	MURSHIDABAD	Rural	46	Onon	DC	20	20	400	12	30	Draw of Lots	5	
041	Nabagram to Panchgram	IVIURONIDADAD	Ruiai		Open	DC	20	20	400	12	30	Draw of	5	4
642	More on PWD Road	MURSHIDABAD	Rural	46	Open	DC	20	20	400	12	30	Lots	5	4
072			Turu		Open	00	20	20		12		Draw of	0	
643	Dafherpur	MURSHIDABAD	Rural	46	Open	DC	20	20	400	12	30	Lots	5	4
				40								Draw of	-	
644	Bahran	MURSHIDABAD	Rural	46	Open	DC	20	20	400	12	30	Lots	5	4
	Sukhi to Nabagram PWD			46								Draw of		
645	Road	MURSHIDABAD	Rural	40	Open	DC	20	20	400	12	30	Lots	5	4
	_			46	_							Draw of		
646	Sagarpara	MURSHIDABAD	Rural	10	Open	DC	20	20	400	12	30	Lots	5	4
	Within 3 KM from SH 11A on			10								Durat		
647	Bhagwangola to Akhriganj		Dural	46	Onen	DC	20	20	100	10	20	Draw of	F	
647	Road	MURSHIDABAD	Rural		Open	DC	20	20	400	12	30	Lots Draw of	5	4
648	Kanupur	MURSHIDABAD	Rural	40	Open	DC	20	20	400	12	30	Lots	5	4
0-10			rturur		open	00	20	20		12	00	Draw of	0	
649	Alia (on either side)	MURSHIDABAD	Rural	48	Open	DC	20	20	400	12	30	Lots	5	4
				40	OPEN							Draw of		
650	Lalgola Village	MURSHIDABAD	Rural	46	CC 1	DC	20	20	400	12	30	Lots	5	4
				46	OPEN							Draw of		
651	Panutia	MURSHIDABAD	Rural	40	CC 2	DC	20	20	400	12	30	Lots	5	4
				48								Draw of		
652	Gajnipur	MURSHIDABAD	Rural	10	SC	CFS	20	20	400	0	0	Lots	0	2
050	From Dhuliyan More to		Durel	46			00	00		0	•	Draw of	•	
653	Chandpur Bazar	MURSHIDABAD	Rural		SC	CFS	20	20	400	0	0	Lots	0	2
GEA	From Khargram Police Station		Dural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
654	to Kalgram	MURSHIDABAD	Rural		30	053	20	20	400	U	U	Draw of	U	<u> </u>
655	Teghari	MURSHIDABAD	Rural	48	SC	CFS	20	20	400	0	0	Lots	0	2
000				40			20	20		0	0		U	
656	Burwan	MURSHIDABAD	Rural	46	SC	CFS	20	20	400	0	0	Draw of	0	2
						I								

												Lots		
657	Chowrigacha	MURSHIDABAD	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
658	Ghanashyampur	MURSHIDABAD	Rural	46	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
659	Bagdanga	MURSHIDABAD	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
660	Within 2 KM from Bamunrata on Gopalpur to Bamunara Road	PASCHIM BARDHAMAN	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
661	Sorpi	PASCHIM BARDHAMAN	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
662	Chhora	PASCHIM BARDHAMAN	Rural	50	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
663	Nachan (Outside Municipality Limits)	PASCHIM BARDHAMAN	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
664	Madanpur on Andal-Madanpur Road (Either Side)	PASCHIM BARDHAMAN	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
665	Village Rupganj	PASCHIM BARDHAMAN	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
666	Dakshin Khand	PASCHIM BARDHAMAN	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
667	Ukhra	PASCHIM BARDHAMAN	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
668	Rajbandh to Gopalpur Road	PASCHIM BARDHAMAN	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
669	Khandra	PASCHIM BARDHAMAN	Rural	70	Open	DC	25	25	625	12	30	Draw of Lots	5	4
670	Shibpur - Phuljhore PMGSY Road (Outside Municipality Limit of Durgapur Municipal Corporation)	PASCHIM BARDHAMAN	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
671	Within 3 Kms of Gourandi Bus Stand	PASCHIM BARDHAMAN	Rural	78	Open	DC	20	20	400	12	30	Draw of Lots	5	4
672	Mankar	PASCHIM BARDHAMAN	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
673	Village Nakrajuria, On Kalyaneswari Dendua Road	PASCHIM BARDHAMAN	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
674	Haripur (not on NH-60)	PASCHIM BARDHAMAN	Rural	50	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
675	Mahachanda 6 Mile on Haldi Road	PURBA BARDHAMAN	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
676	Kandra	PURBA BARDHAMAN	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
677	Madhabdihi	PURBA BARDHAMAN	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
678	Sanktia to Berugram on Sanktia - Anguna Road	PURBA BARDHAMAN	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
679	Dewandighi	PURBA BARDHAMAN	Rural	40	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
680	Jamna on Polempur-Badshahi Road	PURBA BARDHAMAN	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

	5 KM from Satgatchia Bus													
	stand on either side of	PURBA		50								Draw of		
681	Burdwan-Kalna Road	BARDHAMAN	Rural		Open	DC	20	20	400	12	30	Lots	5	4
		PURBA		46								Draw of		
682	Bhedia (Not on NH-2B)	BARDHAMAN	Rural	46	Open	DC	20	20	400	12	30	Lots	5	4
	Shaktigarh to Attagarh (not on	PURBA		50								Draw of		
683	NH-2)	BARDHAMAN	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
	Between Palla Road NH2													
	crossing and Palla Road Rail	PURBA		46								Draw of		
684	Gate	BARDHAMAN	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	Rasulpur on Kuchut Rasulpur	PURBA		46								Draw of		
685	Road	BARDHAMAN	Rural	40	Open	DC	20	20	400	12	30	Lots	5	4
	Chhatadighi on Raina to	PURBA		50								Draw of		
686	Arambagh Road	BARDHAMAN	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
	Within 2 KM from Sagrai More													
	towards Raina on Raina	PURBA		50								Draw of		
687	Shyamsundar Road	BARDHAMAN	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	Palashan on Burdwan-	PURBA		40								Draw of		
688	Muthadanga Road	BARDHAMAN	Rural	46	Open	DC	20	20	400	12	30	Lots	5	4
	Between Irkona and Adrahati													
	Bus Stand on Galsi-Adrahati	PURBA		46								Draw of		
689	Road	BARDHAMAN	Rural		Open	DC	20	20	400	12	30	Lots	5	4
		PURBA		50								Draw of		
690	Balgona to Chandrapur	BARDHAMAN	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
	Tajpur on Atagarh Shaktigarh	PURBA										Draw of		
691	Road	BARDHAMAN	Rural	46	Open	DC	20	20	400	12	30	Lots	5	4
	Within 2 KM from													-
	Ramgopalpur Bazar on Paraj-	PURBA		46								Draw of		
692	Sillaghat Road	BARDHAMAN	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	Within 5 KM from Raina Bus				open	20						2010	•	•
	Stand towards Karalaghat on	PURBA		50								Draw of		
693	.	BARDHAMAN	Rural	00	Open	DC	20	20	400	12	30	Lots	5	4
000		PURBA	i turui		opon	20			100	. –		Draw of	0	•
694	Palashan to Chhatadighi	BARDHAMAN	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
001	Palisgram on Katwa-Nutanhat		rtarar		open	20	20	20	100	12	00	Loto	•	•
	Road (Dak bunglow to	PURBA		50								Draw of		
695	Natunhat Road)	BARDHAMAN	Rural	00	Open	DC	20	20	400	12	30	Lots	5	4
000	Within 2 KM of Ichhabachha		rtarar		Open	20	20	20		14	00	LOID	0	
	More on Devipur RS to	PURBA		46	OPEN							Draw of		
696	Bulbulitala Road	BARDHAMAN	Rural	40	CC 1	DC	20	20	400	12	30	Lots	5	4
000	Within 2 KM of Bohar Bazar	PURBA	TRUTUT		OPEN	00	20	20	+00	12	00	Draw of	0	
697	on Burdwan Kalna Road	BARDHAMAN	Rural	50	CC 1	DC	20	20	400	12	30	Lots	5	4
037	Between Piplon and		Tturai		001	00	20	20	400	12	50	LOIS	5	
	Majhergram on Kusumgram	PURBA		46	OPEN							Draw of		
698	Satgachhia Road	BARDHAMAN	Rural	40	CC 1	DC	20	20	400	12	30	Lots	5	4
000		PURBA	TRUTCH		OPEN	00	20	20	+00	12	00	Draw of	0	
699	Chaktentul near Panagarh	BARDHAMAN	Rural	46	CC 2	DC	20	20	400	12	30	Lots	5	4
000		PURBA			002		20	20		14		Draw of	5	
700	Borshul	BARDHAMAN	Rural	46	SC	CFS	20	20	400	0	0	Lots	0	2
100	Within 5 KM from NH2B						20	20	-100	0			U	<u> </u>
	Crossing towards													
	Mahachanda on Burdwan -	PURBA		46								Draw of		
701	Mahachanda Road	BARDHAMAN	Rural		SC	CFS	20	20	400	0	0	Lots	0	2
101			inuidi		00		20	20	+00	U		LUIS	U	۷ ا

702	Nibhuji to Harishankarpur More	PURBA BARDHAMAN	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
703	Dainhat	PURBA BARDHAMAN	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
705	On Dhatrigram-Satgachia Road within 4 KMs of	PURBA	Turai	46			20	20	400	0	0		0	
704	Dhatrigram More	BARDHAMAN	Rural	40	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
705	Within 3 KM of Aimapara on Satgachia - Dhatigram Road	PURBA BARDHAMAN	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
706	Monteswar	PURBA BARDHAMAN	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
707	Matiswar on Debipur to Bulbulitala Road	PURBA BARDHAMAN	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
708	Ajhapur not on SH or NH	PURBA BARDHAMAN	Rural	50	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
709	Within 1 KM from Abhirampur Bazar on Abhirampur-Galsi Road	PURBA BARDHAMAN	Rural	46	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
710	Within 2 KM of Maldanga on Memari Katwa Road	PURBA BARDHAMAN	Rural	50	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
711	Within 10 KM from Srikhanda towards Nutanhat on Katwa- Nutanhat Road	PURBA BARDHAMAN	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
712	Barabazar	PURULIA	Rural	100	OBC	DC	25	25	625	12	30	Draw of Lots	5	3
713	Sarbari More to Madhukunda Railway Station	PURULIA	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
714	Tamna More to Arsha	PURULIA	Rural	100	OBC	DC	25	25	625	12	30	Draw of Lots	5	3
715	Adra to Kashipur	PURULIA	Rural	70	Open	DC	20	20	400	12	30	Draw of Lots	5	4
716	Jhapra to Dubra on Other District Road (ODR)	PURULIA	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
717	Bhuniyadih	PURULIA	Rural	100	Open	DC	20	20	400	12	30	Draw of Lots	5	4
718	Lalpur More to Bagda	PURULIA	Rural	70	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
719	Boro on Other District Road (ODR)	PURULIA	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
720	Suisa to Kalimati	PURULIA	Rural	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
721	Sirkabad	PURULIA	Rural	46	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	2
722	Indkuri on Barobazar By Pass	PURULIA	Rural	46	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	2
723	Bhirgurambati	MURSHIDABAD	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
724	Chak Jafrabad	MURSHIDABAD	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
725	Purandarpur	MURSHIDABAD	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
726	From Dhaniakhali Halt to Jelepara on Feder Road	HOOGHLY	Rural	100	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

	Belumilki, Between Serampur											Draw of		
727	Delhi Rd To Bora	HOOGHLY	Rural	50	OBC	DC	20	20	400	12	30	Lots	5	3
				80								Draw of		
728	From Mashat to Panchmatha	HOOGHLY	Rural	00	OBC	DC	20	20	400	12	30	Lots	5	3
700	Edurgora,Rameshwarupr To			125	0.00	50	00		400	40		Draw of	-	
729	Digherpul (Right Hand Side)	HOOGHLY	Rural		OBC	DC	20	20	400	12	30	Lots	5	3
730	From Gotu to Alinagar 17 no Bus Route	HOOGHLY	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
730	From Moshat to	HOUGHLI	Turai		Open	DC	20	20	400	12		LOIS	5	
	Jagatballavpur on Moshat-			50								Draw of		
731	Jagatballavpur Road	HOOGHLY	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	From Kaable More SH 15			50								Draw of		
732	Crossing to Helan	HOOGHLY	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
	From Kamarpukur to			50								Draw of	_	
733	Singrapur	HOOGHLY	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	Phulpukur, Balagarh To			120								Drow of		
734	Dhumardaha On Stkk (Left Hand Side)	HOOGHLY	Rural	120	Open	DC	20	20	400	12	30	Draw of Lots	5	4
7.54	From Tarakeswar Sahapur to	HOUGHLI	Turai		Open	DC	20	20	400	12		Draw of	5	
735	Damodar Bridge	HOOGHLY	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
	From Dhaniakhali Halt to			100								Draw of		
736	Maheshapur, Mouja-Belmuri	HOOGHLY	Rural	100	Open	DC	20	20	400	12	30	Lots	5	4
	From Boichi More to Bhastara													
	More on Boichi -Bhastara			50								Draw of	_	
737	Road	HOOGHLY	Rural		Open	DC	20	20	400	12	30	Lots	5	4
700	Quatingers		Dural	57	OPEN		20	20	100	10	20	Draw of	~	4
738	Guptipara	HOOGHLY	Rural		CC 1	DC	20	20	400	12	30	Lots Draw of	5	4
739	Kaknan	HOOGHLY	Rural	50	SC	CFS	20	20	400	0	0	Lots	0	2
100		HOUGHEI	rtarar		00	010	20	20	-100	0	0	Draw of	0	<u> </u>
740	Kalipur	HOOGHLY	Rural	52	SC	CFS	20	20	400	0	0	Lots	0	2
	From Hazipur To Ghatal			50								Draw of		
741	E.Midnapur Border	HOOGHLY	Rural	50	SC	CFS	20	20	400	0	0	Lots	0	2
	From Sugandha More to													
740	Puratan Pukur on Khanpur		Dural	50		050	00	00	100	0		Draw of	0	0
742	Road	HOOGHLY	Rural		SC	CFS	20	20	400	0	0	Lots	0	2
743	From Munsirhat To Rajapur On Penro Khila Road	HOWRAH	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
740		HOWIVIII	Turui		000	00	20	20		12		Draw of	0	
744	Jagatballavpur	HOWRAH	Rural	50	OBC	DC	20	20	400	12	30	Lots	5	3
	Between Udaynarayanpur to	_												
	Dihibhurshut on			50										
	Udaynarayanpur to			50								Draw of	_	
745	Dihibhurshut Road	HOWRAH	Rural		OBC	DC	20	20	400	12	30	Lots	5	3
740			Durel	50			20	20	400	40	20	Draw of	F	
746	From Rajapur To Sehagori From Belari to Garchumuk on	HOWRAH	Rural		OBC	DC	20	20	400	12	30	Lots Draw of	5	3
747	Uluberia-shyampur road	HOWRAH	Rural	50	OBC	DC	20	20	400	12	30	Lots	5	3
171	From Dhulasimla to Baganda					00	20	20		12		Draw of	5	5
748	on Uluberia-shyampur road	HOWRAH	Rural	50	OBC	DC	20	20	400	12	30	Lots	5	3
-	Lebutala between Khalatpur to			E0	-							Draw of		
749	Dihibhursut	HOWRAH	Rural	50	OBC	DC	20	20	400	12	30	Lots	5	3
750				50	000			00		40				
750	2 KM on either direction from	HOWRAH	Rural		OBC	DC	20	20	400	12	30	Draw of	5	3

	Bainan More on Bagnan Baksi Road											Lots		
	From Rathtala to Phatikgachi on Pantihal-Khanderghat			50								Draw of		
751	Road	HOWRAH	Rural		Open	DC	20	20	400	12	30	Lots	5	4
752	From Bargram to Morshal on Uluberia-shyampur road	HOWRAH	Rural	50	Onon	DC	20	20	400	12	30	Draw of Lots	5	4
152	From Kalikapur to Kultikari on	ΠΟΨΚΑΠ	Ruiai		Open	DC	20	20	400	12		Draw of	Э	4
753	Udaynarayanpur-Amta Road	HOWRAH	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
	From Subohara to Jujarsah on	_		60								Draw of		
754	Subohara - Jujarsah Road	HOWRAH	Rural	60	Open	DC	20	20	400	12	30	Lots	5	4
	From Garchumuk to Bargram			50								Draw of	_	
755	on Uluberia-shyampur road	HOWRAH	Rural		Open	DC	20	20	400	12	30	Lots	5	4
756	Between Rajapur and Penro on Rajapur Munsirhat Road	HOWRAH	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
750	Pratappur to Deorah Bagnan	HOWKAH	Ruidi		Open	00	20	20	400	12	50	Draw of	5	4
757	on Shyampur Road	HOWRAH	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
	2 KM on either direction from	_												
	Sukanta Park On			50								Draw of		
758	Udaynarayanpur-Sitapur Road	HOWRAH	Rural		Open	DC	20	20	400	12	30	Lots	5	4
750	From Moubesia to Dhulasimla		Dural	50	0.000		20	20	100	10	20	Draw of	-	4
759	on Uluberia-shyampur road From Pantihal to Rathtala	HOWRAH	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	Phatikgachi on Khandar Ghat			56								Draw of		
760	Road	HOWRAH	Rural	00	SC	CFS	20	20	400	0	0	Lots	0	2
				50								Draw of	-	
761	Jujarsa	HOWRAH	Rural	50	SC	CFS	20	20	400	0	0	Lots	0	2
	Between Panchla and Bauria	_		50								Draw of		
762	On Domjur Road	HOWRAH	Rural		SC	CFS	20	20	400	0	0	Lots	0	2
763	From Mankur More to Khajurti More	HOWRAH	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
703	More	ΠΟΨΚΑΠ	Ruidi		30	053	20	20	400	0	0	Draw of	0	2
764	Jhikira	HOWRAH	Rural	50	SC	CFS	20	20	400	0	0	Lots	0	2
	From Dherua Bridge to Boita												•	
	Crossing on Medinipur-			50								Draw of		
765	Jhargram Road	JHARGRAM	Rural		OBC	DC	20	20	400	12	30	Lots	5	3
	From Boita Crossing to													
	Sevayatan Sikshan Mahavidyalaya on Medinipur-			50								Draw of		
766	Jhargram Road	JHARGRAM	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	FromSankrail Thana to Pathra				opon		20		100				0	
	High School on Guptomoni-			50								Draw of		
767	Kultikri Road	JHARGRAM	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	2 Kms From Lalgarh Thana													
769	towards Katapahari on		Dural	50	Onon	DC	20	20	400	12	30	Draw of	F	1
768	Lalgarh-Ramgarh Road From Kumsol to Kharika	JHARGRAM	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	Crossing on Kumsol-Baligeria-			50								Draw of		
769	Kharika Road	JHARGRAM	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	Between Rohini and Baligeria			50								Draw of		
770	on Rohini-Kultikri Road	JHARGRAM	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
774	From Ragra Bus Stand to			50		050				0		Draw of	•	
771	Kukrakhupi on Ragra Road	JHARGRAM	Rural		ST	CFS	20	20	400	0	0	Lots	0	2

	From Ragra Raja Nara Singha													
	Malla Academy to Rohini			50								Draw of		
772	Dulung Bridge on Ragra Road	JHARGRAM	Rural		ST	CFS	20	20	400	0	0	Lots	0	2
	From Lalgarh Super Speciality			50										
773	Hospital to Gouabagan	JHARGRAM	Rural	50	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
113	Primary School Between Dasagram to	JUAKOKAIN	Ruidi		51	65	20	20	400	0	0	LOIS	0	2
	Natunpukur on Balichak-													
	Temathani-Pataspur-Egra	PASCHIM		50								Draw of		
774	Road	MEDINIPUR	Rural		OBC	DC	20	20	400	12	30	Lots	5	3
	From Barambazar to													
	chaklahana on Baram bazar	PASCHIM		50								Draw of		
775	dogaria road	MEDINIPUR	Rural		OBC	DC	20	20	400	12	30	Lots	5	3
770	FromChutergeria to Singaghai	PASCHIM		50	0.00	50	00	00	400	40		Draw of	-	
776	on Keshpur-Daspur Road	MEDINIPUR PASCHIM	Rural		OBC	DC	20	20	400	12	30	Lots Draw of	5	3
777	Moupal	MEDINIPUR	Rural	50	OBC	DC	20	20	400	12	30	Lots	5	3
	From Kalmijor to Dadpuron	PASCHIM	Turai		000	00	20	20	400	12	00	Draw of	0	<u> </u>
778	on Rajnagar - Beltala road	MEDINIPUR	Rural	50	OBC	DC	20	20	400	12	30	Lots	5	3
	Bohurupa Mouza on													
	Narayangarh -			50										
	Baramastanpukur PMGSY	PASCHIM		00	0.5.0	5.0				10		Draw of	_	
779	Road	MEDINIPUR	Rural		OBC	DC	20	20	400	12	30	Lots	5	3
780	Between Matiberua Bus Stand and NH-60 crossing	PASCHIM MEDINIPUR	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
700	Tajpur on Gopiganj -sultanpur	PASCHIM	Turai		OBC	DC	20	20	400	12		Draw of	5	5
781	Road	MEDINIPUR	Rural	50	OBC	DC	20	20	400	12	30	Lots	5	3
	From Kuswasan Bazar to													
	Khakurdah on Khakurda-	PASCHIM		50								Draw of		
782	Bakrabandh Road	MEDINIPUR	Rural		OBC	DC	20	20	400	12	30	Lots	5	3
	From Barakalangkai to			50										
783	Kotaigarh on Temathani-	PASCHIM MEDINIPUR	Dural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
103	Makrampur Road From Masantapukur Bazar to	PASCHIM	Rural			DC	20	20	400	12		Draw of	5	3
784	Konarpur Bazar	MEDINIPUR	Rural	50	OBC PH	DC	20	20	400	12	30	Lots	5	3
	From Keshpur Krishak Bazaar												-	
	to Chutergeria on Keshpur-	PASCHIM		50								Draw of		
785	Daspur Road	MEDINIPUR	Rural		Open	DC	20	20	400	12	30	Lots	5	4
700	Vill-Sreebora on Sreebora to	PASCHIM		50	0	50	00	00	400	40		Draw of	-	
786	Goura road	MEDINIPUR	Rural		Open	DC	20	20	400	12	30	Lots	5	4
787	From Srinagar Rathtala Kali Mandir to Sandhipur	PASCHIM MEDINIPUR	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
101	From Dhadika to Uttarbil Post		Turai		Open	DO	20	20	400	12	50	LOIS	5	
	Office on Garhbeta -	PASCHIM		50								Draw of		
788	Kamarpukur Road	MEDINIPUR	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	From Dakhingeria Bazar to													
	NH-60 crossing on Jamna-	PASCHIM		50								Draw of	_	
789	Barbetia Road	MEDINIPUR	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	From Rasakundu High School													
	to Panikotor High School on Chandrakona Town-Garhbeta	PASCHIM		50								Draw of		
790	Road	MEDINIPUR	Rural		Open	DC	20	20	400	12	30	Lots	5	4
						20			1 100	-		2010	~	•

	Between Barjiban Bazar to Harirhat on Harirhat Road													
	from Temathani towards	PASCHIM		50								Draw of		
791	Sabang	MEDINIPUR	Rural		Open	DC	20	20	400	12	30	Lots	5	4
792	From Debra market to Barambazar Supermarket on Debra-Tabagaria road	PASCHIM MEDINIPUR	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
793	From Kotaigarh to Makrampur Bazar	PASCHIM MEDINIPUR	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
794	From Mangalduari to Golahat	PASCHIM MEDINIPUR	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
795	Between Sabang to Ruinan More on Sabang-Kantakhali Road	PASCHIM MEDINIPUR	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
796	From Jhankra Head Post Office to Kalikapur	PASCHIM MEDINIPUR	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
797	From Garhbeta Police Station to Garhbeta Station Railway Crossing	PASCHIM MEDINIPUR	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
798	From Kankabati Gram Panchayet Office to Gurguripal High School on Medinipur-Dherua Road	PASCHIM MEDINIPUR	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
799	Krishnanagar on Ghatal Mansuka road.	PASCHIM MEDINIPUR	Rural	50	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
800	From Mohanpur Kali Mandir To Mohanpur College On Jenkapur-Mohanpur Road	PASCHIM MEDINIPUR	Rural	50	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
801	From Baita Bazar to Mohanpur Kali Mandir	PASCHIM	Rural	50	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
802	From Datan Bus Stop to NH- 60 Crossing	PASCHIM MEDINIPUR	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
803	From Hazra Bagan Bazar to Kalitola More on Kalitola- Dakbanglow-Moyna Road	PASCHIM MEDINIPUR	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
		PASCHIM		56						-		Draw of		
804	From Panchrulia to Khalkona From Ratuilia to Mahapur on	MEDINIPUR PASCHIM	Rural	50	SC	CFS	20	20	400	0	0	Lots Draw of	0	2
805	Ratuilia - Mahapur road From Kalmijor to chandpur	MEDINIPUR PASCHIM	Rural	50	SC	CFS	20	20	400	0	0	Lots Draw of	0	2
806	onTrilochanpur -Daspur road Between Mundumari to Balichak on Egra-Pataspur- Temathani-Balichak-Debra	PASCHIM	Rural	50	SC	CFS	20	20	400	0	0	Lots Draw of	0	2
807	Road	PASCHIM	Rural		SC	CFS	20	20	400	0	0	Lots Draw of	0	2
808	From Daspur to Kalmijor on Trilochanpur -Daspur road	MEDINIPUR	Rural	50	SC	CFS	20	20	400	0	0	Lots	0	2
809	Pareshnagar on Ghatal Mansuka road.	PASCHIM MEDINIPUR	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
810	From Jenkapur to Dhaneswarpur Bazar on Jenkapur-Mohanpur Road	PASCHIM MEDINIPUR	Rural	50	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
811	From Baburpur Bazzar To Gopalchake Bazzar On	PURBA MEDINIPUR	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

	Chaitnyapur To Geokhali Road													
040	From Kharuimorh to Pratapdighi on Lalat-Jenka	PURBA	Dural	50	0.00	D 0	00	00	400	40	20	Draw of	F	0
812	Road From Tengua to Nandigram	MEDINIPUR	Rural		OBC	DC	20	20	400	12	30	Lots	5	3
813	Bus Stand on Chandipur- Nandigram Road	PURBA MEDINIPUR	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
814	From Contai to Mukundapur Bazar on Contai-Rasulpur Road	PURBA MEDINIPUR	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
815	From Pratap Dighi to Argoal Bazar on Egra-Argoal Road	PURBA MEDINIPUR	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
816	From Gopalnagar to Jashar on Kolaghat jashar road.	PURBA MEDINIPUR	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
817	From Ranibhadrapur to Srirampur on Tamluk srirampur road	PURBA MEDINIPUR	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
818	From Chaulkhola To Mandarmoni On Chowlkhola- Mandarmoni Road	PURBA MEDINIPUR	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
819	From Srirampur to Moyna on Madumari Moyna road	PURBA MEDINIPUR	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
820	NH-116B/Sankarpur Road Crossing to Sankarpur On The Sankarpur Road	PURBA MEDINIPUR	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
821	From Nimtouri to Dharinda on Tamluk Srirampur road	PURBA MEDINIPUR	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
822	From Tamluk To Biswas Para On Tamluk Kolaghat Road	PURBA	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
823	From Baragachia to Betberya on Manhoharpur road	PURBA MEDINIPUR	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
824	From Manoharpur To Daulia On Manhoharpur Road	PURBA	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
825	From Derraichak to Chaipur on chaipur Derraichak road	PURBA	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
826	After Pichabani Bridge from Pichabani Bazar to Kanparihat	PURBA	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
827	From Raghunathbari To Kaminachak On Ragunathbari -Kaminachak Road	PURBA MEDINIPUR	Rural	50	OBC CC	DC	20	20	400	12	30	Draw of Lots	5	3
828	From Petua More to Petua Fishing Harbour	PURBA MEDINIPUR	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
829	From Contai Junput More to Dakshin Paikbar on Junput Road	PURBA MEDINIPUR	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
830	From Raghunathbari to Chaipur on chaipur road	PURBA MEDINIPUR	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
831	From Mukundapur Bazar to Bakuabandh on Contai- Rasulpur Road	PURBA MEDINIPUR	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
832	From Thekua Chak to Chaifukkar on Tangrakhali Road	PURBA MEDINIPUR	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4

	From Bhagabanpur Bazar to													
	Kalaberia Bazar on Egra-	PURBA		50								Draw of		
833	Bajkul Road	MEDINIPUR	Rural		Open	DC	20	20	400	12	30	Lots	5	4
		PURBA		50	•							Draw of		
834	Mouza Chandipur on PMGSY	MEDINIPUR	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
	From Egra College to Ponchet	PURBA		50								Draw of		
835	More on Egra-Bajkul Road	MEDINIPUR	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
	From Agar to Nonakankuri	PURBA		50								Draw of		
836	Bazar on Chatra road	MEDINIPUR	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
		PURBA		50										
837	From Heria to Jukia Bazar	MEDINIPUR	Rural	50	Open	CC	20	20	400	12	5	Bidding	10	4
	From Bhogpur Market to													
	Shyama Kali Temple on	PURBA		50								Draw of		
838	Bhogpur to Kishorchak road	MEDINIPUR	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	From Maityhat to Contai Bus	PURBA		50								Draw of		
839	Stand	MEDINIPUR	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
	From Hanschara to Chowrangi													
	Bazar on Chandipur-	PURBA		50								Draw of		
840	Nandigram Road	MEDINIPUR	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	Vill. Khasrekha on Kolaghat to	PURBA		50								Draw of		
841	Tamluk Road	MEDINIPUR	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
	From Daksin Ankha to kejutala													
	bazar on Dangbaglow moyna	PURBA		50								Draw of		
842	road	MEDINIPUR	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	From Keshpat gram panchyet													
	to Khanedihi Market on	PURBA		50								Draw of		
843	Keshpat road	MEDINIPUR	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	Bhogpur on Ramtarak -	PURBA		50								Draw of		
844	Siddha Road	MEDINIPUR	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
	From Nimtouri to Uttar													
	Sautanchak on Tamluk	PURBA		50								Draw of		
845	Srirampur road	MEDINIPUR	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	From Pataspur to Amarshi on	PURBA		50								Draw of		
846	Egra-Bajkul Road	MEDINIPUR	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
	From Mirzapur Bazar to Kudi													
	More on Egra-Ramnagar	PURBA		50								Draw of		
847	Road .	MEDINIPUR	Rural		ST	CFS	20	20	400	0	0	Lots	0	2
	Within 4 Km from Katwa Ghat			52								Draw of		
848	More towards Bernia	NADIA	Rural	52	OBC	DC	20	20	400	12	30	Lots	5	3
	On Palasipara Road & within 2													
	KM from Palassey Rail gate			48								Draw of		
849	towards palasipara	NADIA	Rural		OBC	DC	20	20	400	12	30	Lots	5	3
	Between 4 KM from													
	Shyamnagar More towards			48	OBC CC							Draw of		
850	Tehatta	NADIA	Rural		1	DC	20	20	400	12	30	Lots	5	3
	Between Jitpur More (Tehatta)			40								Draw of		
851	and Raghunathpur	NADIA	Rural	48	OBC PH	DC	20	20	400	12	30	Lots	5	3
	On Kanchrapara-Haringhata-													
	Jaleshwar Road in village	NADIA		48								Draw of		
852	Dakshin Dattapara		Rural		Open	DC	20	20	400	12	30	Lots	5	4
	On Katwa Road and within 4													
	KM from Debagram towards			60								Draw of		
853	Katwaghat	NADIA	Rural		Open	DC	20	20	400	12	30	Lots	5	4
					1 99011		=•			.=			~	<u> </u>

	Alaipur (on Ghoshpara								1 1			Draw of		
854	Chakdah main road)	NADIA	Rural	48	Open	DC	20	20	400	12	30	Lots	5	4
001	Between Sahebnagar and		- T Car Car			20			100	. –				•
	Kulgachi on Betai Plassey			48								Draw of		
855	Road	NADIA	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	Radhanagar Ghat to						_•					Draw of	•	
856	Ramchandrapur More	NADIA	Rural	48	Open	DC	20	20	400	12	30	Lots	5	4
	Within 3 Km from Badkula					_	-						-	
	towards Hanskhali on			60								Draw of		
857	Badkula-Hanskhali Road.	NADIA	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	Within 3 km from Aranghata													
	United Bank towards			60										
	Ranaghat on Aranghata-			60	OPEN							Draw of		
858	Ranaghat Road	NADIA	Rural		CC 2	DC	20	20	400	12	30	Lots	5	4
	Within 5 KM from Moragachha													
	More (TB Hospital) towards			48								Draw of		
859	Moragacha	NADIA	Rural		Open PH	DC	20	20	400	12	30	Lots	5	4
	Within 4 KM from Kulgachi			42								Draw of		
860	More towards Bernia	NADIA	Rural	72	SC	CFS	20	20	400	0	0	Lots	0	2
				48								Draw of		
861	Kamarhati	NADIA	Rural	40	SC CC 1	CFS	20	20	400	0	0	Lots	0	2
	On Nabadwipghat Road &													
	within 4 KM from Amghata			48								Draw of		
862	Rail Station towards Ruipukur.	NADIA	Rural		SC PH	CFS	20	20	400	0	0	Lots	0	2
	Within 3 KM on Palassey-													
	Kaliganj Road from Kaliganj			48										
	more towards Kaliganj (Not on			40								Draw of		
863	NH34)	NADIA	Rural		ST	CFS	20	20	400	0	0	Lots	0	2
		NORTH 24		48								Draw of		
864	Thakurnagar	PARGANAS	Rural	10	OBC	DC	20	20	400	12	30	Lots	5	3
	Village Bena on Keotsha-	NORTH 24		48								Draw of		
865	Magra Road	PARGANAS	Rural	40	OBC	DC	20	20	400	12	30	Lots	5	3
	On Baduria- Tetulia Road in	NORTH 24		48								Draw of	_	
866	village Masia	PARGANAS	Rural		OBC	DC	20	20	400	12	30	Lots	5	3
	On Swarupnagar Hakimpur													
0.07	Main Road in village	NORTH 24		46		D 0	~~			10		Draw of	-	
867	Hakimpur	PARGANAS	Rural		OBC	DC	20	20	400	12	30	Lots	5	3
000	Village Amulia on	NORTH 24		48		50	00		400	10		Draw of	_	
868	Berachampa Badar Road	PARGANAS	Rural		OBC PH	DC	20	20	400	12	30	Lots	5	3
000		NORTH 24		48		50	~~	00	400	40		Draw of	-	
869	Kayrapur	PARGANAS	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	On Banipur Chowmatha to			40										
070	Kashipur Road in village	NORTH 24	Dural	46	0.000	D0	20	20	400	10	20	Draw of	~	4
870	Tunighata	PARGANAS	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	Between Minakhan and			60								Drowlef		
074	Baburhat Bazar on Minakhan	NORTH 24	Durel	63	00000	DC	20	20	400	10	20	Draw of	E	
871	Baburhat Main Road	PARGANAS	Rural		Open	DC	20	20	400	12	30	Lots	5	4
070	Baaudabaur	NORTH 24	Dural	48	0.000	DC	20	20	400	10	20	Draw of	E	A 1
872	Basudebpur	PARGANAS	Rural		Open	DC	20	20	400	12	30	Lots	5	4
070	Talaa	NORTH 24	Dural	48	0.000	DC	20	20	400	10	20	Draw of	E	A 1
873	Talsa	PARGANAS	Rural		Open	DC	20	20	400	12	30	Lots	5	4
874	Villago Ankhinur	NORTH 24	Dural	48	00000	DC	20	20	400	12	30	Draw of	5	1
0/4	Village Ankhipur	PARGANAS	Rural		Open		20	20	400	12	30	Lots	5	4

	On berachampa-badar road in	NORTH 24		48								Draw of		
875	village Mirjanagar	PARGANAS	Rural	40	Open	DC	20	20	400	12	30	Lots	5	4
876	Labanga to Ghojadanga Border	NORTH 24 PARGANAS	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	On 211 bus route & within 3												-	-
	Km from Kalur more towards	NORTH 24		46								Draw of		
877	Rajarhat in Village Kalikapur	PARGANAS	Rural		Open	DC	20	20	400	12	30	Lots	5	4
878	Jadurhati to Baduria more on Baduria Berachampa Rd	NORTH 24 PARGANAS	Rural	49	Open	DC	20	20	400	12	30	Draw of Lots	5	4
879	On Bongoan-Dattafulia Road in village Pathuria	NORTH 24 PARGANAS	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Purandarpur to Panchpota	NORTH 24		46								Draw of		
880	Bazar, on Ramnagar Road	PARGANAS	Rural	-10	Open	DC	20	20	400	12	30	Lots	5	4
004	Delibeur	NORTH 24	Dural	46	0.000		20	20	100	10	20	Draw of	~	4
881	Rajibpur	PARGANAS NORTH 24	Rural		Open	DC	20	20	400	12	30	Lots Draw of	5	4
882	Sasan	PARGANAS	Rural	48	Open	DC	20	20	400	12	30	Lots	5	4
002	On Jaleswar-Hasanpur Road	NORTH 24				20	20	20	100	12	00	Draw of	0	•
883	in village Jaleswar	PARGANAS	Rural	46	Open	DC	20	20	400	12	30	Lots	5	4
	.	NORTH 24		49								Draw of		
884	Champali	PARGANAS	Rural	49	Open	DC	20	20	400	12	30	Lots	5	4
	On arbelia baduria road in	NORTH 24		48								Draw of		
885	village Matia	PARGANAS	Rural	40	Open	DC	20	20	400	12	30	Lots	5	4
	On road connecting													
	parhasnabad Kalibari to	NORTH 24		48								Drow of		
886	Khanpukur in village Chak Khanpukur	PARGANAS	Rural		Open	DC	20	20	400	12	30	Draw of Lots	5	4
000	On main road from	NORTH 24	Turai		OPEN	00	20	20	400	12		Draw of	5	4
887	Panchpota to Gobardanga	PARGANAS	Rural	48	CC 1	DC	20	20	400	12	30	Lots	5	4
	Between Katiahat Bazar to	NORTH 24		40	OPEN		_					Draw of		
888	Sayestanagar Bridge	PARGANAS	Rural	48	CC 1	DC	20	20	400	12	30	Lots	5	4
		NORTH 24		46	OPEN							Draw of		
889	Bhumitala	PARGANAS	Rural	40	CC 2	DC	20	20	400	12	30	Lots	5	4
	On murarisha chowmatha -	NORTH 24												
000	nazat road in village	PARGANAS	Rural	48		DC	20	20	400	12	30	Draw of Lots	F	1
890	Kharampur	NORTH 24	Ruiai		Open PH	DC	20	20	400	12		Draw of	5	4
891	Deuli	PARGANAS	Rural	63	SC	CFS	20	20	400	0	0	Lots	0	2
001	On Talikhola to Sindrani Road	NORTH 24				010	20	20	100		U	Draw of	0	
892	in village Panchpota	PARGANAS	Rural	46	SC	CFS	20	20	400	0	0	Lots	0	2
		NORTH 24		48								Draw of		
893	Dharmapukuria	PARGANAS	Rural	40	SC CC 1	CFS	20	20	400	0	0	Lots	0	2
	On main road in village	NORTH 24		48						_	_	Draw of	_	_
894	Mathurapur	PARGANAS	Rural	10	SC CC 1	CFS	20	20	400	0	0	Lots	0	2
00F	Bakapala	SOUTH 24	Durel	48	OBC	DC	20	20	400	10	20	Draw of	F	
895	Pakapole Within 5 km from Bibirhat On	PARGANAS SOUTH 24	Rural			DC	20	20	400	12	30	Lots Draw of	5	3
896	Bibirhat Chatta Road	PARGANAS	Rural	108	OBC	DC	20	20	400	12	30	Lots	5	3
	Dakshin Nagartola on	SOUTH 24								•=		Draw of	~	
897	Jibantala-Taldi Road	PARGANAS	Rural	60	OBC	DC	20	20	400	12	30	Lots	5	3
	From Kaltala to Chunakhali on	SOUTH 24		46								Draw of		
898	Canning-Chunakhali Road	PARGANAS	Rural	40	OBC	DC	20	20	400	12	30	Lots	5	3
899	Between Sagar More and	SOUTH 24	Rural	60	OBC	DC	20	20	400	12	30	Draw of	5	3

	LCT Ghat	PARGANAS										Lots		
900	Kautala on Ramganga Main Road	SOUTH 24 PARGANAS	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
901	Harindanga on Falta Road	SOUTH 24 PARGANAS	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
902	In village Chandaneswar on Ghatakpukur Baruipur Road	SOUTH 24 PARGANAS	Rural	48	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
903	On Mandirbazar to Bijayganj Bazar Road(both sides)	SOUTH 24 PARGANAS SOUTH 24	Rural	48	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
904	On Canning to Jamtala Road in Village Herobhanga Bagmari checkpost to	PARGANAS SOUTH 24	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots Draw of	5	4
905	Goborjhuri, Bishukhara Mohanpur to Naskarpur on	PARGANAS SOUTH 24	Rural	46	Open	DC	20	20	400	12	30	Lots Draw of	5	4
906	Bakrahat Road	PARGANAS SOUTH 24	Rural	49	Open	DC	20	20	400	12	30	Lots Draw of	5	4
907	in Village Purbadwarakapur	PARGANAS SOUTH 24	Rural	48	Open	DC	20	20	400	12	30	Lots Draw of	5	4
908	Chattabazar on Sajua Road Sherpur Dhamua Road in	PARGANAS SOUTH 24	Rural	40	Open	DC	20	20	400	12	30	Lots Draw of	5	4
909 910	village Ramchandrapur In Village Kalidanga on Basanti-Jharkhali Road	PARGANAS SOUTH 24 PARGANAS	Rural Rural	48	Open Open	DC DC	20 20	20 20	400	12 12	<u>30</u> 30	Lots Draw of Lots	5	4
	Beyond 5 Kms but before KMC Limit From Crossing of Nibaran Dutta Road & Thakurpukur-Bibirhat- Bakhrahat Road towards Thakurpukur on Thakurpukur-	SOUTH 24		48								Draw of		
911	Bibirhat-Bakhrahat Road Mandirbazar Road in Village	PARGANAS SOUTH 24	Rural	46	Open	DC	20	20	400	12	30	Lots Draw of	5	4
912	Brindabanpur Namkhana (other side of River	PARGANAS	Rural		Open	DC	20	20	400	12	30	Lots	5	4
913	Hatania Doania towards Bakkhali)	SOUTH 24 PARGANAS	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
914	Within 5 Km of Bhadura Bus Stop Within 5 Kms from Hatuganj	SOUTH 24 PARGANAS	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
915	on Hatuganj-Mandirbazar Raod	SOUTH 24 PARGANAS	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
916	On Canning to Jamtala Road in village Koabati	SOUTH 24 PARGANAS	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
917	From Dakshin Barasat to Pitambarer More on Dakshin Barasat-Dhosa Road	SOUTH 24 PARGANAS	Rural	48	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
918	On Kaikhali Road in Kaikhali	SOUTH 24 PARGANAS	Rural	48	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
919	On Usthi Magrahat road at Chakdah More	SOUTH 24 PARGANAS	Rural	48	OPEN CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
920	Lakshmi Janardanpur	SOUTH 24 PARGANAS	Rural	46	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4
921	Within 3 Km of Milanmore	SOUTH 24 PARGANAS	Rural	46	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4

922	On Raidighi Road in village Mondolpara	SOUTH 24 PARGANAS	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Within 2 KM of Hospital More on Canning-Basanti Road (SOUTH 24		46								Draw of		
923	not on SH)	PARGANAS	Rural		SC	CFS	20	20	400	0	0	Lots	0	2
924	within 3 Km from Joynagar- Mazilpur Municipality towards Priyormore on Joynagar- Jamtala Road	SOUTH 24 PARGANAS	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
925	Ghoradal	SOUTH 24 PARGANAS	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
926	Between Priyormore to Jamtala on Joynagar-Jamtala Road	SOUTH 24 PARGANAS	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
927	Within 2 Km of Barchira More on Hatuganj South Bishnupur Road	SOUTH 24 PARGANAS	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
928	On Bodra Deuli Road in village Mallik-kati	SOUTH 24 PARGANAS	Rural	48	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
929	Madhabnagar on Pathar Pratima Road	SOUTH 24 PARGANAS	Rural	48	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
930	On Main Road from Priyormore to Dhaki	SOUTH 24 PARGANAS	Rural	60	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2
931	Upto 2 Km from KM stone 3 on Alipurduar-Kamakhyaguri via Chikliguri PWD Road	ALIPURDUAR	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
932	Upto 5.0 Km From Mahakal Chowpati Towards Samuktala on PWD Road	ALIPURDUAR	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
933	Gosanimari to Saheberhat on Kakina Road	COOCH BEHAR	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
934	Basantirhat to Burirhat on Dinhata Choupathi to Balarampur via Burirhat MDR	COOCH BEHAR	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
935	Gosairhat High School to Baramaricha Sub-post Office on Mathabhanga-Sitai MDR	COOCH BEHAR	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
936	Sitai Police Station to Netaji Bazaar on PWD Road .	COOCH BEHAR	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
937	Haldibari to Anguldekha on Haldibari-Dewanganj PWD Road (outside Municipality Area)	COOCH BEHAR	Rural	46	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
	Ramthenga Post office to Angerkata Paradubi Post office on Falakata-Sildanga			46								Draw of		
938	MDR Chilakhana to Kadamtala (on	COOCH BEHAR	Rural	48	SC	CFS	20	20	400	0	0	Lots Draw of	0	2
939	Natabari Road) Within 8KM from Pundibari	COOCH BEHAR	Rural	40	SC	CFS	20	20	400	0	0	Lots	0	2
040	Post-Office towards Sonapur Chowpathy on Sonapur-		Dural	46		050	20	20	400	0		Draw of	0	
940	Pundibari MDR	COOCH BEHAR	Rural		SC	CFS	20	20	400	0	0	Lots	0	2

0.11	Fulbari In Mathabhanga 2		Dural	46	SC	CFS	20	20	400	0		Draw of	0	2
941	Block on PWD road Upto 5 km from Dolong More	COOCH BEHAR	Rural		50	65	20	20	400	0	0	Lots	0	2
	towards Ghoksadanga More			46								Draw of		
942	on PWD Road	COOCH BEHAR	Rural	10	ST	CFS	20	20	400	0	0	Lots	0	2
				50								Draw of	•	
943	Rangli Rangliot	DARJEELING	Rural	50	OBC	DC	20	20	400	12	30	Lots	5	3
	Panighata to Dudhia (on			52								Draw of		
944	Panighata-Dudhia PWD Raod)	DARJEELING	Rural	52	OBC	DC	20	20	400	12	30	Lots	5	3
				50								Draw of		
945	Mongpoo	DARJEELING	Rural	00	Open	DC	20	20	400	12	30	Lots	5	4
	Sukhiapukhri to Manebhanjan			40										
0.40	(on Sukhiapukhri to		Dural	48	0.000		20	20	400	10	20	Draw of	~	
946	Sandkhphu PWD Road)	DARJEELING	Rural		Open	DC	20	20	400	12	30	Lots	5	4
947	Jora Bridge to Jhankar More Outside Municipality Area	DARJEELING	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	1
947		DARJEELING	Ruiai		Open	DC	20	20	400	12	30	Draw of	5	4
948	Garidhura to Pankhabari	DARJEELING	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
340	Panighata road within 2 KM	DANGLELING	Turai		Open	00	20	20	400	12	50	Draw of	5	
949	From Naxalbari Police Station	DARJEELING	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
010	Between Naxalbari to	Dratelite	rtarar		open	20	20	20	100	12		2010	•	•
	Garidhura on Naxalbari-			60				20				Draw of		
950	Garidhura Road	DARJEELING	Rural	•••	Open	DC	20		400	12	30	Lots	5	4
				50			-					Draw of		
951	Chakramari	DARJEELING	Rural	50	SC	CFS	20	20	400	0	0	Lots	0	2
	Goaltuli Hut To Chatterhata			50								Draw of		
952	main road	DARJEELING	Rural	50	SC	CFS	20	20	400	0	0	Lots	0	2
				48								Draw of		
953	Mirik Bypass more	DARJEELING	Rural	-10	ST	CFS	20	20	400	0	0	Lots	0	2
	Haihai Pathar on Malbazar-			46								Draw of	_	_
954	Baradighi PWD Road	JALPAIGURI	Rural	10	OBC	DC	20	20	400	12	30	Lots	5	3
0.5.5	Battala More to Manthani on			46		50				10		Draw of	-	
955	Rangdhamali Main Road	JALPAIGURI	Rural	-	Open	DC	20	20	400	12	30	Lots	5	4
	From Paharpur More towards													
	Jalpaiguri Sadar BDO Office			46								Draw of		
956	More on PWD Road (Outside Jalpaiguri Municipality Limit)	JALPAIGURI	Rural		Open	DC	20	20	400	12	30	Lots	5	4
300	Shikarpur on Ambari-Belakoba		Turai		Open	00	20	20	400	12	50	Draw of	5	
957	PWD Road	JALPAIGURI	Rural	46	Open	DC	20	20	400	12	30	Lots	5	4
	Ashighar More to Jaleswari						20			15		Draw of	~	
958	Bazar on Eastern Bypass	JALPAIGURI	Rural	46	Open	DC	20	20	400	12	30	Lots	5	4
	Kranti More to Dhantala												-	
	Market on Lataguri-Kranti			46								Draw of		
959	PWD Road	JALPAIGURI	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	From 73 More towards Kalu													
	Saheb Majar on PWD Road			46										
	(Outside Jalpaiguri			70								Draw of	_	
960	Municipality Limit)	JALPAIGURI	Rural		Open	DC	20	20	400	12	30	Lots	5	4
	Within 10 km from Dhupguri													
	Main Traffic More towards			46										
064	Daukimari on Dhupguri-		Dural	-	0		20	20	400	10	20	Draw of	F	4
961	Nathua PWD Road	JALPAIGURI	Rural		Open	DC	20	20	400	12	30	Lots	5	4
062	From Saptibari-I Post Office to	JALPAIGURI	Dural	46	0000	DC	20	20	400	12	30	Draw of Lots	Б	Л
962	Sustirhat on PWD Road	JALPAIGURI	Rural		Open		20	20	400	12	30	LUIS	5	4

963	Dakshin Odlabari on Odlabari- Kranti PWD Road	JALPAIGURI	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
964	Within 4 km from Fulbari Bypass More towards Fulbari Delhi Public School on Ambari Canal Road	JALPAIGURI	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
965	From Rakhaldevi Primary School to Dhapganj Post Office on Jalpaiguri-Haldibari PWD Road	JALPAIGURI	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
966	Mainaguri Assam More to Durgabari More on PWD Road	JALPAIGURI	Rural	70	Open	DC	20	20	400	12	30	Draw of Lots	5	4
967	Gora more to Sahudangi More on PWD Road	JALPAIGURI	Rural	46	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
968	From Debnagar Satish Lahiri High School to Panga Planeghati on Jalpaiguri- Chaulhati PWD Road	JALPAIGURI	Rural	46	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
969	Domohani Bazar to Mauamari Railway Bridge on PWD Road	JALPAIGURI	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
970	From Kharija Berubari-I Panchayt Office towards Haldibari on Jalpaiguri- Haldibari PWD Road(within Jalpaiguri District)	JALPAIGURI	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
971	Bhotepatty Bazar to Helapakri Bazar on Bhotepatty Helapakri PWD Road	JALPAIGURI	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
972	Within 3 KM from Ranirhat More towards Chitarpar Checkpost on Jaldhaka- Ranirhat PWD Road	JALPAIGURI	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
973	Within 5 km from Fatapukur More towards Belakoba on Fatapukur-Belakoba PWD Road	JALPAIGURI	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
974	Within 6km from Baniapara Chowrasta High School towards Gairkata on Gairkata- Nathua PWD Road	JALPAIGURI	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
975	Mantadari on Gajoldoba Road	JALPAIGURI	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
976	Amguri to Panbari on Maynaguri-Ramsai PWD Road	JALPAIGURI	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
977	Sukhani Basti on PWD Road	JALPAIGURI	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
978	Jaluabadhal	MALDA	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
979	Beliadanga More to Mozampur on PWD road	MALDA	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
980	From Eklakhi Station to Rashikpur more	MALDA	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

981	Raniganj	MALDA	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
982	Pirganj to Nowgama on MDR- Pukhuria	MALDA	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
				46								Draw of		
983	Popra Bhaluka Rail crossing to Degun bridge(on Bhaluka-	MALDA	Rural	46	OBC	DC	20	20	400	12	30	Lots Draw of	5	3
984	Tulsihatta Road). Within 5 KM from Bhaluka Rail	MALDA	Rural		OBC	DC	20	20	400	12	30	Lots	5	3
985	Crossing on Bhaluka- Tulsihatta Road New Fatepur to	MALDA	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots Draw of	5	3
986	Harischandrapur via Miahat	MALDA	Rural	46	OBC	DC	20	20	400	12	30	Lots	5	3
987	On PWD road-Swarupganj Habibpur Block Office to	MALDA	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
988	Kenpukur (on Bulbulchandi - Pakua MDR)	MALDA	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
989	From Alampur more to Eklakhi Station	MALDA	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
990	Paranpur to Baharal	MALDA	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
991	Within 2 KM from Nalagola Bus stand	MALDA	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
992	Pandua (Not on NH)	MALDA	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
993	Dariapur to Kumbhira	MALDA	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
994	On Kaluadighi- Old Malda Road(beyond Muncipality limit)	MALDA	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
995	Gachhinagar	UTTAR DINAJPUR	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
996	Pipla	UTTAR DINAJPUR	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
997	Dalkhola-I	UTTAR DINAJPUR	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
998	Narayanpur	UTTAR DINAJPUR	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
999	Bazitpur Rudel on Rasakhowa-	UTTAR <u>DINAJPUR</u> UTTAR	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots Draw of	5	3
1000	Domohana Road	DINAJPUR UTTAR	Rural	50	OBC	DC	20	20	400	12	30	Lots Draw of	5	3
1001	SATBHITA	DINAJPUR UTTAR	Rural	50	OBC	DC	20	20	400	12	30	Lots Draw of	5	3
1002	Masidkhas	DINAJPUR UTTAR	Rural	50	OBC	DC	20	20	400	12	30	Lots Draw of	5	3
1003	Chaprajhar (P)	DINAJPUR UTTAR	Rural	50	OBC	DC	20	20	400	12	30	Lots Draw of	5	3
1004	Gaisal	DINAJPUR	Rural	50	OBC	DC	20	20	400	12	30	Lots	5	3
1005	Panjipara	UTTAR	Rural	50	OBC	DC	20	20	400	12	30	Draw of	5	3

		DINAJPUR										Lots		
4000	Devinagar More to Tinohari on	UTTAR		85	0.5.0	5.0			100	40		Draw of	_	
1006	MDR	DINAJPUR	Rural		OBC	DC	20	20	400	12	30	Lots	5	3
1007	Phulhara	UTTAR DINAJPUR	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
		UTTAR		50								Draw of	•	
1008	Daspara	DINAJPUR	Rural	50	OBC	DC	20	20	400	12	30	Lots	5	3
	Maheshpur on Rasakhowa-	UTTAR		50								Draw of		
1009	Solpara Road'	DINAJPUR	Rural	50	OBC	DC	20	20	400	12	30	Lots	5	3
1010	Quanta a si	UTTAR	Dural	50	000	50	00	00	100	40		Draw of	F	0
1010	Gunabari		Rural		OBC	DC	20	20	400	12	30	Lots	5	3
1011	Gamabari	UTTAR DINAJPUR	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Gairiabair	UTTAR	Turai		OBC	00	20		400	12		Draw of	5	5
1012	Bhikanpur	DINAJPUR	Rural	48	Open	DC	20	20	400	12	30	Lots	5	4
1012	Dimanpai	UTTAR	- T Car Car	= 0	0,000	20			100	. –		Draw of	<u> </u>	· · ·
1013	Dhatipara	DINAJPUR	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
		UTTAR		50	·							Draw of		
1014	Dohasa	DINAJPUR	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
		UTTAR		50								Draw of		
1015	KANKI	DINAJPUR	Rural	00	Open	DC	20	20	400	12	30	Lots	5	4
1010		UTTAR		50	0	50	00		400	40		Draw of	-	
1016	Dalkhola Rail Gate		Rural		Open	DC	20	20	400	12	30	Lots	5	4
1017	Kalugaon on Rasakhowa - Kalugaon Road	UTTAR DINAJPUR	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1017	Raiugaon Roau	UTTAR	Ruidi		Open	DC	20	20	400	12		Draw of	5	4
1018	Kalugach	DINAJPUR	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
1010	laagaon	UTTAR	- T Car Car		0,000				100	. –		Draw of	<u> </u>	
1019	Sathaur	DINAJPUR	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
		UTTAR		50	•			20				Draw of		
1020	Kalanaagin	DINAJPUR	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
		UTTAR		50								Draw of		
1021	Manikpur	DINAJPUR	Rural	50	Open	DC	20	20	400	12	30	Lots	5	4
		UTTAR		48				20				Draw of	_	
1022	Runia	DINAJPUR	Rural		Open	DC	20	_~	400	12	30	Lots	5	4
1000			Dural	50	00	050	20	20	400	0	0	Draw of	0	
1023	PASCHIM CHUTIAKHORE BETNA ON BENGAL TO	DINAJPUR UTTAR	Rural		SC	CFS	20	20	400	0	0	Lots	0	2
1024	BENGAL ROAD	DINAJPUR	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1024			Turai			0.0	20	20		0		LOID	0	<u> </u>

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation Offices at the addresses mentioned below. It is also hosted in the Corporation Website (<u>www.iocl.com</u> / <u>www.petrolpumpdealerchayan.in</u>) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 24/12/2018

Type of RO	Type of Site	Category	Applicati on fee in Rs.	Type of RO	Type of Site	Category	Application fee in Rs.
Regular	CFS	SC/ST	3000	Rural	CFS	SC/ST	2500
ROs	CC	OBC	5000	ROs	CC	OBC	4000
	CC	Open	10000]	CC	Open	8000
	DC	OBC	5000]	DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every year thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English News papers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

Deputy Genaral Manager (RS) Indain Oil Corporation Ltd (MD) **Durgapur Divisional Office** Red Cross Road, City Centre, Durgapur-713216 Phone No : (0343) 25469656

Deputy Genaral Manager (RS) Indain Oil Corporation Ltd (MD) Haldia Divisional Office River Ring RoadRadha Madhab Chawk, PO: Khanjanchak, Haldia- 721602 Phone No : (03224) 201430/31/32/33

For locations mentioned in Sr No. 01 to 11 & Sr No. 31 to 200 for Regular Retail Outlets, Sr No. 570 to 572 & Sr No. 593 to 725 for Rural Retail Outlets

For locations mentioned in Sr No. 12 to 19 & Sr No. 201 to 347 for Regular Retail Outlets, Sr. No. 573 to 582 & Sr No. 726 to 847 for Rural Retail Outlets

Chief Divisional Retail Sales Manager Indain Oil Corporation Ltd (MD) Kolkata Divisional Office 6th Floor, 34A Nirmal Chandra Street, Kolkata-700013 Phone No : (033) 22156100

Deputy Genaral Manager (RS) Indain Oil Corporation Ltd (MD) Siliguri Divisional Office Indain Oil Bhavan, Paribahan Nagar Matigara - 734010 Phone No : (0353) 2571511/2571672

For locations mentioned in Sr No. 20 to 24 & Sr No. 348 to 464 for Regular Retail Outlets, Sr No. 583 to 588 & Sr No. 848 to 930 for Rural Retail Outlets

For locations mentioned in Sr No 25 to 30 & Sr No. 465 to 569 for Regular Retail Outlets, Sr No. 589 to 592 & Sr No. 931 to 1024 for Rural Retail Outlets